HEKERBRAE

1. KIROKESERRES

1. 1 £AIIKERELTE

1. 1. 1 EE8H =HFHw

= KMnO, bfty | KIGERE] —#

wE | F | pHE|BOD ¥ | MPN iIES]

HezEFE | s | A | aooml) [ (ImL)
H 13 2.7 9 7.9 1.1 <0. 02 4.0 350 310
14 4.7 11 8.2 1.3 <0.02 4.2 740 380
15 2.2 8 8.3 1.4 0. 02 3.8 500 100
16 2.4 8 8.1 1.3 0. 02 3.6 460 210
17 2.8 9 8.4 1.3 <0.02 3.7 700 140
18 1.6 7 8.6 1.1 <0. 02 3.9 4500 320
19 1.8 8 8.4 1.1 <0. 02 3.8 2900 160
20 2.1 7 8.3 0.9 <0.02 3.7 400 150
21 2.3 8 8.3 1.1 <0. 02 3.6 570 94
22 3.7 10 8.4 0.9 <0.02 3.9 540 220
23 2.5 8 8.2 .ol <0.02 3.8 680 110
24 2.9 10 8.3 1.2|  <0.02 4.1 1800 190
25 3.0 9 8.1 .2|  <0.02 4.5 3600 270
26 1.4 8 8.5 1.1 <0. 02 4.0 870 390
27 2.1 8 8.5 1.3 <0.02 3.9 1500 300
28 3.1 10 8.3 1.3 <0.02 5.0 2100 700
29 3.3 9 8.0 1.2|  <0.02 4.4 1000 140
30 3.2 9 8.1 12| <0.02 3.9 860 350
R 1 2.0 8 8.3 .ol <0.02 4.2 2700 110
2 3.3 9 8.4 1.3]  <0.02 4.5 740 190

1. 1. 2 BE) BHIIAE

TUEZT KMnO, Sty | RIBERE| —

WE | A | pHfE| BOD oo MPN iIES]

HezEFE | W& s | Al | aooml) [ (ImL)
H 13 3.3 10 7.7 1.0 0.03 4.1 <0. 02 4300 8900
14 2.7 10 8.0 1.2 0. 03 4.2 <0.02 590 730
15 4.0 12 7.9 1.4 0. 02 5.3 <0.02 2000 1400
16 3.0 8 8.0 1.4]  <0.02 3.8  <0.02 3500 940
17 3.7 10 8.1 1.2 0. 03 4.3 <0.02 640 440
18 4.5 9 7.7 1.0|  <0.02 4.5 <0.02 2800 300
19 2.9 9 7.9 1.2 0. 02 4.3 <0.02 4500 540
20 2.9 9 7.9 1.1 <0. 02 4.4 <0.02 3600 500
21 2.9 9 8.0 0.9 <0. 02 4.6 <0.02 1000 650
22 3.5 10 8.0 1.0 <0.02 4.7 <0.02 2600 310
23 3.1 10 7.7 1.o|  <0.02 4.3 <0. 02 1700 580
24 3.9 10 8.0 1.3 <0.02 4.9 <0.02 2800 140
25 4.1 10 7.9 1.1 0. 02 4.7 <0.02 1200 360
26 3.9 9 8.1 0.8 <0.02 4.4 <0.02 1100 370
27 2.2 9 7.9 1.0 0. 02 4.3 <0.02 1400 550
28 2.8 12 8.0 1.3 0. 02 4.9 <0.02 2600 390
29 4.2 11 7.7 1.1 <0. 02 5.1 <0. 02 1400 290
30 4.3 12 8.0 1.4]  <0.02 5.2 <0.02 830 210
R 1 2.5 9 7.9 1.0o|  <0.02 5.0  <0.02 1900 430
2 5.0 11 7.9 0.9  <0.02 4.6] <0.02] 960 210
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1. 1. 3 FRII HES

T/EZT KMnO, bty [ RIGEERE| —

WE | A | pHfE| BOD oo MPN iIES]

HezEFE | & s | Al | aooml) [ (ImL)
H 13 3.9 15 7.5 1.8 0.11 5.7 0.03[ 55000 14000
14 4.5 14 7.7 2.2 0.12 5.4 0.03[ 38000 16000
15 4.5 13 7.7 2.1 0.07 5.5 <0.02| 67000 11000
16 6.4 16 7.7 1.7 0.11 5.7 <0.02[ 93000 17000
17 3.6 11 7.7 1.4 0. 09 4.9 <0.02 18000 6300
18 5.2 10 7.6 1.5 0. 09 6.1 <0.02| 58000 8800
19 4.9 13 7.6 1.3 0. 08 5.2|  <0.02[ 27000 4200
20 4.1 11 7.7 1.0 0. 06 5.0  <0.02 16000 3100
21 6.2 15 7.7 1.0 0. 06 6.2 <0.02| 20000 7900
22 5.0 12 7.7 1.0 0. 05 5.1 <0. 02 10000 3700
23 5.2 12 7.6 1.1 0. 04 4.8 <0. 02 9300 2200
24 5.2 12 7.8 1.4 0. 05 5.2 <0.02 10000 2400
25 4.9 11 7.6 1.1 0. 06 5.0  <0.02 19000 3300
26 5.1 13 7.9 1.2 0.07 5.0  <0.02] 26000 7900
27 3.8 11 7.6 1.0 0. 05 5.1 <0. 02 13000 5700
28 6.2 16 7.6 1.5 0. 06 5.9  <0.02| 140000 35000
29 4.8 14 7.7 1.1 0.04 5.5 <0.02 11000 4100
30 5.5 15 7.7 1.3 0.04 5.3 <0.02 9300 2400
R 1 3.0 11 7.7 1.2 0. 06 5.3 <0.02 13000 4300
2 5.5 13 7.6 1.1 0. 04 5.2  <0.02 6800 1400

1. 1. 4 KZE)N #=HE

T/EZT KMnO, Sty | RIBERE|  —

WE | A | pHfE| BOD oo MPN iIES]

HezEFE | & s | Al | aooml) [ (ImL)
H 13 11 24 7.4 1.8 0.11 8.5 0.02[ 36000 21000
14 4.8 19 7.7 2.0 0. 09 7.3 0. 02 14000 13000
15 8.6 25 7.6 1.6 0.07 8.0  <0.02| 20000 7300
16 15 31 7.6 1.8 0. 06 9.0 <0.02| 30000 9800
17 4.9 16 7.7 1.4 0.07 6.8  <0.02 6000 3600
18 8.8 19 7.6 1.1 0.04 8.2  <0.02| 41000 4100
19 9.1 21 7.7 1.1 0. 03 7.0 <0.02 17000 4000
20 6.9 18 7.7 0.9 0. 03 6.7  <0.02 12000 2400
21 10 23 7.6 0.9 0. 02 8.0  <0.02[ 65000 9000
22 6.2 16 7.6 0.8 0.03 6.5  <0.02 6100 5000
23 10 22 7.5 0.9 0. 04 7.2 <0.02 17000 5000
24 6.9 16 7.7 1.0 0. 04 6.3  <0.02 6300 1600
25 5.4 13 7.7 0.8 0.03 5.7 <0. 02 8500 3900
26 14 29 7.7 1.2 0.03 8.7  <0.02 9600 25000
27 5.1 16 7.6 0.8 0.03 6.5 <0. 02 8600 4200
28 15 36 7.6 1.1 0. 02 9.1 <0.02| 37000 23000
29 8.7 21 7.7 0.8 0.03 7.5 <0.02 16000 8100
30 4.6 16 7.7 0.8  <0.02 6.1 <0. 02 2800 3300
R 1 5.1 18 7.7 1.o|  <0.02 6.6  <0.02 8500 5200
2 4.6 16 7.7 1.2 0. 03 6.7  <0.02 8000 2600
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ZANKEREEE (DDF)

1. 1. 5 #EJ)l =HIE

TYEZT KMnO, bty [ RIGERE| —

WE | A | pHfE| BOD ¥ | MPN iIES]

HezEFE | s | A | aooml) [ (ImL)
H 13 8. 1 23 7.2 3.0 0. 40 9.1 0.06[ 220000 92000
14 12 33 7.5 5.3 0.35 12.5 0.06[ 100000[ 82000
15 7.9 21 7.4 2.4 0.24 8.5 0.03[ 320000 52000
16 16 36 7.4 2.3 0.24 8.8  <0.02[ 43000 23000
17 3.3 14 7.4 1.6 0.12 7.3 <0.02[ 31000 6700
18 20 26 7.4 1.5 0.14 11.2]  <0.02] 53000 6700
19 4.6 16 7.4 1.9 0.24 7.6 <0.02[ 39000 5400
20 3.7 14 7.4 1.3 0.13 6.5  <0.02[ 22000 7700
21 7.5 19 7.5 1.3 0.11 7.7 <0.02| 28000 17000
22 3.6 12 7.4 1.1 0.13 5.9  <0.02[ 29000 10000
23 5.7 13 7.4 1.0 0.07 5.3 <0.02| 28000 8700
24 3.5 11 7.5 1.0 0. 08 5.7 <0.02| 20000 5800
25 3.7 12 7.4 1.0 0. 08 5.7 <0.02 15000 9400
26 30 45 7.4 1.0 0. 08 6.0  <0.02 18000 6900
27 21 37 7.5 1.2 0.07 6.8  <0.02| 35000 14000
28 8.3 20 7.5 1.5 0.12 7.1 <0.02| 680000 100000
29 6. 4 15 7.5 1.6 0.12 6.7  <0.02[ 43000 11000
30 6.3 17 7.4 1.3 0. 10 5.5 <0.02 15000 8600
R 1 3.8 13 7.5 1.9 0.19 7.4 <0.02[ 94000 9900
2 6.0 15 7.5 1.1 0.07 6.5  <0.02 12000 4100

1. 1. 6 BRI FIIERE

T/EZT KMnO, Sty | RIBERE| —

WE | A | pHfE| BOD oo MPN iIES]

HezEFE | W& s | Al | aooml) [ (ImL)
H 13 20 44 8.2 9.9 2.20 21.3 0.35[ 270000 79000
14 7.7 32 8.1 8.1 1.85 19.0 0.27[ 120000[ 79000
15 6.9 30 8.1 5.4 1.52 16. 2 0.19[ 160000] 65000
16 13 41 8.1 8.5 0. 86 25.0 0.10[ 240000 60000
17 5.8 31 8.2 6.8 1. 46 18.8 0.06[  70000] 36000
18 26 39 8.1 4.3 0. 36 17.8 0.03[ 240000 34000
19 7.4 29 8.6 3.7 0.24 14.3 0.04[ 110000[ 29000
20 5.6 23 8.7 3.3 0.22 12.6 0.02[ 62000 23000
21 13 36 8.3 3.8 0.35 13.6 0.03[ 67000 36000
22 3.5 19 8.3 3.1 0. 36 11.2]  <0.02| 330000 22000
23 5.8 25 8.4 3.0 0.58 10.9 0.03] 130000 22000
24 5.0 24 8.5 2.8 0.26 12.6]  <0.02| 130000 15000
25 5.2 22 8.8 2.8 0.11 11.1 <0.02] 99000 13000
26 11 26 8.3 2.7 0.23 13.5]  <0.02| 81000 55000
27 5.1 21 8.4 4.0 0.19 12.0 0.03[ 80000 42000
28 5.2 28 8.4 2.2 0. 09 10. 4 0.03[ 130000 21000
29 4.4 18 8.9 2.9 0. 06 10. 2 0.04[ 38000 18000
30 3.5 16 8.7 1.8 0. 05 9.0 <0.02[ 23000 11000
R 1 4.6 25 9.1 2.0 0.08 11.8]  <0.02 19000 13000
2 4.0 20 8.7 2.3 0.11 10.4]  <0.02] 22000 11000
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1. 1. 7 BRI RIERER]
TYEZT KMnO, bty [ RIGERE| —
WE | A | pHfE| BOD ¥ | MPN iIES]
HezEFE | s | A | aooml) [ (ImL)

H 13 5.6 26 8.0 6.5 1.30 15.3 0.17[ 240000 110000
14 8.3 33 8.5 8.5 0.68 23.4 0.16[ 460000] 95000
15 3.4 24 8.6 6.5 0.44 19.4 0.15( 840000 100000
16 6.8 32 8.6| 10.2 0. 40 31.3 0.03[ 170000[ 69000
17 3.2 21 8.9 12.1 0.21 30. 1 0.04[ 100000[ 23000
18 4.3 18 9.0 7.1 0.08 22.4]  <0.02| 85000 19000
19 4.8 23 9.1 3.7 0. 09 15.3 <0.02| 160000| 28000
20 3.5 19 9.2 4.5 0. 04 17.9]  <0.02| 27000 9200
21 11 32 8.8 6.2 0.12 20. 4 0.02[ 67000 43000
22 2.9 17 8.9 3.1 0.19 17.3]  <0.02| 87000 12000
23 3.3 18 8.9 3.1 0. 09 10. 7 <0.02| 39000 14000
24 4.0 21 9.2 4.6 0. 08 13.1 0. 02 16000 6100
25 2.7 18 9.1 4.2 0.13 11.3]  <0.02| 27000 23000
26 4.3 20 8.8 4.0 0.14 10.8|  <0.02| 130000] 77000
27 10 57 8.6 10.7 0.21 21.8 0.02[ 330000 55000
28 3.2 24 9.0 2.1 0.07 9.7  <0.02| 28000 22000
29 4.9 20 9.0 2.7 0. 10 10. 1 <0.02| 22000 17000
30 3.4 22 9.2 2.3 0. 05 10.5]  <0.02| 26000 11000

R 1 3.6 22 9.3 2.2 0.07 10.9]  <0.02] 22000 9100
2 2.7 23 9.0 2.7 0.14 9.3  <0.02[ 20000 15000

1. 1. 8 X%l RIESRER
T/EZT KMnO, Sty | RIBERE| —
WE | A | pHfE| BOD oo MPN iIES]
HezEFE | W& s | Al | aooml) [ (ImL)

H 13 9.7 33 8.3 8.2 0.99 18.2 0.28[ 290000 67000
14 5.3 29 8.3 6.3 0.98 20. 2 0.25( 280000[ 100000
15 3.5 21 8.2 3.9 0.76 12.8 0.18[ 110000 110000
16 6.1 32 8.2 4.5 0. 62 14.9 0.06[ 160000[ 110000
17 2.6 16 8.6 4.0 0. 60 12.6 0.04[ 80000 41000
18 11 28 8.7 2.9 0. 36 14.3|  <0.02| 67000 41000
19 6.8 24 8.9 3.0 0.21 13.6]  <0.02| 210000 45000
20 4.1 18 8.9 1.9 0.19 10. 1 <0.02| 30000 11000
21 8.7 27 8.5 2.2 0.18 13.1 <0.02|  42000| 33000
22 2.6 18 8.7 1.7 0.19 10.0[  <0.02|  79000] 23000
23 2.9 16 8.7 1.7 0.16 9.2 <0.02| 35000 13000
24 3.7 18 8.5 1.8 0. 10 9.3  <0.02[ 48000 9200
25 2.8 18 8.7 1.9 0.15 9.3  <0.02| 46000 52000
26 8.3 19 8.5 1.8 0.12 10.6]  <0.02| 220000 79000
27 6.5 22 8.3 5.3 0.13 13.4]  <0.02| 66000 230000
28 2.8 15 8.5 1.6 0.12 7.8  <0.02[ 24000 20000
29 5.8 18 8.4 2.1 0.08 9.0 <0.02[ 48000 43000
30 2.4 13 8.7 1.4 0. 03 8.6| <0.02[ 66000 28000

R 1 10 19 8.8 1.7 0.04 10.6]  <0.02| 29000 21000
2 3.5 17 8.4 1.8 0.14 8.8]  <0.02] 29000 15000
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1. 1. 9 ZEI RIEKRER

= KMnO, bfty | KIGERE] —#

WE | A | pHfE| BOD ¥ | MPN iIES]

HezEFE | s | A | aooml) [ (ImL)
H 13 6.0 25 7.4 9.7 1.04 18.4 0. 36 2000000] 510000
14 9.3 31 7.6  10.3 1.43 24.9 0.35[ 2600000[ 660000
15 11 58 7.6 7.2 1.02 16.7 0.23[ 970000[ 190000
16 9.4 30 7.5 5.3 1.26 17.0 0.23[ 1600000[ 650000
17 3.5 20 7.5 9.9 1.61 18.7 0.24[ 2300000[ 500000
18 2.9 16 7.6 3.7 0. 62 16. 1 0.06[ 380000 200000
19 3.3 24 7.6 4.0 0. 49 16. 2 0.06[ 1200000[ 200000
20 2.8 20 7.6 3.4 0. 54 15.5 0.08[ 720000 120000
21 5.1 25 7.6 2.9 0.42 14.7 0.03[ 4900000 250000
22 2.1 19 7.7 1.9 0.36 14.3|  <0.02| 160000 41000
23 2.4 16 7.6 3.1 0.74 14.3 0.07| 8400000 330000
24 1.8 20 7.6 1.7 0.32 14.5 0.02| 320000 160000
25 2.7 33 7.6 3.5 0. 65 17.1 0.06[ 2600000] 350000
26 4.6 28 7.7 3.7 0. 66 16.9 0.05[ 480000 260000
27 5.0 25 7.6 5.4 0. 66 16.5 0.04[ 680000[ 190000
28 0.6 20 7.7 1.0 0.23 13.5]  <0.02| 22000 29000
29 4.2 24 7.6 2.3 0. 30 14.0 0.03[ 73000 67000
30 1.8 17 7.6 1.8 0. 20 13.3 0.03[ 130000[ 110000
R 1 1.9 21 7.5 3.6 0. 50 17.6]  <0.02| 130000 27000
2 1.5 25 7.5 2.9 0.25 15.8]  <0.02]  69000] 40000

1. 1. 10 @Il WAKRBERE

T/EZT KMnO, Sty | RIBERE| —

WE | A | pHfE| BOD oo MPN iIES]

HezEFE | W& s | Al | aooml) [ (ImL)
H 13 12 24 7.4 2.3 0.21 8.5 0.04[ 100000] 62000
14 4.5 19 7.6 2.4 0.19 6.5 0.03[ 43000 22000
15 6.9 19 7.6 2.1 0.13 7.6 0.02[ 49000 24000
16 11 26 7.6 2.1 0.18 8.0 <0.02[ 97000 32000
17 4.3 13 7.6 1.6 0.19 5.9  <0.02 15000 6000
18 7.2 16 7.5 1.3 0.08 6.8 <0.02[ 43000 11000
19 7.5 18 7.6 1.5 0. 09 6.6|  <0.02[ 39000 4900
20 4.6 13 7.6 1.0 0. 06 5.9  <0.02[ 26000 4900
21 11 24 7.5 1.3 0. 09 8.0 <0.02[ 42000 21000
22 6.0 15 7.6 1.0 0. 06 5.8  <0.02 12000 4800
23 7.3 15 7.6 1.0 0. 05 5.7 <0.02| 24000 7300
24 5.6 13 7.7 1.2 0. 05 6.2  <0.02 14000 3900
25 5.2 12 7.6 1.1 0. 06 5.5 <0.02] 32000 3800
26 8.8 20 7.6 1.3 0. 06 7.0 <0.02[ 29000 20000
27 5.4 15 7.5 1.0 0. 06 5.9  <0.02| 22000 12000
28 7.0 18 7.5 1.4 0. 06 6.8 <0.02[ 69000 70000
29 5.0 14 7.6 1.1 0. 05 6.2|  <0.02 17000 9500
30 5.5 15 7.6 1.2 0. 06 5.8  <0.02[ 27000 5900
R 1 4.4 14 7.6 1.4 0.16 6.2|  <0.02 15000 4100
2 6.5 16 7.6 1.0 0. 05 6. 1 0. 02 6400 2300
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FANAKEREEE (DDF)

1. 1. 11 ®ENl WAKEBEE

T/EZT KMnO, bty [ RIGEERE| —

WE | A | pHfE| BOD oo MPN iIES]

HezEFE | & s | Al | aooml) [ (ImL)
H 13 9.9 16 7.4 1.8 0.15 8.2 0.03[ 26000 45000
14 3.5 12 7.6 1.8 0.12 5.7 0. 02 11000 12000
15 6.0 19 7.6 1.9 0.08 6.6| <0.02| 27000 12000
16 16 32 7.6 1.8 0.12 7.8 <0.02[ 100000 18000
17 3.7 12 7.6 1.3 0.08 5.5 <0.02 8200 5600
18 9.1 18 7.6 1.3 0.08 8.1 <0.02| 38000 8200
19 4.8 13 7.6 1.2 0. 08 5.6  <0.02[ 33000 4000
20 4.1 13 7.6 1.0 0. 06 5.6  <0.02[ 27000 5100
21 8.3 21 7.5 1.1 0. 08 7.5 <0.02|  62000] 26000
22 4.9 13 7.6 1.0 0. 05 5.5 <0.02 15000 5300
23 5.7 13 7.6 1.0 0. 05 5.0  <0.02[ 27000 4100
24 5.5 14 7.6 1.3 0. 06 5.7 <0.02 9100 4700
25 5.7 12 7.5 1.1 0. 06 5.3 <0.02 16000 3800
26 18 29 7.6 1.3 0.07 6.0  <0.02] 29000 16000
27 7.5 18 7.6 0.9 0.07 5.4 <0.02[ 29000 22000
28 6.5 17 7.5 1.5 0.07 6.3 <0.02| 54000 48000
29 4.7 13 7.6 1.0 0. 05 5.6  <0.02 11000 12000
30 5.7 15 7.6 1.1 0. 06 5.4 <0.02 19000 6900
R 1 3.4 12 7.6 1.0 0. 10 5.5 <0.02[ 29000 3900
2 7.3 15 7.6 1.1 0. 05 5.9  <0.02 7300 2600

1. 1. 12 FI RIESRER]

T/EZT KMnO, Sty | RIBERE|  —

WE | A | pHfE| BOD oo MPN iIES]

ez | s | EMEAL [ aooml) [ (ImL)
H 13 16 24 8. 1 1.8 0.16 8. 1 0.05[ 45000 14000
14 5.6 22 7.9 1.2 0.11 7.3 0.04[ 53000 12000
15 4.0 14 8.2 1.0 0.08 6.0 0.03[ 200000 11000
16 3.6 15 8.0 1.3 0.08 6.5  <0.02| 64000 13000
17 3.1 17 8.1 1.5 0. 06 6.4  <0.02[ 25000 9700
18 27 30 8.2 0.9 0.04 11.6]  <0.02 71000 6500
19 3.4 14 8.3 1.1 0. 03 6.1 <0.02| 43000 4400
20 2.8 10 8.2 0.8 0. 02 5.2 <0.02[ 34000 6300
21 36 64 8.1 0.8 <0. 02 10.9 <0.02| 20000 13000
22 2.6 11 8.0 0.7 0. 04 4.8 <0.02| 23000 3400
23 2.4 9 8.3 0.8 0. 06 5.9]  <0.02[ 41000 4800
24 2.8 12 8.1 1.0 0.03 5.7 <0.02 15000f 29000
25 2.2 12 8.4 0.9 0. 02 4.6 <0.02 12000 3400
26 12 25 8.1 12| <0.02 8.1 <0.02] 29000 13000
27 2.9 9 8.1 0.7 0. 03 4.1 <0. 02 14000 8500
28 4.3 11 8.0 0.9 0. 02 4.3 <0.02| 35000 15000
29 4.1 11 8.0 1.2 0. 05 5.7 <0.02[ 30000 11000
30 2.4 7 8.2 0.7  <0.02 3.8 <0.02[ 22000 4600
R 1 7.9 16 8.2 0.9 0. 03 7.0l <0.02 19000 15000
2 5.0 12 8.4 1.3 0. 04 6.4  <0.02[ 21000 3400
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1. 1. 13 &l BRXBEREZERKGIUKSR
TYEZT KMnO, bty [ RIGERE| —
WE | A | pHfE| BOD ¥ | MPN iIES]
HezEFE | s | A | aooml) [ (ImL)

H 13 6.0 15 7.4 1.4 0.16 6.6 0.03[ 45000 67000
14 4.0 14 7.6 1.7 0.14 5.8 0. 02 12000 15000
15 5.8 17 7.6 2.1 0.11 6.5 0.02[ 46000 15000
16 11 24 7.6 1.9 0.14 7.5 <0.02[ 49000 33000
17 4.1 13 7.7 1.5 0.11 5.6  <0.02 12000 3900
18 7.1 16 7.6 1.3 0.08 6.6| <0.02[ 47000 7300
19 6.1 16 7.6 1.1 0.08 6.0  <0.02 15000 3300
20 4.4 12 7.6 1.0 0. 06 5.7 <0.02 17000 5100
21 8.8 20 7.5 1.2 0.12 7.3 <0.02|  62000] 28000
22 5.3 14 7.6 0.9 0.07 5.7 <0.02 14000 5100
23 7.9 16 7.6 1.1 0. 06 5.7 <0.02| 32000 6500
24 6.0 14 7.6 1.2 0.07 5.7 0. 02 8100 4700
25 5.1 14 7.6 1.1 0.07 5.7 <0.02 7600 5200
26 8.0 18 7.7 1.0 0. 06 5.5 <0.02] 39000 17000
27 4.8 13 7.6 0.9 0. 06 5.4 <0.02 9300 7700
28 6.9 16 7.5 1.5 0. 09 5.9]  <0.02[ 62000 43000
29 5.3 15 7.5 1.0 0. 06 5.8  <0.02 9600 23000
30 5.3 15 7.7 1.2 0.04 5.7 <0.02 3800 2000

R 1 3.8 12 7.6 1.0 0. 09 5.4 <0.02 17000 3900
2 5.4 15 7.6 1.0 0. 06 5.7 <0.02 6400 9300

1. 1. 14 FIl BfREXEEE
T/EZT KMnO, Sty | RIBERE| —
WE | A | pHfE| BOD oo MPN iIES]
HezEFE | W& s | Al | aooml) [ (ImL)

H 13 7.0 15 7.4 1.7 0.15 6.9 0.03[ 130000 34000
14 4.2 14 7.6 1.8 0.12 5.8  <0.02 6800 16000
15 6.0 16 7.5 2.0 0. 09 6.3 0.02[ 76000 18000
16 16 32 7.6 1.8 0.13 7.6 <0.02 71000| 27000
17 4.0 13 7.7 1.5 0. 09 5.5 <0.02 7200 4000
18 8.4 17 7.5 1.4 0.08 8.0 <0.02[ 42000 14000
19 4.6 13 7.6 1.1 0.07 5.6  <0.02 16000 2600
20 3.9 12 7.6 0.9 0. 06 5.3 <0.02 14000 3500
21 13 27 7.5 1.3 0. 10 8.2 <0.02| 120000| 35000
22 5.1 14 7.6 1.0 0.07 5.7 <0.02 15000 4400
23 6.5 14 7.5 1.0 0. 06 5.2 <0.02| 29000 5600
24 5.7 14 7.6 1.1 0. 06 5.5  <0.02 9500 4100
25 5.2 13 7.6 1.1 0.07 5.4 <0.02 11000 5300
26 16 30 7.6 1.0 0.07 5.5 <0.02] 39000 15000
27 7.0 16 7.6 0.8 0. 06 5.4 <0.02 13000 6800
28 5.9 15 7.5 1.4 0. 10 5.7 <0.02[ 88000 44000
29 4.7 13 7.5 1.0 0.07 5.5 <0.02 11000 19000
30 6.1 16 7.6 1.2 0. 04 5.3 <0.02 4300 2900

R 1 3.6 12 7.6 1.0 0. 10 5.3 <0.02 19000 4600
2 5.4 13 7.6 1.0 0.07 5.5  <0.02 9600 5200




1.2 EEH
(24 )
B oK %O
SR U IR/ JE W
® OB om H B | B E K By | B A AR &)
B o C 11 30.0 3.9 18.3| 11 31.3 3.7 19.3
VS H| C 11 30.3 5.7 178 11 31.0 5.8 18.2
% 7 i3 m 11 3.4 1.5 25| 11 3.0 1.0 1.9
— ik Bl f# /mL 11 1100 4 180 11 4200 28 610
*K 15 MPN/100mL| 11 4.1 <1.8 a8l 1 23 <1.8 6.4
fif B & % FH# mg/L 11 <0.004 <0.004 <0.004 | 11 <0.004 <0.004 <0.004
w ot wm A4 # v mg/L 11 10.1 8.1 9.2 11 11.0 8.4 9.5
wly = 4+ A T v me/L 51 0.000715 | 0.000003  0.000287
i,%i 2-AF NV AV R A — ] mg/L 5| 0.000005 = 0.000001  0.000002
U s e (215 % (100D ) mg/L 11 1.9 1.3 16| 11 5.3 1.4 2.4
pH (A 11 9.2 7.7 8.4 11 10.2 7.7 8.5
L] = 11 WE |11 HER
= Bl R 11 15 4 9| 11 24 8 13
wWoE (% SOk oW B 11 5.0 1.0 2.8 11 8.0 1.5 3.9
H [ HEYSCR~ /By AT &)|  mg/L 11 7.1 3.3 4.3 11 13.7 3.7 6.2
K i BE| MpN/100mL | 11 700 33 220 11 5600 68 950
HOOX = g | uS/cm 11 126 107 19| 11 138 115 124
# W 7] | mg/L 11 6 <1 31 11 13 3 5
" # %3 #| me/L 11 12.2 8.2 101 11 12.1 8.9 10.3
E Wi ¥ 0y R E KR & meg/L 11 2.2 0.7 1| 11 4.1 0.9 1.8
% B R TE A B R R (DOC)| me/L 11 1.7 11 Laf 11 3.3 1.2 1.7
% % 4 Bt E (260nm) 11 0.027 0.014 0.022| 11 0.051 0.016 0.028
I§ 7 v ' = 7 B ® F| mg/L 11 0.05 <0.02 <0.02| 11 0.03 <0.02 <0.02
fil§ i3 TE % #E| me/L 11 <0.2 <0.2 02| 11 <0.2 <0.2 <0.2
4 £ #| mg/L 11 0.4 0.2 03| 11 0.8 0.2 0.4
Uy v B A A& » (PO4-P)| mg/L 11 <0.01 <0.01 <0.01] 11 0.01 <0.01 <0.01
4 U v (T-P)| mg/L 11 0.03 0.01 0.02] 11 0.09 0.01 0.03
s/ w wm 7 4 A al mg/L 11 0.043 0.002 0.010 | 11 0.241 0.006 0.040

) B REEHAEREHA

1) F=m DAV REGHE~D RGO 72605 H ORI H Ik,
1) BB, @A - SNEENNRE ik L2 FEHRHA THh D,




1.2 EEB#M(DOIF)
(S F24E )
EEEH EEEM W)
=HSEI Ly I P T KA
M R A Sy | B A A% (% E&& FAK )
11 33.1 6.0 19.6 | 11 32.0 3.4 189 11 31.8 4.5 18.9
11 30.8 5.7 18.1 11 30.7 5.4 18.0] 11 31.0 5.6 18.0
11 2.9 1.5 2.1 11 2.7 1.0 1.8 11 3.5 1.3 2.1
11 810 15 190 11 2600 53 580 | 11 1100 44 270
11 6.3 <1.8 8| 11 48 1.8 58| 11 28 <1.8 11
11 <0.004 <0.004 <0.004 [ 11 0.004 <0.004 <0.004 | 11 <0.004 <0.004 <0.004
11 10.2 8.5 9.4 11 11.1 8.3 9.4 11 19.8 9.1 12.4
5 0.000437 | 0.000002 | 0.000100 5| 0.002100 = 0.000004 | 0.000432 5 0.000140 = 0.000002 | 0.000041
5 0.000003 |<0.000001 | 0.000002 5| 0.000022 | 0.000002 | 0.000007 5 0.000016 | 0.000001 | 0.000006
11 2.4 1.4 1.8 11 5.7 1.4 23] 11 2.6 1.3 1.9
11 9.5 7.7 84| 11 9.8 7.8 85| 11 8.9 7.5 8.1
11 mE | 11 DOR |11 JEF I R
11 14 5 9| 11 40 8 16 11 16 8 11
11 6.0 1.5 3.3 11 8.5 2.0 50| 11 6.0 2.0 3.8
11 5.5 3.6 45| 11 15.3 4.2 6.2 11 6.3 3.4 4.9
11 3700 28 740 [ 11 2500 130 690 | 11 2400 36 600
11 132 110 123 11 132 112 123 11 182 115 141
11 10 2 41 11 22 1 71 11 8 <1 4
11 12.7 8.2 102 11 12.7 8.6 104 11 12.7 7.7 9.9
11 2.2 0.7 1.3 11 7.5 0.9 1.9 11 1.7 0.7 1.2
11 1.8 1.2 15| 11 2.8 1.1 17| 11 2.1 1.1 1.6
11 0.031 0.016 0.023 | 11 0.061 0.018 0.032| 11 0.045 0.018 0.027
11 0.04 <0.02 €0.02 | 11 0.04 <0.02 0.02 | 11 0.05 <0.02 <0.02
11 0.2 0.2 0.2 11 0.2 0.2 0.2] 11 0.8 0.2 0.2
11 0.4 0.2 03] 11 0.9 0.3 04| 11 1.1 0.2 0.6
11 <0.01 <0.01 <0.01| 11 <0.01 <0.01 <0.01 [ 11 <0.01 <0.01 <0.01
11 0.04 0.01 0.02| 11 0.07 0.01 0.03| 11 0.03 0.01 0.02
11 0.098 0.003 0.021 | 11 0.068 0.005 0.024 | 11 0.047 0.002 0.013




1. 3 IR

(Frfn2sefE)

s ok B ‘iﬁ il /$7ﬁJII /*&J!I

WO IR A HWooE A "W A
B AL | ¥ eom I A RG] i I )| m& & I A S ¥y
B wC 11 34.6 5.2 9.2 11 34.5 5.6 19.8| 11 33.5 5.6 20.1
K i C 11 30.0 3.6 17.8| 11 29.3 4.7 17.8| 11 29.2 4.5 16.7
— e i B fE/mL 11 520 29 210 | 11 3400 280 1400 | 11 8100 70 2600
PN i B |MpN/100mL| 11 110 <1.8 22| 11 310 16 97| 11 310 <1.8 90
BRI ALK OE O AW me/L 6| <0.0003 | <0.0003 | <0.0003 6| <0.0003 | <0.0003| <0.0003 6| <0.0003 | <0.0003 | <0.0003
K K O o b A B me/L 6 | €0.00005 | <0.00005 | <0.00005 6 | <0.00005 | <0.00005 [ <0.00005 6 | <0.00005 | <0.00005 | <0.00005
L kWU E O A W mg/L 6| <0.001 <0.001 <0.001 6 <0.001 <€0.001 <0.001 6 <€0.001 <0.001 <€0.001
Mok ™ E o b A& W me/L 6| <0.001 €0.001 €0.001 6 0.001 €0.001 <0.001 6 0.001 <0.001 €0.001
L% Kk O % o kA W mg/L 6 0.003 <0.001 <€0.001 6 0.003 |  <0.001 <€0.001 6 <0.001 <0.001 <0.001
N 7 v & b A& | mg/L 6| <0.002 €0.002 | <0.002 6] <0.002| <0.002 <€0.002 6 <€0.002 <€0.002 <€0.002
Bl m m & % % mgl 11 €0.004 | <0.004 | <0.004 | 11 0.009 [ <€0.004 0.005 [ 11 0.016 <0.004 0.007
T A AF R OHALY T mg/L 6| <0.001 €0.001 <0.001 6| <0.001 €0.001 €0.001 6 <0.001 €0.001 <0.001
7 v F Kk W®E oL E W mg/L 6 0.11 0.09 0.10 6 0.12 0.10 0.11 6 0.09 <0.08 <€0.08
mYH#EKRO®E OIS W me/L 6 <0.1 €0.1 <0.1 6 €0.1 <0.1 €0.1 6 <0.1 €0.1 <0.1
] # 1t I74 #| mg/L 6| <0.0002 [ <0.0002 | <0.0002 6| <0.0002 | <0.0002 [ <0.0002 6| <0.0002 | <0.0002 | <0.0002
4 ¥ A % H | mg/L 6| <0.005| <0.005 <€0.005 6| <0.005 <€0.005 <0.005 6 €0.005 <€0.005 €0.005
" f??lﬁflff;’jf;;%lj mg/L 6| <0.004 | <0.004 | <0.004 6| <0.004 | <0.004| <0.004 6 <0.004 <0.004 <0.004
Y s v v 4 Z v mg/L 6| <0.002 <0.002 | <0.002 6| <0.002| <0.002 <0.002 6 <0.002 <0.002 <0.002
F hF /7 mur =T F L v mgl 6| <0.001 <0.001 €0.001 6] <0.001 <€0.001 <€0.001 6 €0.001 <€0.001 €0.001
Y s v = F L oy mg/L 6| <0.001 <0.001 <0.001 6 <0.001 <0.001 <0.001 6 <0.001 <0.001 <0.001
~ v ¥ > mg/L 6| <0.001 <0.001 €0.001 6] <0.001 €0.001 €0.001 6 €0.001 €0.001 <0.001
wHE Kk O o b A& B meg/L 6 <0.1 <0.1 €0.1 6 <€0.1 <0.1 €0.1 6 <0.1 <€0.1 <0.1
g% &k ™ o kb A& W me/L 6 0.20 0.08 0.14 6 0.78 0.14 0.32 6 1.01 0.13 0.43
ok ™ F o b A W me/L 6 0.1 <€0.1 <0.1 6 <0.1 <0.1 <0.1 6 <0.1 <0.1 <0.1
~ Ak RE O A W me/L 6 0.030 0.010 0.020 6 0.083 0.024 0.041 6 0.068 0.013 0.033
wotk B A4 A v mg/L 11 14.9 8.6 1.7 11 13.7 8.9 1.7 11 14.4 5.3 9.9
fe A A4 v Fom & M Al me/L 6 <0.02 €0.02 €0.02 6 €0.02 €0.02 <€0.02 6 €0.02 <€0.02 €0.02
glyr = 4 = r| mg/L 11 | 0.000049 [<0.000001 | 0.000006 | 11 | 0.000087 [<0.000001 | 0.000011 [ 11 | 0.000002 |<0.000001 | 0.000001
2-AF LAY ARNL XA — | mg/L 11 | 0.000016 [<0.000001 | 0.000004 | 11 | 0.000012 [<0.000001 | 0.000003 [ 11 | 0.000003 |<0.000001 [<0.000001
I A v Fom s M A me/L 6 <0.005 <0.005 <0.005 6 <0.005 <0.005 <0.005 6 <0.005 <0.005 <0.005
7 = J - A Hl mg/L 6| <0.0005 [ <0.0005 | <0.0005 6| <0.0005 | <0.0005 [ <0.0005 6| <0.0005 [ <0.0005| <0.0005
R (A B IR F (TOC) D )| mg/L 11 2.0 1.5 1.8 11 2.5 1.5 1.8 11 2.9 1.2 1.8
pH il 11 8.3 7.5 79 11 7.8 7.5 76| 11 8.5 7.5 7.7
B = 11 BiARE | 11 BIRS | 11 JEF IR R
) gl 11 18 7 | 1 32 8 131 11 32 6 16
i gl pE 11 12 2.0 50| 11 16 2.0 55| 11 12 1.5 4.6
TrFEY R OEONE Y me/L 6| <0.002 | <0.002 <€0.002 6| <0.002 €0.002 | <0.002 6 <€0.002 €0.002 <€0.002
v Z kW™ E O A W me/L 6| <0.0002 [ <0.0002 | <0.0002 6| 0.0002 | <0.0002 | <0.0002 6| <0.0002 | <0.0002 | <0.0002
K= oLk O E DAL A | mg/L 6| <0.002 | <0.002 <€0.002 6| <0.002 €0.002 | <0.002 6 <€0.002 €0.002 <€0.002
glle- ¥ 7 mom o= % | mg/L 6| <0.0004 [ <0.0004 | <0.0004 6| <0.0004 | <0.0004 [ <0.0004 6| <0.0004 | <0.0004 | <0.0004
|k v - | mg/L 6 €0.04 <€0.04 €0.04 6 €0.04 <€0.04 €0.04 6 <€0.04 €0.04 <€0.04
% THENEEY (2-=F L ~F )| mg/L 6| <0.008| <0.008| <0.008 6| <0.008| <0.008 <0.008 6 <0.008 <0.008 <€0.008
| OB B S E AR o0 Lo Fin) 5 0.08 0.02 0.05 5 0.21 <0.01 0.07| 5 0.53 <€0.01 0.19
&1,1,0- Y 2 v o= # | mg/L 6 <€0.03 <€0.03 <0.03 6 €0.03 <€0.03 €0.03 6 <€0.03 €0.03 <€0.03
€ AF—t-T F )L —F )L(MTBE)| mg/L 6| <0.002 €0.002 | <0.002 6| <0.002| <0.002 <0.002 6 €0.002 <€0.002 €0.002
B | s GRe )y A )| me/L 11 5.7 3.5 46| 11 8.6 4.1 52| 11 9.8 4.3 6.7
LI-Y 7 mrmr=xF L o mg/l 6 €0.01 €0.01 €0.01 6 €0.01 €0.01 €0.01 6 €0.01 €0.01 €0.01
%’«’Tffﬁ?ﬁi&? <(pP§8AS§ mg/L 5| 0.000007 [<0.000005 [<0.000005 5 | 0.000010 [<0.000005 | 0.000006 5| 0.000015 | 0.000005 | 0.000010
* i BE|MPN/T00mL| 11 3500 150 960 | 11 22000 1300 6800 | 11 28000 110 8000
& S = u #|  uS/em 11 156 106 129 | 11 153 114 136 | 11 165 95 130
| it L7} Bl mg/L 11 11 3 6| 11 17 6 0] 11 29 2 10
v 17 [ #| mg/L 11 13.3 7.6 9.7 11 13.2 7.5 99| 11 13.3 7.9 10.4
»|B ) D| mg/L 11 1.7 0.3 09| 11 1.6 0.8 L1 11 2.6 0.4 1.2
wofig ME A B B R (DOC)| me/L 11 1.8 1.2 L5 11 2.1 1.2 1.5 11 2.5 1.1 1.6
ﬁﬂ‘;«% M Wk Ot (260nm) 11 0.029 0.021 0.025 | 11 0.058 0.023 0.032 | 11 0.082 0.032 0.050
ES b B =3 % 11 0.33 0.14 0.22 [ 11 0.38 0.17 0.26 | 11 0.77 0.31 0.47
2 ot ® 4 4 | mg/L 11 0.05 0.02 0.04 | 11 0.06 0.02 0.04 | 11 0.07 0.02 0.05
et = = 7 B o= % mg/L 11 0.04 €0.02 €0.02 | 11 0.07 <€0.02 0.04 | 11 0.08 €0.02 0.03
filf 23 & £ F#| mg/L 11 0.4 0.2 0.2 11 0.5 €0.2 0.3] 11 1.6 0.5 1.1
Hi{4 ES #| mg/L 11 0.9 0.2 05| 11 1.1 0.3 0.7 11 1.8 0.8 1.3
7o h Rk O®E O A W me/L 6| <0.002 €0.002 | <0.002 6 €0.002 | <0.002 <0.002 6 <0.002 <0.002 <€0.002
WU N m Az R RE me/L 6 0.039 0.026 0.031 6 0.058 0.025 0.037 6 0.089 0.041 0.059

3 0.05mg/ AR =— /0. 05MAREEIAE DM 2 1L LT ¥ HT TS AV AEYAE ~ DK RO T34 ] DA FHA IEH 1k




1. 3 EIEN-ZN(DDF)

(Frfn2sefE)
s ok B ji . I ‘ [ N . ‘ B EE~ JI .
O (T ] WE A VRO A WA W E A
B AL | ¥ eom I A RG] i I Ry B R I A S ¥y
B wC 11 34.1 6.2 20.3 6 32.6 7.5 19.5 6 30.4 5.4 18.1
K i C 11 27.7 9.0 18.0 6 28.9 4.8 17.2 6 26.5 5.0 16.9
— e i B fE/mL 11 22000 460 4100 6 28000 2300 11000 6 44000 1200 15000
PN i B |MpN/100mL| 11 730 7.1 390 6 2500 79 730 6 1700 330 1100
ARIYV AR OE DA P mg/L 6| <0.0003 | <0.0003 [ <0.0003 6| <0.0003 | <0.0003 | <0.0003 6| <0.0003 | <0.0003| <0.0003
K Kk O 2 o b A B me/L 6 | €0.00005 | <0.00005 | <0.00005 6 | €0.00005 | <0.00005 | <0.00005 6 | <0.00005 | <0.00005 | <0.00005
Ly Kk W®™EOAAAE W me/L 6 €0.001 <0.001 <0.001 6 <€0.001 €0.001 <€0.001 6 €0.001 <€0.001 €0.001
Mok ™ E o b A& W me/L 6 0.002 €0.001 <0.001 6 €0.001 €0.001 <0.001 6 0.001 <0.001 €0.001
E# kO ok d& W me/L 6 0.002 <0.001 0.001 6 0.001 <0.001 <0.001 6 0.001 <0.001 <0.001
N 7 v & b A& | mg/L 6 €0.002 <€0.002 <€0.002 6 <€0.002 <€0.002 <€0.002 6 <€0.002 <€0.002 <€0.002
Bl m om & % % mgl 11 0.020 0.004 0.011 6 0.040 0.017 0.024 6 0.070 0.023 0.042
T A AF R OHALY T mg/L 6 €0.001 €0.001 <0.001 6 €0.001 €0.001 €0.001 6 <0.001 €0.001 <0.001
7 v H#FEG®E O E W me/L 6 0.09 €0.08 €0.08 6 0.22 0.11 0.18 6 0.20 0.15 0.18
myH#EKRO®E OIS W me/L 6 <0.1 €0.1 <0.1 6 €0.1 <0.1 €0.1 6 <0.1 €0.1 <0.1
] # it 24 #| mg/L 6| <0.0002 [ <0.0002 | <0.0002 6| <0.0002 | <0.0002 [ <0.0002 6| <0.0002 [ <0.0002 | <0.0002
4 ¥ A % ¥ | mg/L 6 <€0.005 €0.005 <€0.005 6 €0.005 <€0.005 <0.005 6 €0.005 <€0.005 €0.005
" @}155157)]553;;%9 mg/L 6 <0.004 <0.004 <0.004 6 <0.004 <0.004 <0.004 6 <0.004 <0.004 <0.004
Y s v v 4 Z v mg/L 6 <0.002 <0.002 <€0.002 6 <0.002 <0.002 <0.002 6 <0.002 <0.002 <0.002
F hF /7 mur =T F L v mgl 6 €0.001 <0.001 €0.001 6 <0.001 <€0.001 <€0.001 6 €0.001 <€0.001 €0.001
Y s v = F L oy mg/L 6 <0.001 <0.001 <0.001 6 <0.001 <0.001 <0.001 6 <0.001 <0.001 <0.001
~ v ¥ > mg/L 6 €0.001 <0.001 €0.001 6 €0.001 €0.001 €0.001 6 €0.001 €0.001 <0.001
mHE Kk O o b A& B meg/L 6 <0.1 <0.1 €0.1 6 <€0.1 <0.1 €0.1 6 <0.1 <€0.1 <0.1
g% &k ™ o kb A& W me/L 6 0.96 0.12 0.36 6 0.45 0.18 0.33 6 0.69 0.17 0.40
ok ™ F o b A W me/L 6 0.1 <€0.1 <0.1 6 <0.1 <0.1 <0.1 6 <0.1 <0.1 <0.1
~ Ak RE O A W me/L 6 0.054 0.022 0.042 6 0.048 0.013 0.027 6 0.049 0.021 0.036
Btk ® A4 A4 | mg/L 11 22.0 8.3 15.2 6 19.9 13.8 15.5 6 49.4 16.5 26.5
& A A4 v Fom & M Al me/L 6 <0.02 €0.02 €0.02 6 0.05 €0.02 €0.02 6 0.03 <€0.02 €0.02
glyr = 4 = r| mg/L 11 | 0.000009 | 0.000002 | 0.000004
2=AF N A YR FA — | mg/L 11 | 0.000008 [<0.000001 | 0.000006
ko4 A v Bom oE M A me/L 6 0.006 <0.005 <0.005 6 0.018 0.005 0.009 6 0.030 <€0.005 0.012
7 = J = A El mg/L 6| <0.0005 [ <0.0005 | <0.0005
A (44 H IR 3 (TOC) D )| mg/L 11 2.4 1.2 1.8 6 3.7 3.2 3.4 6 4.0 2.6 3.4
pH il 11 7.9 7.3 7.5 6 9.3 8.1 8.7 6 9.4 8.2 9.0
= kS 11 i 6 g 6 TR
<) B 11 50 6 15 6 28 12 20 6 32 23
b} B 11 28 2.0 6.0 6 6.0 1.0 4.0 6 4.0 2.0 2.7
TrFEY K OEOE Y me/L 6 <€0.002 <€0.002 <€0.002
v 7 vk WO™EOAA S B mg/L 6| <0.0002 | <0.0002 [ <0.0002 6 0.0006 | <0.0002 0.0003 6 0.0003 | <0.0002 0.0002
ER o B E O AL A W mg/L 6 €0.002 <€0.002 €0.002 6 <€0.002 <€0.002 €0.002 6 <€0.002 €0.002 <€0.002
glie- v 7 mom o= % | mg/L 6| <0.0004 [ <0.0004 [ <0.0004
E|n V2 - | mg/L 6 €0.04 €0.04 €0.04
E THENLVERY (2-=F L ~F )| mg/L 6 <0.008 <0.008 €0.008
e | OB A S B A 0 Fe oD Fi) 5 0.28 <0.01 0.13| 4 0.05 0.02 0.03| 4 0.03 <€0.01 0.02
#Z|1,,0- hY e = & | mg/lL 6 <0.03 <0.03 <0.03
€ AF)L-t-7 F )L —F )L (MTBE)| mg/L 6 €0.002 <€0.002 €0.002 6 <€0.002 €0.002 <€0.002 6 <€0.002 <€0.002 <€0.002
B |Gl By A )| me/L 11 11.4 3.4 6.5 6 12.9 8.4 10.4 6 11.3 6.8 9.3
LI-Y 7w =xF L v mgl 6 €0.01 €0.01 €0.01
%ﬂﬁ”ﬁi%‘ﬁi@? <(pp}f§§§ mg/L 5| 0.000026 [<0.000005 | 0.000013
* i BE|MPN/100mL| 11 41000 2000 12000 6 35000 12000 22000 6 70000 3500 20000
& B = u #| uS/em 11 222 114 169 6 282 235 253 6 381 247 294
| 1z L7 | mg/L 11 34 2 8 6 8 1 5 6 7 1 4
% 17 [ #| mg/L 11 12.0 7.3 10.1 6 17.1 8.9 12.5 6 15.6 11.9 13.8
»|B ) D| mg/L 11 2.4 0.5 1.1 6 3.7 1.1 2.3 6 3.4 2.1 2.7
wofE M A B R FE (DOC)| mg/L 11 1.9 1.1 1.6 6 3.4 2.6 3.0 6 3.5 2.3 2.9
ﬂﬂ%% b # W& Ok (260nm) 11 0.066 0.030 0.040 6 0.103 0.044 0.080 6 0.103 0.047 0.076
H# bl i =3 P 11 1.02 0.36 0.59 6 1.16 0.71 0.89 6 0.98 0.83 0.92
B {4t ® 4 X | mg/L 11 0.07 0.02 0.04 6 0.08 0.04 0.06 6 0.06 0.05 0.05
Hy o 2 = 7 & = % mg/L 11 0.22 0.02 0.07 6 0.38 €0.02 0.11 6 0.47 0.04 0.14
il 23 & %= F#| mg/L 11 3.2 1.1 2.1 6 1.5 0.6 1.1 6 2.8 0.7 1.5
B4 E #| mg/L 11 3.6 1.3 2.5 6 2.3 1.1 1.5 6 3.4 1.2 1.9
s Lk E O A W me/L 6 <0.002 <€0.002 <0.002 6 <0.002 <0.002 <0.002 6 <0.002 <€0.002 <0.002
WRUoNm A K v E K RE| me/L 6 0.053 0.031 0.043




1. 3 EIEN-ZN(DDF)

(Frfn2sefE)
s ok B ‘ BN Ef JI . ‘ @ E‘ I . wE I _
WA W E A WA VR OE A B 7R EE
B AL | ¥ eom I A RG] i I Ry B R I A S ¥y
B "l C 6 29.1 4.5 17.7 6 29.7 4.6 176 | 11 32.3 4.8 19.2
K i C 6 25.5 5.0 16.3 6 29.4 14.8 21.8 | 11 28.8 4.9 17.1
— e i B fE/mL 6 28000 3100 15000 6| 110000 8600 40000 | 11 6400 460 2300
PN i B |MPN/100mL| 6 790 330 530 6 69000 370 23000 | 11 520 5.1 180
ARIYV AR OE DA P mg/L 6| <0.0003 | <0.0003 [ <0.0003 6| <0.0003 | <0.0003 | <0.0003 6| <0.0003 | <0.0003| <0.0003
K Kk 2 o b A& B me/L 6 | €0.00005 | <0.00005 | <0.00005 6 | €0.00005 | <0.00005 | <0.00005 6 | <0.00005 | <0.00005 | <0.00005
Ly Kk W®™EOAAAE W me/L 6 €0.001 <€0.001 €0.001 6 <€0.001 €0.001 <€0.001 6 €0.001 <€0.001 €0.001
Mok ™ E o b A& W me/L 6 0.001 €0.001 <0.001 6 €0.001 €0.001 <0.001 6 0.001 <0.001 €0.001
e #E KOG ZE oA W mg/L 6 €0.001 <0.001 <0.001 6 <0.001 <0.001 <0.001 6 0.002 <0.001 €0.001
N 7 v & b A& | mg/L 6 €0.002 <€0.002 <€0.002 6 <€0.002 <€0.002 <€0.002 6 <€0.002 <€0.002 <€0.002
Bl m m & % % mgl 6 0.064 0.011 0.031 5 0.885 0.060 0.306 | 11 0.014 <0.004 0.008
T A AF R OHALY T mg/L 6 €0.001 €0.001 <0.001 6 €0.001 €0.001 €0.001 6 <0.001 €0.001 <0.001
7 v H#FEG®E O E W me/L 6 0.18 0.12 0.16 6 0.15 0.09 0.12 6 0.10 0.08 0.09
myH#EKRO®E OIS W me/L 6 <0.1 €0.1 <0.1 6 €0.1 <0.1 €0.1 6 <0.1 €0.1 <0.1
] # it 24 #| mg/L 6| <0.0002 [ <0.0002 | <0.0002 6| <0.0002 | <0.0002 [ <0.0002 6| <0.0002 [ <0.0002 | <0.0002
4 ¥ A % ¥ | mg/L 6 <€0.005 €0.005 <€0.005 6 €0.005 <€0.005 <0.005 6 €0.005 <€0.005 €0.005
" f?fzzflff;’if;;%‘j mg/L 6 <0.004 <0.004 <0.004 6 <0.004 <0.004 <0.004 6 <0.004 <0.004 <0.004
Y s v v 4 Z v mg/L 6 <0.002 <0.002 <€0.002 6 <0.002 <0.002 <0.002 6 <0.002 <0.002 <0.002
F hF /7 mur =T F L v mgl 6 €0.001 <0.001 €0.001 6 <0.001 <€0.001 <€0.001 6 €0.001 <€0.001 €0.001
Y s v = F L oy mg/L 6 <0.001 <0.001 <0.001 6 <0.001 <0.001 <0.001 6 <0.001 <0.001 <0.001
~ v ¥ > mg/L 6 €0.001 <0.001 €0.001 6 €0.001 €0.001 €0.001 6 €0.001 €0.001 <0.001
wHE Kk O o b A& B meg/L 6 <0.1 <0.1 €0.1 6 <€0.1 <0.1 €0.1 6 <0.1 <€0.1 <0.1
g% &k ™ o kb A& W me/L 6 0.66 0.16 0.29 6 0.15 0.08 0.10 6 0.84 0.22 0.36
ok ™ F o b A W me/L 6 0.1 <€0.1 <0.1 6 <0.1 <0.1 <0.1 6 <0.1 <0.1 <0.1
~ Ak RE O A W me/L 6 0.064 0.007 0.023 6 0.051 0.021 0.034 6 0.067 0.023 0.037
Btk ® A4 A4 | mg/L 6 29.3 13.7 20.2 6 58.0 36.3 48.6 | 11 17.3 7.8 12.6
e A A4 v Fom & M Al me/L 6 <0.02 €0.02 €0.02 6 0.04 €0.02 <€0.02 6 €0.02 <€0.02 €0.02
glyr = 4 = r| mg/L 11 | 0.000048 | 0.000001 | 0.000007
2-AF N AV RN RF — | mg/L 11 | 0.000009 [<0.000001 | 0.000003
I A v Fom W& M A me/L 6 0.026 <0.005 0.012 6 0.036 €0.005 0.015 6 €0.005 <0.005 <0.005
7 = 7 = v H| mg/L 6| <0.0005 | <0.0005 | <0.0005
A (4 A B IR F(TOC) D )| mg/L 6 3.7 2.4 3.0 6 5.6 3.4 4.8 11 2.9 1.7 1.9
pH it 6 9.1 8.0 8.4 6 7.7 7.2 75 11 7.7 7.4 7.6
LS B 6 T8 6 TARE | 11 JEF 3 R
<) B 6 32 8 17 6 40 16 25| 11 48 8 16
il B B 6 8.0 1.0 3.5 6 2.0 1.0 L5 11 24 2.5 6.5
TrFEY K OEOE Y me/L 6 <€0.002 <€0.002 <€0.002
v 7 vk O™E A S B mg/L 6 0.0004 0.0002 0.0003 6| <0.0002 [ <0.0002 | <0.0002 6| <0.0002 | <0.0002 | <0.0002
N o RO E O AL A W mg/L 6 0.004 <€0.002 0.003 6 €0.002 <€0.002 €0.002 6 €0.002 €0.002 <€0.002
glie- v 7 mom o= % | mg/L 6| <0.0004 | <0.0004 | <0.0004
AN v ES | mg/L 6 €0.04 <0.04 €0.04
% THENEEY (2-=F L ~F )| mg/L 6 €0.008 <0.008 €0.008
[ S OB A & B R 0D o> i) 4 0.08 €0.01 0.03 4 0.06 €0.01 0.03 5 0.25 0.02 0.10
F,,- Y 2 e = &2 mg/L 6 <€0.03 <0.03 <0.03
€ AF)L—-t-7 F )L = —F )L(MTBE)| mg/L 6 €0.002 <€0.002 €0.002 6 <€0.002 €0.002 <€0.002 6 <€0.002 <€0.002 <€0.002
B |Gl By A )| me/L 6 11.6 7.1 8.8 6 19.3 9.6 15.8| 11 12.0 4.5 6.1
LI-Y 7o =xF L v mgl 6 €0.01 €0.01 €0.01
;231’537”3???7’27@? 55&5?3; mg/L 5| 0.000018 [<0.000005 | 0.000008
* i BE|MPN/T00mL| 6 55000 14000 29000 6| 140000 5500 69000 | 11 13000 2200 6400
& B = u #| uS/em 6 313 221 266 6 451 344 393 11 181 110 144
L 1 it L7} | me/L 6 14 1 4 6 4 <1 2| 11 29 4 11
% 17 [ #| mg/L 6 15.5 10.2 12.6 6 9.3 6.5 79 11 12.6 7.4 9.7
»|B ) D| mg/L 6 3.1 0.8 1.8 6 6.0 1.1 29| 11 2.6 0.4 1.0
wofE M A B R FE (DOC)| mg/L 6 3.3 2.3 2.6 6 5.0 3.3 44 11 2.4 1.4 1.6
m%% b # W& Ok (260nm) 6 0.104 0.046 0.071 6 0.108 0.070 0.096 | 11 0.074 0.027 0.039
H# bl i =3 P 6 1.01 0.67 0.82 6 2.90 1.58 236 | 11 0.54 0.29 0.40
B {4t ® 4 X | mg/L 6 0.07 0.03 0.05 6 0.13 0.08 0.11] 11 0.05 0.02 0.04
Hy o 2 = 7 & = % mg/L 6 0.54 <€0.02 0.14 6 0.51 0.09 0.25 | 11 0.12 <€0.02 0.05
il 23 & £ F#| mg/L 6 1.9 0.9 1.4 6 10.9 5.2 7.0| 11 1.0 0.5 0.8
H|4 E #| mg/L 6 2.8 1.2 1.7 6 12.5 5.3 76| 11 1.5 0.6 1.1
s v Lk ZE O A W me/L 6 <0.002 <€0.002 <0.002 6 <0.002 <0.002 <0.002 6 <0.002 <€0.002 <0.002
WRUoNm A K v E K RE| me/L 6 0.067 0.036 0.047




1. 3 EIEN-ZN(DDF)

(A2t %)
B oK % A N ; o ‘}”% - i J”.
[N R S VE) 15 S IEL AT SRR 5 BEFE TR RS UK AL
B AL | ¥ eom I A RG] i I Ry B R I A S ¥y
B "l C 11 32.3 4.8 19.1 6 30.1 6.7 17.1| 11 34.3 4.7 19.7
K i C 11 28.7 5.0 17.5 6 27.5 4.1 153 11 30.3 6.3 17.7
— e i B fE/mL 11 9100 330 2600 6 12000 190 3400 | 11 71000 360 9300
PN i B |MpN/100mL| 11 3200 7.5 450 6 2500 49 770 | 11 1700 9.1 250
BRI ALK OE O AW me/L 6| <0.0003 | <0.0003 | <0.0003 6| <0.0003 | <0.0003 | <0.0003 6| <0.0003 | <0.0003 | <0.0003
K K O o b A B me/L 6 | €0.00005 | <0.00005 | <0.00005 6 | <0.00005 | <0.00005 [ <0.00005 6 | <0.00005 | <0.00005 | <0.00005
v v kX ZE oA W mg/L 6 €0.001 <0.001 <0.001 6 <€0.001 €0.001 <€0.001 6 <0.001 <€0.001 €0.001
Mok ™ E o b A& W me/L 6 0.001 €0.001 <€0.001 6 0.001 €0.001 <0.001 6 €0.001 <0.001 €0.001
e #E K OB ZE oA W mg/l 6 0.002 <0.001 €0.001 6 0.003 €0.001 0.001 6 0.002 <€0.001 €0.001
N 7 v & b A& | mg/L 6 €0.002 <€0.002 <€0.002 6 <€0.002 <€0.002 <€0.002 6 <€0.002 <€0.002 <€0.002
Bl m m & % % mgl 11 0.013 <0.004 0.008 6 0.009 €0.004 0.006 | 11 0.015 <0.004 0.008
T A AF R OHALY T mg/L 6 €0.001 €0.001 <0.001 6 €0.001 €0.001 €0.001 6 <0.001 €0.001 <0.001
7 v H#FEG®E O E W me/L 6 0.10 0.08 0.10 6 0.17 0.10 0.12 6 0.10 <€0.08 0.08
mYH#EKRO®E OIS W me/L 6 <0.1 €0.1 <0.1 6 €0.1 <0.1 €0.1 6 <0.1 €0.1 <0.1
] # 1t I74 #| mg/L 6| <0.0002 [ <0.0002 | <0.0002 6| <0.0002 | <0.0002 [ <0.0002 6| <0.0002 | <0.0002 [ <0.0002
4 ¥ A % H | mg/L 6 <€0.005 €0.005 <€0.005 6 €0.005 <€0.005 <0.005 6 €0.005 <€0.005 €0.005
" f?fﬁi;’f;’if;;%lj mg/L 6 <0.004 <0.004 <0.004 6 <0.004 <0.004 <0.004 6 <0.004 <0.004 <0.004
Y s v v 4 Z v mg/L 6 <0.002 <0.002 <€0.002 6 <0.002 <0.002 <0.002 6 <0.002 <0.002 <0.002
F hF /7 mur =T F L v mgl 6 €0.001 <0.001 €0.001 6 <0.001 <€0.001 <€0.001 6 €0.001 <€0.001 €0.001
Y s v = F L oy mg/L 6 <0.001 <0.001 <0.001 6 <0.001 <0.001 <0.001 6 <0.001 <0.001 <0.001
~ v ¥ > mg/L 6 €0.001 <0.001 €0.001 6 €0.001 €0.001 €0.001 6 €0.001 €0.001 <0.001
mHE Kk O o b A& B mg/L 6 <0.1 <0.1 €0.1 6 <€0.1 <0.1 €0.1 6 <0.1 <€0.1 <0.1
g% &k ™ o kb A& W me/L 6 0.72 0.18 0.34 6 0.41 0.06 0.19 6 0.64 0.16 0.28
ok ™ F o b A W me/L 6 0.1 <€0.1 <0.1 6 <0.1 <0.1 <0.1 6 <0.1 <0.1 <0.1
~ Ak RE O A W me/L 6 0.069 0.029 0.040 6 0.037 0.011 0.027 6 0.057 0.025 0.036
wotk B A4 A v mg/L 11 16.2 8.7 12.7 6 15.1 5.0 84| 11 15.7 7.9 12.2
e A A4 v Fom & M Al me/L 6 <0.02 €0.02 €0.02 6 €0.02 €0.02 <€0.02 6 €0.02 <€0.02 €0.02
glyr = 4 = r| mg/L 11 | 0.000056 | 0.000002 | 0.000009 11 | 0.000075 | 0.000001 | 0.000011
2-AF N AV RN RF — | mg/L 11 | 0.000010 | 0.000001 | 0.000003 11 | 0.000008 |<0.000001 | 0.000003
I A v Fom W& M A me/L 6 €0.005 <0.005 €0.005 6 0.013 €0.005 <0.005 6 €0.005 <0.005 <0.005
7 =z J = L HEl mg/L 6| <0.0005 [ <0.0005 | <0.0005 6| <0.0005 | <0.0005 | <0.0005
A (4 A B IR F(TOC) D )| mg/L 11 2.5 1.7 1.8 6 3.6 1.0 1.9 11 2.6 1.6 1.9
pH it 11 7.7 7.4 7.6 6 9.2 7.7 84| 11 8.0 7.5 7.6
5 B 11 JEF R 6 EIRR [ 11 JEF 3 R
) gl B 11 32 8 15 6 20 12 11 32 8 15
b} el pE 11 24 2.5 7.3 6 15 1.0 50| 11 16 2.0 5.4
TrFEYEOEONE W me/L 6 <€0.002 <€0.002 <€0.002 6 <€0.002 <€0.002 €0.002
v F kW E O A W me/L 6| <0.0002 [ <0.0002 | <0.0002 6 0.0002 | <0.0002 | <0.0002 6| <0.0002 | <0.0002 | <0.0002
P oLk O E DAL A | meg/L 6 <€0.002 €0.002 <€0.002 6 <0.002 <€0.002 €0.002 6 <€0.002 €0.002 <€0.002
gle- v 7z v v o= & o mg/L 6| <0.0004 [ <0.0004 [ <0.0004 6| <0.0004 | <0.0004 | <0.0004
D v ES | mg/L 6 €0.04 <€0.04 €0.04 6 €0.04 <0.04 €0.04
E THELVERY (2-=F L ~F )| mg/L 6 €0.008 <0.008 €0.008 6 €0.008 <0.008 <0.008
2 SO (B 1 A 2 B A 0D B o> i) 5 0.21 0.02 0.10 4 0.08 €0.01 0.02 5 0.28 0.02 0.11
#1,1,0- Y 2 v o= # | mg/L 6 <€0.03 <0.03 <0.03 6 €0.03 €0.03 €0.03
€ AF L—t-7 F )L —F )L(MTBE)| mg/L 6 €0.002 <€0.002 <€0.002 6 <€0.002 <€0.002 <€0.002 6 €0.002 <€0.002 €0.002
B |Gl By AR me/L 11 9.8 4.4 5.9 6 12.6 3.5 6.4 11 10.1 4.1 5.7
LI-Y 7o = F L v mgl 6 <0.01 €0.01 <0.01 6 <0.01 €0.01 <0.01
;;Z’tff/fjifﬁt/g? 55&5?3; mg/L 5| 0.000016 [<0.000005 | 0.000007 5| 0.000021 [<0.000005 | 0.000010
* i BE|MPN/T00mL| 11 17000 940 7300 6 79000 4100 21000 | 11 31000 790 6400
& ) = u #|  uS/em 11 180 117 145 6 283 147 211 11 176 114 144
| it L7} Bl mg/L 11 24 4 11 6 18 2 8| 11 14 2 7
i 17 [ #| me/L 11 12.2 7.2 9.8 6 14.0 9.7 1.5 11 12.2 7.0 9.6
»|B [0) D| mg/L 11 2.7 0.2 1.1 6 2.0 0.4 L3 11 2.5 0.4 1.0
wofig Mk A B B R (DOC)| me/L 11 2.2 1.4 1.6 6 2.5 1.0 1.6 11 2.3 1.4 1.6
ﬂﬂ‘%ﬁ s M We Ot EE (260nm) 11 0.064 0.027 0.036 6 0.108 0.023 0.049 [ 11 0.069 0.027 0.039
ES bl B E % 11 0.55 0.27 0.38 6 0.55 0.23 0.34 | 11 0.56 0.28 0.39
B2 {4t ® 4 A4 | mg/L 11 0.06 0.03 0.04 6 0.03 €0.01 0.02 | 11 0.06 0.03 0.04
He o 2 = 7 & = % mg/L. 11 0.12 0.02 0.05 6 0.08 0.02 0.04 | 11 0.16 <€0.02 0.06
i [ & S #| mg/L 11 1.1 0.4 0.8 6 1.3 0.2 06| 11 1.1 0.5 0.8
B4 e #| mg/L 11 1.7 0.6 1.2 6 1.3 0.4 08| 11 1.4 0.7 1.1
7o Ak OZE O A W me/L 6 €0.002 <0.002 <0.002 6 <0.002 <0.002 <0.002 6 <0.002 <0.002 <€0.002
WU oNm A xR RE[ me/L 6 0.064 0.037 0.043 6 0.063 0.033 0.045




1. 3 EIEN-ZN(DDF)

(A Fn24EE)
- R )
B ok 8o R £
B AL | ¥ eom 5 A% | ER | Ao 1K )| m& & {is - 1
g " C 11 33.7 4.7 20.1
7K o 11 29.7 6.6 18.1
— I Fil 18/mL. 11 37000 340 5200
K i & [mPN/100mL| 11 1000 3.1 190
ARIT AR RE A Y| mg/L 6| <0.0003 | <0.0003 | <0.0003
Ko K W o b A& W mg/L 6 | <0.00005 | <0.00005 | <0.00005
L vk O®ZE oS W mg/L 6 €0.001 <€0.001 €0.001
ok W o b A& Y| me/L 6 0.001 €0.001 | <0.001
e #E K OB ZE oA W mg/L 6 0.002 <€0.001 €0.001
A i 7 v A b A& | me/L 6| <0.002| <0.002| <0.002
B m m & = % mg/L 11 0.017 <€0.004 0.008
ST AAF Y Ot T mg/L 6| <0.001 <0.001 <€0.001
7 v #F kR O®ZE 0 A W meg/L 6 0.11 €0.08 0.09
wy#E R O®E OIS W me/L 6 €0.1 €0.1 <€0.1
] H 1t i F#| mg/L 6| <0.0002 | <0.0002 [ <0.0002
L S . S A 20 6| <0.005| <0.005| <0.005
" {;;;27—1;7;:;;;3;;%9 mg/L 6| <0.004| <0.004 | <0.004
Yy w o owm % & | mg/L 6| <0.002| <0.002| <0.002
FF7 7 nmvBr=xF L v mg/l 6| <0.001 €0.001 | <0.001
YU 7 v ou = F L oy mgl 6| <0.001 <€0.001 <€0.001
~ v + | mg/L 6| <0.001 €0.001 | <0.001
mE &k Y Z o b A& B me/L 6 €0.1 <0.1 <€0.1
g% Kk O o b A& Y| mg/L 6 0.74 0.17 0.31
M Kk F o b A& W mg/L 6 <0.1 <0.1 €0.1
v H R OE DA W mg/L 6 0.066 0.030 0.038
wotk ®m 4 A+ v mg/L 11 15.8 8.7 12.5
fe oA A4 v Bom & Y Al meg/L 6 €0.02 €0.02 <€0.02
By = A4 = 2 ¥ mg/L 11 | 0.000074 | 0.000001 | 0.000011
2-AF N AV BV FA — | mg/L 11| 0.000010 | 0.000001 | 0.000003
¥4 A v Fom i M A me/L 6 <0.005 <€0.005 <0.005
7 = J = A Hl mg/L 6| <0.0005| <0.0005| <0.0005
A B (42 A B B (TOC) @ #:)|  mg/L 11 2.5 1.5 1.8
pH fiE 11 7.9 7.4 7.6
52 g 11 5310
[ El O 11 26 8 13
) B 11 13 2.0 5.4
TrFEY K OEOE Y me/L 6| <0.002| <0.002| <0.002
v 7k W®E O LA W mg/L 6| <0.0002 | <0.0002 | <0.0002
PSS S A | mg/L 6| <0.002| <0.002| <0.002
glle- ¥ 7 voo = ¥ | mg/L 6| <0.0004 | <0.0004 | <0.0004
AN v ES | mg/L 6 <0.04 €0.04 €0.04
% THENVERY (2-=F )L ~F V)| me/L 6 <0.008 <0.008 <0.008
| B S GRR & B D JE D Fin) 5 0.24 0.02 0.10
#|1,,0- hY 7 m e = &% | mg/L 6 <0.03 <€0.03 <0.03
€ AF N -t-F F L= —F )L(MTBE)| mg/L 6| <0.002| <0.002| <0.002
o | GEe B AR R me/L | 11 9.2 4.1 5.5
LI-Y 7w =xF L v mgl 6 <€0.01 €0.01 <€0.01
o s ey | me/L 5 | 0.000018 [<0.000005 | 0.000008
wx 5 HE[mPN/100mL| 11 61000 980 9600
& ) = i F| wS/em 11 175 117 145
Z [ it L7} B me/L 11 18 2 7
63 17 [ #| me/L 11 12.6 7.0 9.7
»|B l¢) D| mg/L 11 2.2 0.6 1.0
wOfig ME A B¢ B R (DOC)| me/L 11 2.1 1.4 1.6
ﬂﬂ% b # Wt B (260nm) 11 0.057 0.027 0.036
H bl i =3 ¥ 11 0.54 0.28 0.37
B2 b ®m 4 A4 | mg/L 11 0.05 0.03 0.04
e v = = 7 & o= #| mgl 11 0.22 €0.02 0.07
il [iz3 & %= F#| mg/L 11 1.1 0.5 0.8
H 4 £ F#| mg/L 11 1.5 0.7 1.1
s ua Lk OZE oA, AE W mg/L 6 €0.002 <€0.002 <€0.002
R Nwm A& K el meg/L 6 0.067 0.033 0.044




1. 4 EIKRN - Z)NOEZERERAE
1. 4. 1 #FEEN FEHRINKXIE
=t B 3 H F A fE £ K H H

mg/L | 5H20H | 6H10H | 7TH29H @ 8HI12H 9H9H
13-y 7 mu o~y (DD) 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
2,2-DPA(XTIKY) 0.08 | <0.0008 = <0.0008 | <0.0008 | <0.0008  <0.0008
2,4 -D @, 4-PA 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 = <0.0002
E p N 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
M C p A | 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 = <0.00005
7 v o 7 N 0.9 <0. 009 <0. 009 <0. 002 <0. 009 <0. 009
7 v 7 = = b 0. 006 | <0. 00006 | <0.00002 | <0.00006 | <0.00006 | <0.0002
7 b v v v 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = = * 2 0.003 | <0.00003 | <0. 00003 | <0.00003 | <0.00003 | <0.00003
7 2 k 7 Z | 0.006 <0. 00006
7 5 J 9w - 0.03 | <0.0003 | <0.0003 | <0.0001 | <0.0003 | <0.0003
A4 Y X H F A4 » [0.005]<0.00005  <0.00005 | <0.00005 | <0.00005 = <0.00005
4 vV 7 = v K R 0.001 | <0.00001 | <0.00001 | <0.00001 | <0.00001 | <0.00001
A4 Y 7 m H ) 7 (MPC) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
A4 Y 7 F F 7 3IPD 0.3 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003
{4 7 m X v &k Z (IBP) 0.09 | <0.0009 = <0.0009 | <0.0002 | <0.0009 = <0.0009
A4 2 J v Z ¥ v ]0.006 <0. 00006
A4 v % 2 7 7 » [0.009]<0.00009 = <0.0004 | <0.00009 |<0.00009 = <0.0004
z 2 7 v H A 7 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003 = <0.0003
T N7 xS rmy TR 0.08 | <0.0008 = <0.0008 | <0.0008 | <0.0008  <0.0008
TURANL T 7 (R TE V) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
F ¥ b Y s om AR v 0.02 | <0.0002 = <0.0004 | <0.0002 | <0.0002 = <0.0004
X v v M (H ) 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 = <0.0003
4+ U % 2 b m B v 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
7 z i = 2 10.0006 <0. 000006 <0. 000006 <0. 000006
J 7 = v Ak m — s [0.008]<0.00008 | <0.00008 | 0.00011 | <0.00008 & <0.00008
7 L v > va 0.3 <0.003 | <0.0008 | <0.0008 <0.003 | <0.0008
v N U (NAC) 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 = <0.0002
B AR 7 5 » [0.005]<0.00005 | <0.00005 | <0.00005 | <0.00005 & <0.00005
¥ /, 7 5 I ¥ (ACN) | 0.005 [<0.00005 | <0.00005 | <0.00005 | <0.00005 = <0.00005
* ¥ 7 2 v 0.3 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003
Y 3 2 o v 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003 = <0.0003
7 U Kk H = b 2 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02
VAR S SR 0.02 | <0.0002 <0.0002 | <0.0002
7 v A 7 w7 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 = <0.0002
s w =k 7 = (CNP) [0.0001]<0.00001 | <0.00002 | <0.00001 | <0.00001 @ <0.00002
V- 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
s/ m m % v = )b (TPN) 0.05 | <0.0005 = <0.0005 | <0.0005 | <0.0005  <0.0005
D 7 5 v > 10.001 | <0.00001 | <0.00001 | <0.00001 | <0.00001 | <0.00001
v 7 ) & A (CYAP) |0.003 [<0.00003 | <0.00003 | <0.00003 | <0.00003 = <0.00003
Y v oom »  (DCMU) 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
Y 7 m <X = , (DBN) 0.03 | <0.0003 = <0.0003 | <0.0001 | <0.0003  <0.0003
Y s/ v o A & (DDVP) 0.008 | <0.00008 | <0.0005 | <0.00008 | <0.00008 | <0.0005
v Vi 1% > k 0. 005 <0. 00005 | <0. 00005 <0. 00005
2NN AZTF VT F AR Y) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
CFF AN NA— R I 0.005 | <0. 00005 <0. 00005 | <0. 00005
v ba * = N 0.009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009
yonm &k vy ST F L 0.006 | <0.00006 | <0. 00006 | <0.00006 | <0.00006 | <0.00006
¥ = ¥ ¥ (CAT) |0.003 [<0.00003 | <0.00005 | <0.00003 | <0.00003 = <0.00005
YA X A kU v 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 = <0.0002
R 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
D A k j v 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003 = <0.0003
2 4 7 ¥ » [0.003]<0.00003 | <0.00003 | <0.00003 | <0.00003 & <0.00003
v A IN o v 0.8 <0. 008 <0. 008 <0. 008 <0. 008 <0. 008
B AN AR B (T — " 0) F R

0.01 | <0.0001 <0.0001 | <0.0001
AF VAV F F T F—FMITC)
¥ 7 D = I 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0.001
¥ 1% 7 N 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 = <0.0002
F v o 7 0.08 | <0.0008 = <0.0008 | <0.0008 | <0.0008  <0.0008
F AT 7= RAF N 0.3 <0. 003 <0. 003 <0. 003 <0. 003 <0.003
F oA X AN T 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 = <0.0002




4. 1 FEE)N FEHRIKE (DIF)

F 7 U A kU F v 0.002 | 0.00005 | 0.00014 | 0.00010 | 0.00003 | <0.00008
F v 7 H o 7 (MBPMC) 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 = <0.0002
I =T = 0. 006 | <0. 00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
VU Z v ok » (DEP) 0.005 | <0.0002 | <0.0005 | <0.00005 | <0.0002 | <0.0005
MYy T Y = L 0.1 <0. 001 <0.001 | <0.0008 <0. 001 <0. 001
A A 0.06 | <0.0006 = <0.0006 | <0.0006 | <0.0006  <0.0006
F 7 w3 N 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
a 7 = — b 0. 005 <0. 00005

= ~ o * 2 0.0009 K0. 000009 | <0.00005 <0.000009 K0.000009 & <0.00005
¥ 5  J  om = ) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
v Y X v T o= v 0. 004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
oY) x— (T L—1]) 0.02 | <0.0002 = <0.0004 | <0.0002 | <0.0002  <0.0004
vy X 7 e FF 0. 002 | <0.00002 | <0.0002 | <0.00002 | <0.00002 | <0.0002
vy 7 F o 7 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 = <0.0002
= o ¥ =t v 0.05 | <0.0005 = <0.0005 | <0.0004 | <0.0005  <0.0005
7 4 7 m = b ]0.0005K0.000005 £0.000005 <0.000005 <0.000005 <0.000005
7 = = kv F 4 > (MEP) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = J 7 H ) 7 (BPMC) 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
7 =z U A v 0.05 <0. 0005 | <0.0005 <0. 0005
7 = v F F v (IPP) 0. 006 | <0.00006 | <0. 00006 | <0.00006 | <0.00006 | <0.00006
7 = v k = — K (PAP) 0.007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 | <0.00007
7 = ¥ b 7 ¥ I F 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
7 V2 7 A N 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
7 % 7 m - 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
7 v 2 R 2 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 = <0.0002
7 7 v 7 oz ¥ v 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 = <0.0002
7z A T Y F A 0.03 <0. 0003 | <0.0003 <0. 0003
7 v F 7 7 B — )b 0.05 | <0.0005 = <0.0005 | <0.0005 | <0.0005  <0.0005
7 o ¥ = Ko 0.09 | <0.0009 = <0.0009 | <0.0009 | <0.0009 = <0.0009
7 v F  F kR 0. 004 | <0.00004 <0. 00004 | <0. 00004

7 v v oa F v — 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 m ¥ ¥ 3 N 0.05 | <0.0005 = <0.0005 | <0.0005 | <0.0005  <0.0005
7 m X F Y = 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003 = <0.0003
7 v € 7 F K 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
~ J 3 2 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 = <0.0002
R - 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
R - S 0.09 | <0.0009 = <0.0009 | <0.0009 | <0.0009 = <0.0009
N Y 7 = F v 7 ]0.005 | <0.00005 | <0.00005  <0.00005 | <0.00005 | <0.00005
~ v b v Nz 0.2 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
B A 0.3 <0. 003 <0. 003 <0. 001 <0. 003 <0. 003
A 0.04 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004
Ny TATY v ( Rz YY) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
~ vy 7 v k& — b 0.07 | <0.0007 = <0.0007 | <0.0007 | <0.0007 = <0.0007
A 2 F 7 ¥ — k 0. 003 <0. 00003 | <0.00003 0. 00023
~ S5 F L (=T V) 0.7 <0. 007 <0.007 | <0.0005 <0. 007 <0. 007
A = 7 wm oy 7 (MCPP) 0.05 | <0.0005 = <0.0005 | <0.00005 | <0.0005  <0.0005
A v 3 2 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003 = <0.0003
AKX 7 X v L 0.2 <0. 002 <0.002 | <0.0006 <0. 002 <0. 002
A F K F F > (DMIP) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
A NI A buE » 0.04 | <0.0004 = <0.0004 | <0.0004 | <0.0004 = <0.0004
A S 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A 7 =z F v v b 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 = <0.0002
b v =t = L 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
£ U S — b 0. 005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
i H i) 1 & 1 0. 03 0.07 0. 06 0. 02 0.08

BRI FEL, Xt R IR ANME R R 14TH B A JE LT,
AL, {8 % O RIRORKIEZ 2 0 B fE CRUIZEORITH D,
FHOBY O SUEMTEES RSN %R/ T,




e

4. 2 FaA
7

st 5 H F A e £ 7K H H
B mg/L | 5200 | 6H10H | 7TH29H @ 8HI12H 9H9H
13-y 7 mnu o~y (DD) 0.05 | <0.0005 | <0.0005 | <0.0005 @ <0.0005 | <0.0005
2,2 -DPA(XTEY) 0.08 | <0.0008 | <0.0008 | <0.0008 = <0.0008 | <0.0008
2,4 -D@Q,4-PA 0.02 | <0.0002 | <0.0002 | <0.0002 = <0.0002 | <0.0002
E p N 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
M C p A | 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
7 v o 7 N 0.9 <0. 009 <0. 009 <0. 002 <0. 009 <0. 009
7 t 7 = = b 0. 006 | <0.00006 | <0.00002 | <0.00006 | <0.00006 | <0.0002
7 b v v v 0.01 | <0.0001 = <0.0001 | <0.0001 | <0.0001  <0.0001
7 = = * 3 0.003 | <0.00003 | <0. 00003 | <0. 00003 | <0.00003 | <0.00003
7 2 k 7 Z | 0.006 <0. 00006
7 5 J m - 0.03 | <0.0003 | <0.0003 | <0.0001 | <0.0003 | <0.0003
A4 Y X % F 4 > [0.005]<0.00005 | <0.00005 | <0.00005 @ <0.00005 | <0.00005
4 vV 7 = v K A 0.001 | <0.00001 | <0.00001 | <0.00001 |<0.00001 | <0.00001
A4 Y 7 v B L 7 (MIPC) 0.01 | <0.0001 & <0.0001 | <0.0001 | <0.0001  <0.0001
A4 Y 7 ua F F 7 v (PD 0.3 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003
A4 7 v X v &k Z (BP) 0.09 | <0.0009 | <0.0009 | <0.0002 = <0.0009 | <0.0009
A4 2 7 K ¥ v ]0.006 <0. 00006
A4 v ¥ 7 7 7 r ]0.009|<0.00009 | <0.0004 | <0.00009 | <0.00009 | <0.0004
™ 2 7 u H A 7 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
T N7 xS ry TR 0.08 | <0.0008 | <0.0008 | <0.0008 = <0.0008 | <0.0008
TURANL T 7 (R B V) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
X B Y s m A K 0.02 | <0.0002 | <0.0004 | <0.0002 = <0.0002 | <0.0004
X v M (F ) 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
4+ U % 2 b m B v 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
7 z i N 2 10.0006 <0. 000006 <0. 000006 <0. 000006
J 7 = v Ak m — s [0.008]<0.00008 | <0.00008 & 0.00008 @ <0.00008 | <0.00008
7 L v > va 0.3 <0.003 | <0.0008 | <0.0008 <0.003 | <0.0008
By N U b (NAO) 0.02 | <0.0002 | <0.0002 | <0.0002 = <0.0002 | <0.0002
B &R® 7 F  » ]0.005 |<0.00005 | <0.00005 @ <0.00005 | <0.00005 | <0.00005
¥ /, 7 5 I ¥ (ACN) |0.005 [<0.00005 | <0.00005 | <0.00005 @ <0.00005 | <0.00005
* ¥ 7 2 Nz 0.3 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003
Y 3 2 o v 0.03 | <0.0003 | <0.0003 | <0.0003 = <0.0003 | <0.0003
/A R L S N 2 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02
VAR S S 0.02 | <0.0002 <0. 0002 | <0.0002
7 o w A 7 owm oy 7 0.02 | <0.0002 | <0.0002 | <0.0002 = <0.0002 | <0.0002
sm ) =hknr 7 = (CNP) [0.0001]<0.00001 |<0.00002 | <0.00001 | <0.00001 | <0.00002
7 m L ¥ U Ak A 0.003 | <0.00003 | <0. 00003 | <0. 00003 | <0.00003 | <0.00003
s/ m wm % v = )b (TPN) 0.05 | <0.0005 | <0.0005 | <0.0005 @ <0.0005 | <0.0005
D2 7 v v > 10.001 | <0.00001 | <0.00001 |<0.00001 | <0.00001 & <0.00001
> 7 ) & A (CYAP) 0.003 | <0.00003 | <0. 00003 | <0.00003 | <0.00003 | <0.00003
Y v oom  »  (DCMU) 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
Y 7 m <X = ) (DBN) 0.03 | <0.0003 | <0.0003 | <0.0001 = <0.0003 | <0.0003
Y 7 v o A 2z (DDVP) 0.008 | <0.00008 | <0.0005 | <0.00008 | <0.00008 & <0.0005
D Y U > k 0. 005 <0. 00005 | <0. 00005 <0. 00005
CANVKRNAZTF VT F ARY) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
CF A I N A— R 0.005 | <0. 00005 <0. 00005 | <0. 00005
P ¥ % = v 0.009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009
yonmKR y F T F 0.006 | <0. 00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
¥ = ¥ v (CAT) |0.003 |<0.00003 | <0.00005 | <0.00003 | <0.00003 | <0.00005
YA X A kU v 0.02 | <0.0002 | <0.0002 | <0.0002 @ <0.0002 | <0.0002
P 0.05 | <0.0005 | <0.0005 | <0.0005 @ <0.0005 | <0.0005
D A k j v 0.03 | <0.0003 | <0.0003 | <0.0003 = <0.0003 | <0.0003
2 4 7 ¥ 7 ]0.003]<0.00003 | <0.00003  <0.00003 | <0.00003 | <0.00003
v A IN = v 0.8 <0. 008 <0. 008 <0. 008 <0. 008 <0. 008
B AN AR B (T — 3 0) B
0.01 | <0.0001 <0.0001 | <0.0001
AF VAV F F T F—FMITC)
¥ 7 v = V2 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0.001
5 % 7 U 0.02 | <0.0002 | <0.0002 | <0.0002 @ <0.0002 | <0.0002
F o+ Y o 7 0.08 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
F AT 7= RAF N 0.3 <0. 003 <0. 003 <0. 003 <0. 003 <0.003
F A X AN T 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002




4. 2 FRI HEHE (0DOF)

F 7 U A kU F v 0.002 | 0.00006 | 0.00038 | 0.00008 | 0.00005 | <0.00008
F v 7 H 7 (MBPMC) 0.02 | <0.0002 | <0.0002 | <0.0002 = <0.0002 | <0.0002
U m ¥ L 0. 006 | <0. 00006 | <0. 00006 | <0.00006 | <0.00006 | <0.00006
U 2z v &k » (DEP) 0.005 | <0.0002 | <0.0005 | <0.00005 | <0.0002 | <0.0005
MY YT Y = L 0.1 <0. 001 <0.001 | <0.0008 <0. 001 <0. 001
Y7o T 0.06 | <0.0006 | <0.0006 | <0.0006 = <0.0006 | <0.0006
F 7 w3 N 0.03 | <0.0003 | <0.0003 | <0.0003 = <0.0003 | <0.0003
% 7 = — b 0. 005 <0. 00005

= ~ o * 2 0.0009 K0. 000009 | <0. 00005 K0.000009 <0.000009 <0.000009
¥ 5 7 om = 0.01 0. 0001 0.0002 | <0.0001 | <0.0001 | <0.0001
A D A 0. 004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
oY) x— (T L—1]) 0.02 | <0.0002 | <0.0004 | <0.0002 = <0.0002 | <0.0004
vy X 7 e FF 0. 002 | <0.00002 | <0.0002 | <0.00002 | <0.00002 | <0.0002
vy 7 F noN 7 0.02 | <0.0002 | <0.0002 | <0.0002 = <0.0002 | <0.0002
= =t ¥ =t v 0.05 | <0.0005 | <0.0005 | <0.0004 = <0.0005 | <0.0005
7 4 7 m = Jb [0.0005K0.000005 £0.000005 <0.000005 <0.000005 <0.000005
7 = = kv F 4 > (MEP) 0.01 | <0.0001 = <0.0001 | <0.0001 | <0.0001 = <0.0001
7 = J 7 H ) 7 (BPMC) 0.03 | <0.0003 | <0.0003 | <0.0003 @ <0.0003 | <0.0003
7 = U A Vv 0.05 <0.0005 | <0.0005 <0. 0005
7 = v F F v (IPP) 0. 006 | <0. 00006 | <0. 00006 | <0.00006 | <0.00006 | <0.00006
7 = » k= — K (PAP) 0.007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 | <0.00007
7 =z v b 7 ¥ I F 0.01 | <0.0001 = <0.0001 | <0.0001 | <0.0001  <0.0001
7 V2 7 A N 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
7 % J m - 0.03 | <0.0003 | <0.0003 | <0.0003 = <0.0003 | <0.0003
7 v 2 + 2 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 = <0.0002
7 7 v 7 oz ¥ v 0.02 | <0.0002 | <0.0002 | <0.0002 = <0.0002 | <0.0002
7z A T Y F A 0.03 <0. 0003 | <0.0003 <0. 0003
7 v F 7 7 v — )b 0.05 | <0.0005 | <0.0005 | <0.0005 @ <0.0005 | <0.0005
7 o ¥ = o 0.09 | <0.0009 | <0.0009 | <0.0009 = <0.0009 | <0.0009
7 v F  F kR 0. 004 | <0.00004 <0. 00004 | <0. 00004

7 v v oa F vV — 0.05 | <0.0005 | <0.0005 | <0.0005 @ <0.0005 | <0.0005
7 m ¥ ¥ 3 N 0.05 | <0.0005 | <0.0005 | <0.0005 = <0.0005 | <0.0005
7 m X F Y = 0.03 | <0.0003 | <0.0003 | <0.0003 = <0.0003 | <0.0003
7 w ® 7 F K 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
~ J 3 2 0.02 | <0.0002 | <0.0002 | <0.0002 = <0.0002 | <0.0002
R =T 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
R - S 0.09 | <0.0009 | <0.0009 | <0.0009 = <0.0009 | <0.0009
Ny Y 7 = F v 7 ]0.005 [<0.00005 | <0.00005 @ <0.00005 | <0.00005 | <0.00005
~ Nz b v v 0.2 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
ST 4 AR v 0.3 <0. 003 <0. 003 <0. 001 <0. 003 <0. 003
A A 0.04 | <0.0004 | <0.0004 | <0.0004 & <0.0004 | <0.0004
Ny TATY v ( Rz Yy) 0.01 | <0.0001 = <0.0001 | <0.0001 | <0.0001  <0.0001
~ oy 7 L ok — b 0.07 | <0.0007 | <0.0007 | <0.0007 = <0.0007 | <0.0007
A 2 F 7 ¥ — 0. 003 <0. 00003 | <0. 00003 <0. 00003
~ S5 FF (=T V) 0.7 <0. 007 <0.007 | <0.0005 <0. 007 <0. 007
A = 7w oy 7 (MCPP) 0.05 | <0.0005 | <0.0005 | <0.00005 @ <0.0005 | <0.0005
A v 3 V2 0.03 | <0.0003 | <0.0003 | <0.0003 = <0.0003 | <0.0003
A X 7 X v L 0.2 <0. 002 <0.002 | <0.0006 <0. 002 <0. 002
A F X F & > (DMTP) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
A NI A Fu v v 0.04 | <0.0004 | <0.0004 | <0.0004 = <0.0004 | <0.0004
A S 0.03 | <0.0003 | <0.0003 | <0.0003 & <0.0003 | <0.0003
A 7 =z F v v b 0.02 | <0.0002 | <0.0002 | <0.0002 = <0.0002 | <0.0002
A v =t = L 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
£ U S — b 0. 005 | <0. 00005 | <0. 00005 | <0.00005 | <0.00005 | <0.00005
i H i) 12 fiE 1 0. 04 0.21 0. 05 0.03 <0.01
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1. 4. 3 KEN HERE
=t B 3 H F A fE 2 7k A A
mg/L | 5H20H 6H10H 7TH29H 8H12H 9H9H
13-y 7 mu~a~y(DD) 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
2,2-DPA(XTEKY) 0.08 | <0.0008 = <0.0008 | <0.0008 | <0.0008  <0.0008
2,4 -D@Q,4-PA 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002  <0.0002
E p N 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 @ <0.00004
M C p A | 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 & <0.00005
7 v o 7 N 0.9 <0. 009 <0. 009 <0. 002 <0. 009 <0. 009
7 v 7 = = b 0.006 | <0.00006 | <0. 00002 | <0. 00006 | <0.00006 = <0.0002
7 b v v v 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = = * 2 0.003 | <0.00003 | <0. 00003 | <0. 00003 | <0.00003 | <0.00003
7 2 k 7 Z | 0.006 <0. 00006
7 5 J 9w - 0.03 | <0.0003 | <0.0003 | <0.0001 | <0.0003 | <0.0003
A4 Y X H F A4 > [0.005]<0.00005 <0.00005 | <0.00005 | <0.00005 @ <0.00005
4 vV 7 = v Kk R 0.001 | <0.00001 | <0.00001 | <0.00001 | <0.00001 | <0.00001
A4 Y 7 m H 7 (MPC) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
A4 Y 7 u F F 7 v 3JAPD 0.3 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003
4 7 m X v & Z (IBP) 0.09 | <0.0009 = <0.0009 | <0.0002 | <0.0009  <0.0009
A4 2 J 2z 2 ¥ v [o0.006 <0. 00006
A4 v % 2 7 7 ¥ [0.009]<0.00009 <0.0004 | <0.00009 | <0.00009 = <0.0004
™ 2 7 v H A 7 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
T k7 v S Ey TR 0.08 | <0.0008 = <0.0008 | <0.0008 | <0.0008  <0.0008
TURANL T 7 (R TE V) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
EE T R Sl I 0.02 | <0.0002 = <0.0004 | <0.0002 | <0.0002 & <0.0004
X v v M (H ) 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 = <0.0003
4+ U % 2 b m B v 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
7 z i N 2 10.0006 <0. 000006 <0. 000006 <0. 000006
J 7 = v Ak m — s [0.008]<0.00008  <0.00008 | 0.00012 | <0.00008 & <0.00008
7 L v v va 0.3 <0.003 | <0.0008 | <0.0008 <0.003 | <0.0008
v N U (NAC) 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 & <0.0002
B AR 75 [0.005]<0.00005  <0.00005 | <0.00005 | <0.00005 @ <0.00005
¥ /, 7 5 I ¥ (ACN) | 0.005 |<0.00005 | <0.00005 | <0.00005 | <0.00005 @ <0.00005
* ¥ 7 2 Nz 0.3 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003
Y N L = v 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
AR A 2 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02
VAR S SR 0.02 | <0.0002 <0.0002 | <0.0002
7 v A 7 w7 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002  <0.0002
sm ) =hkna 7 = (CNP) [0.0001]<0.00001 |<0.00002 | <0.00001 |<0.00001 | <0.00002
7 m L ¥ U Ak A 0.003 | <0.00003 | <0. 00003 | <0.00003 | <0.00003 | <0.00003
s/ m wm % v = )b (TPN) 0.05 | <0.0005  <0.0005 | <0.0005 | <0.0005  <0.0005
D 7 v v > ]0.001 | <0.00001 | <0.00001  <0.00001 | <0.00001 | <0.00001
> 7 ) & A  (CYAP) 0. 003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
Y voom »  (DCMU) 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
Y 7 m <X = , (DBN) 0.03 | <0.0003 = <0.0003 | <0.0001 | <0.0003  <0.0003
Y 7 v o A 2z (DDVP) 0.008 | <0.00008 | <0.0005 | <0.00008 | <0.00008 & <0.0005
¥ 7 % v k 0. 005 <0. 00005 | <0. 00005 <0. 00005
P ANVKRNAZTF VT F AR ) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 @ <0.00004
CFF AN NA— TR I 0.005 | <0. 00005 <0. 00005 | <0. 00005
¥ ba % = v 0.009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009
yonwm ok vy ST F N 0.006 | <0. 00006 | <0.00006 | <0.00006 | <0.00006 @ <0.00006
¥ = ¥ v  (CAT) | 0.003 |<0.00003 | <0.00005 | <0.00003 |<0.00003 @ <0.00005
YA X A kU v 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002  <0.0002
R 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
D A k J v 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
2 4 7 ¥ 2 » [0.003]<0.00003  <0.00003 | <0.00003 | <0.00003 | <0.00003
v K N = v 0.8 <0. 008 <0. 008 <0. 008 <0. 008 <0. 008
B AN AR B (T — " 0) F R
0.01 | <0.0001 <0.0001 | <0.0001
AF VAV F F T F—FMITC)
¥ 7 v = V2 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
¥ 1% 7 N 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 & <0.0002
F F T o 7 0.08 | <0.0008 = <0.0008 | <0.0008 | <0.0008  <0.0008
F AT 7= RAF N 0.3 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003
F oA X AN T 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 & <0.0002




4. 3 KEN HEHE (0DOF)

F 7 U A kU F v 0.002 | 0.00096 0.0007 | 0.00003 | <0.00002 | <0.00008
F v 7 H o 7 (MBPMC) 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 = <0.0002
[ = S < 0. 006 | <0. 00006 | <0. 00006 | <0.00006 | <0.00006 | <0.00006
U Z v &k » (DEP) 0.005 | <0.0002 | <0.0005 | <0.00005 | <0.0002 = <0.0005
MUY T Y = L 0.1 <0. 001 <0.001 | <0.0008 <0. 001 <0. 001
Y7o T 0.06 | <0.0006 = <0.0006 | <0.0006 | <0.0006  <0.0006
F 7 w3 N 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
23 7 = — k 0. 005 <0. 00005

= ~ o * Z10.0009 K0. 000009 | <0.00005 K0.000009 <0.000009 <0.000009
¥ 5  J  om = ) 0.01 0. 0003 0.0002 | <0.0001 | <0.0001 | <0.0001
S 0. 004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
oY) x— (T L—1]) 0.02 | <0.0002 | <0.0004 | <0.0002 | <0.0002 | <0.0004
vy X 7 o FF 0. 002 | <0.00002 | <0.0002 | <0.00002 | <0.00002 = <0.0002
vy 7 F o 7 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002  <0.0002
= o ¥ o v 0.05 | <0.0005 = <0.0005 | <0.0004 | <0.0005  <0.0005
7 4 7 m = 2 [0.0005K0.000005 <0.000005 K0.000005 K0.000005 <0.000005
7 = = kv F 4 > (MEP) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = J 7 H ) 7 (BPMC) 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
7 = U A v 0.05 <0. 0005 | <0.0005 <0. 0005
7 = v F F v (IPP) 0. 006 | <0. 00006 | <0. 00006 | <0.00006 | <0.00006 | <0.00006
7 = ¥ k = — K (PAP) 0.007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 | <0.00007
7 = v k7 ¥ I F 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
7 V2 7 A N 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
7 % 7 m - 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
7 b 2 + 2 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002  <0.0002
7 7 v 7 oz ¥ v 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002  <0.0002
7z A T Y F A 0.03 <0. 0003 | <0.0003 <0. 0003
7 v F 7 7 v — )b 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 o ¥ = Ko 0.09 | <0.0009 = <0.0009 | <0.0009 | <0.0009 = <0.0009
7 v F  F kR 0. 004 | <0.00004 <0. 00004 | <0. 00004

7 v v oa F v — 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 m v ¥ 3 N 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 = <0.0005
7 m X F Y = 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
7 v € 7 F K 0.1 0. 002 <0. 001 <0. 001 <0. 001 <0. 001
~ J 3 2 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002  <0.0002
R - 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
R - 0.09 | <0.0009 = <0.0009 | <0.0009 | <0.0009 = <0.0009
N Y 7 = F v 7 10,005 [<0.00005 | <0.00005  <0.00005 | <0.00005 | <0.00005
~ v v v v 0.2 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
ST 4 AR v 0.3 <0. 003 <0. 003 <0. 001 <0. 003 <0. 003
A A T 0.04 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004
Ry TATY v ( Rz Py) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
~ v 7 v k& — k 0.07 | <0.0007 = <0.0007 | <0.0007 | <0.0007  <0.0007
A 2 F 7 ¥ — 0. 003 <0. 00003 | <0.00003 <0. 00003
~ S5 F L (=T V) 0.7 <0. 007 <0.007 | <0.0005 <0. 007 <0. 007
A = 7 wm v 7 (CPP) 0.05 | <0.0005 = <0.0005 | <0.00005 | <0.0005  <0.0005
A v 3 v 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003 & <0.0003
A X 7 X ¥ 0.2 <0. 002 <0.002 | <0.0006 <0. 002 <0. 002
A F K F & > (DMIP) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
A NI A buE » 0.04 | <0.0004 = <0.0004 | <0.0004 | <0.0004 = <0.0004
A Yy T Y 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A 7 =z F v v b 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002  <0.0002
b v =t = L 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
£ U b — N 0. 005 | <0. 00005 | <0. 00005 | <0.00005 | <0.00005 | <0.00005
i H i) 12 fiE 1 0.53 0.37 0.03 <0.01 <0.01
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1. 4. 4 H)Il EE4E
=t B 3 H F A fE 2 7k A A

mg/L | 5H20H 6H10H 7TH29H 8H12H 9H9H
13-y 7 mu~a~y(DD) 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
2,2-DPA(XTEKY) 0.08 | <0.0008 = <0.0008 | <0.0008 | <0.0008  <0.0008
2,4 -D@Q,4-PA 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002  <0.0002
E p N 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 @ <0.00004
M C p A | 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 & <0.00005
7 v o 7 N 0.9 <0. 009 <0. 009 <0. 002 <0. 009 <0. 009
7 v 7 = = b 0. 006 | <0.00006 | <0.00002 | <0.00006 | <0.00006 = <0.0002
7 b v v v 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = = * 2 0.003 | <0.00003 | <0. 00003 | <0. 00003 | <0.00003 | <0.00003
7 2 k 7 Z | 0.006 <0. 00006
7 5 J 9w - 0.03 | <0.0003 | <0.0003 | <0.0001 | <0.0003 | <0.0003
A4 Y X H F A4 > [0.005]<0.00005 <0.00005 | <0.00005 | <0.00005 @ <0.00005
4 vV 7 = v Kk R 0.001 | <0.00001 | <0.00001 | <0.00001 | <0.00001 | <0.00001
A4 Y 7 m H 7 (MPC) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
A4 Y 7 u F F 7 v 3JAPD 0.3 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003
4 7 m X v & Z (IBP) 0.09 | <0.0009 = <0.0009 | <0.0002 | <0.0009  <0.0009
A4 2 J 2z 2 ¥ v [o0.006 <0. 00006
A4 v % 2 7 7 ¥ [0.009]<0.00009 <0.0004 | <0.00009 | <0.00009 = <0.0004
™ 2 7 v H A 7 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
T k7 v S Ey TR 0.08 | <0.0008 = <0.0008 | <0.0008 | <0.0008  <0.0008
TURANL T 7 (R TE V) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
EE T R Sl I 0.02 | <0.0002 = <0.0004 | <0.0002 | <0.0002 & <0.0004
X v v M (H ) 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 = <0.0003
4+ U % 2 b m B v 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
7 z i N 2 10.0006 <0. 000006 <0. 000006 <0. 000006
J 7 = v Ak m — s [0.008]<0.00008  <0.00008 | <0.00008 | <0.00008 @ <0.00008
7 L v v va 0.3 <0.003 | <0.0008 | <0.0008 <0.003 | <0.0008
By N U b (NAO) 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 & <0.0002
B &® 7 F  » ]0.005 [<0.00005 | <0.00005 <0.00005 | <0.00005 | <0.00005
¥ /, 7 5 I ¥ (ACN) | 0.005 |<0.00005 | <0.00005 | <0.00005 | <0.00005 @ <0.00005
* ¥ 7 2 Nz 0.3 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003
Y N L = v 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
AR A 2 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02
VAR S SR 0.02 | <0.0002 <0.0002 | <0.0002
7 v A 7 w7 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 = <0.0002
sm ) =hkna 7 = (CNP) [0.0001]<0.00001 |<0.00002 | <0.00001 |<0.00001 | <0.00002
7 m L ¥ U Ak A 0.003 | <0.00003 | <0. 00003 | <0.00003 | <0.00003 | <0.00003
s/ m wm % v = )b (TPN) 0.05 | <0.0005  <0.0005 | <0.0005 | <0.0005  <0.0005
D 7 v v > ]0.001 | <0.00001 | <0.00001  <0.00001 | <0.00001 | <0.00001
> 7 ) & A  (CYAP) 0. 003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
Y voom »  (DCMU) 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
Y 7 m <X = , (DBN) 0.03 | <0.0003 = <0.0003 | <0.0001 | <0.0003  <0.0003
Y 7 v o A 2z (DDVP) 0.008 | <0.00008 | <0.0005 | <0.00008 | <0.00008 & <0.0005
¥ 7 % v k 0. 005 <0. 00005 | <0. 00005 <0. 00005
P ANVKRNAZTF VT F AR ) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 @ <0.00004
CFF AN NA— TR I 0.005 | <0. 00005 <0. 00005 | <0. 00005
¥ ba % = v 0.009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009
yonwm ok vy ST F N 0.006 | <0. 00006 | <0.00006 | <0.00006 | <0.00006 @ <0.00006
¥ = ¥ v  (CAT) | 0.003 |<0.00003 | <0.00005 | <0.00003 |<0.00003 @ <0.00005
YA X A kU v 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002  <0.0002
R 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
D A k J v 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
2 4 7 ¥ 7 ]0.003]<0.00003 | <0.00003 <0.00003 |<0.00003 | <0.00003
v K N = v 0.8 <0. 008 <0. 008 <0. 008 <0. 008 <0. 008
B AN AR B (T — " 0) F R

0.01 | <0.0001 <0.0001 | <0.0001
AF VAV F F T F—FMITC)
¥ 7 v = V2 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
5 7% 7 U 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 & <0.0002
F F T o 7 0.08 | <0.0008 | <0.0008 | <0.0008 | <0.0008 = <0.0008
F AT 7= RAF N 0.3 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003
F oA X AN T 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 = <0.0002




4. 4 )l EBEIE (ODF)

F 7 U A kU F v 0.002 | 0.00047 | 0.00053 | <0.00002 | 0.00002 | <0.00008
F AL 7 H A 7 (MBPMC) 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002  <0.0002
[ = S < 0. 006 | <0. 00006 | <0. 00006 | <0.00006 | <0.00006 | <0.00006
Y 2 v ok > (DEP) 0.005 | <0.0002 | <0.0005 | <0.00005 | <0.0002 = <0.0005
MUY T Y = L 0.1 <0. 001 <0.001 | <0.0008 <0. 001 <0. 001
I A 2 0.06 | <0.0006 = <0.0006 | <0.0006 | <0.0006  <0.0006
+ 7 w3 r 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
23 7 = — k 0. 005 <0. 00005

= ~ o * Z10.0009 K0. 000009 | <0.00005 K0.000009 <0.000009 <0.000009
¥ 5  J  om = ) 0.01 0. 0002 0.0001 | <0.0001 | <0.0001 | <0.0001
S 0. 004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
oY) x— (T L—1]) 0.02 | <0.0002 = <0.0004 | <0.0002 | <0.0002 = <0.0004
S R S 0.002 | <0.00002 | <0.0002 | <0.00002 | <0.00002 = <0.0002
vy 7 F o 7 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002  <0.0002
= o ¥ o v 0.05 | <0.0005 = <0.0005 | <0.0004 | <0.0005  <0.0005
7 4 7 m = 2 [0.0005K0.000005 <0.000005 K0.000005 K0.000005 <0.000005
7 = = kv F 4 > (MEP) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = J 7 H ) 7 (BPMC) 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
7 = U A Y v 0.05 <0. 0005 | <0.0005 <0. 0005
7 = v F F v (IPP) 0. 006 | <0. 00006 | <0. 00006 | <0.00006 | <0.00006 | <0.00006
7 = ¥ k = — K (PAP) 0.007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 | <0.00007
7 = v k7 ¥ I F 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
7 V2 7 A N 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
7 % 7 m - 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
7 b 2 + 2 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002  <0.0002
7 7 v 7 = ¥ v 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002  <0.0002
7z A T Y F A 0.03 <0. 0003 | <0.0003 <0. 0003
7 v F 5 7 v — J 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 v ¥ 3 N 0.09 | <0.0009 = <0.0009 | <0.0009 | <0.0009 = <0.0009
7 v F  F kR 0. 004 | <0.00004 <0. 00004 | <0. 00004

7 v v oa F v — 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
A= r 0.05 | <0.0005  <0.0005 | <0.0005 | <0.0005  <0.0005
7 m X F Y = 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
7 w ® 7 F F 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
~ J 3 Y 0.02 | <0.0002 | <0.0002 | <0.0002 = <0.0002 0. 0002
R - 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
R - 0.09 | <0.0009 = <0.0009 | <0.0009 | <0.0009 = <0.0009
N v Y 7 = F v 7 [0.005]<0.00005  <0.00005 | <0.00005 | <0.00005 @ <0.00005
~ v v v v 0.2 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
ST 4 AR v 0.3 <0. 003 <0. 003 <0. 001 <0. 003 <0. 003
X 7T Hh T 0.04 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004
Ry TATY v ( Rz Py) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
~ v 7 v k& — k 0.07 | <0.0007 = <0.0007 | <0.0007 | <0.0007  <0.0007
A 2 F 7 ¥ — k 0.003 <0. 00003 | <0.00003 0. 00025
~ 5 F L (=T V) 0.7 <0. 007 <0.007 | <0.0005 <0. 007 <0. 007
A = 7w oy 7 (MCPP) 0.05 | <0.0005  <0.0005 | <0.00005 | <0.0005  <0.0005
A v N v 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003 & <0.0003
A2 T F ¥ 0.2 <0. 002 <0.002 | <0.0006 <0. 002 <0. 002
A F F F I > (DMIP) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
A K I J A bu v v 0.04 | <0.0004 = <0.0004 | <0.0004 | <0.0004 = <0.0004
A Yy T Y 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A 7 =z F v v b 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002  <0.0002
b v o = v 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
£ U S — N 0. 005 | <0.00005 | <0. 00005 | <0. 00005 | <0.00005 @ <0.00005
i H i) 1 & 1 0. 26 0.28 <0.01 0.01 0. 09
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1. 4. 5 AN RNAFKER
=t B 1 A SRR 2 7k H A

mg/L 5H20H 7TH29H 9H9H 11H11H
13-y 7mu o~y (DD) 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005
2,2-DPA(XTIKY) 0.08 <0.0008 | <0.0008 | <0.0008 | <0.0008
2,4 -D @, 4-PA 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
E p N 0.004 | 0.00005 | <0.00004 | <0.00004 | <0.00004
M C p A | 0.005 | <0.00005 | <0.00005 = <0.00005 | <0.00005
7 v o 7 N 0.9 <0. 002 <0. 009 <0. 009 <0. 002
7 t 7 = = b 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
7 b 7 v v 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = I + 2 0.003 | <0.00003 = <0.00003 | <0.00003 | <0.00003
7 2 k 7 Z | 0.006 | <0.00006 <0. 00006
7 5 Z v - 0.03 <0.0001 | <0.0003 | <0.0003 | <0.0001
4 Y X% % F A4 > [0.005] 0.00007 | <0.00005 <0.00005 | <0.00005
4 vV 7 = v K R 0.001 | <0.00001 = <0.00001 | <0.00001 | <0.00001
A4 Y 7 m B 7 (MPC) 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
A4 Y 7S F F 7 3dAPD 0.3 <0. 003 <0. 003 <0. 003 <0. 003
4 7 m X v &k Z (IBP) 0. 09 <0.0002 | <0.0009 | <0.0009 | <0.0002
A4 2 7 oz & ¥ ¥ ]0.006] <0.00006 <0. 00006
A4 v ¥ 2 7 7 » [0.009] <0.00009 | <0.00009 = <0.00009 | <0.00009
= 2 7 v H A 7 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
T N7 xS ry TR 0.08 <0.0008 | <0.0008 | <0.0008 | <0.0008
TURALT 7RV ) 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
F ¥ B Y s om AR v 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002
% v W (H B ) 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
4+ U ¥ 2 b m B v 0.1 <0. 001 <0. 001 <0. 001 <0. 001
7 z i = Z 0. 0006 |<0. 000006 <0. 000006
7 = v Ak m — s [0.008] <0.00008 | <0.00008 & <0.00008 | <0.00008
7 L v v va 0.3 <0. 0008 <0. 003 <0.003 | <0.0008
v N U (NAC) 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
B AR 7 5 » [0.005] <0.00005 | <0.00005 = <0.00005 | <0.00005
¥ /, 7 5 I ¥ (ACN) |0.005 | <0.00005 @ <0.00005 @ <0.00005 | <0.00005
* ¥ 7 2 Nz 0.3 <0. 003 <0. 003 <0. 003 <0. 003
Y N L = v 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
AR A 2 <0. 02 <0. 02 <0. 02 <0. 02
VAR S SR 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
7 v A 7 w7 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
sm ) =hkna 7 = (CNP) [0.0001] <0.00001 | <0.00001 = <0.00001 | <0.00001
7w L ¥ U Ak A 0.003 | 0.00004 @ <0.00003 | <0.00003 | <0.00003
7 mowu % w = )L (TPN) 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005
v 7 2 v > 10.001 | <0.00001 = <0.00001 | 0.00001 | <0.00001
v 7 ) & A (CYAP) |0.003 | <0.00003 | <0.00003 @ <0.00003 | <0.00003
Y v om »  (DCMU) 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
Y 7 m <X = 5 ([DBN) 0.03 <0.0001 | <0.0003 | <0.0003 | <0.0001
Y 2z m A K A (DDVP) | 0.008 | <0.00008 | <0.00008 = <0.00008 | <0.00008
D V4 % > I ] 0.005 | <0.00005 <0. 00005
AN KR A FLF A ARY) | 0.004 | <0.00004 | <0.00004 = <0.00004 | <0.00004
CFF A NA—FFR I |0.005 | <0.00005 @ <0.00005 = <0.00005 | <0.00005
D ¥ % = A ]0.009 | <0.00009 @ <0.00009 = <0.00009 | <0.00009
oo m oAk vy 77 F 0 |0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
¥ = ¥ v (CAT) |0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
YA X A kU v 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
Y A F = = ] 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005
D A k J v 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
2 4 7 ¥ 7 » ]0.003] <0.00003 | <0.00003 | <0.00003 | <0.00003
v K N = v 0.8 <0. 008 <0. 008 <0. 008 <0. 008
B AN AR B (F1— 3 0) F R

0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
AFINAYF F T F—FMITC)
¥ 7 v = v 0.1 <0. 001 <0. 001 <0. 001 <0. 001
¥ 17 7 N 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002
F + v o 7 0.08 <0.0008 | <0.0008 | <0.0008 | <0.0008
F AT 7= RAF N 0.3 <0. 003 <0. 003 <0. 003 <0. 003
F oF X H T 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002




4. 5 TR RENERER (2DF)

F 7 U A kU F v 0.002 | <0.00002 | 0.00003 | 0.00005 | 0.00003
F v 7 H o 7 (MBPMC) 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
I = S < 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
VU Z v &k v (DEP) 0.005 | <0.00005 | <0.0002 | <0.0002 | <0.00005
FY oYy T Y = 0.1 <0. 0008 <0. 001 <0.001 | <0.0008
A ) BN 0. 06 <0.0006 | <0.0006 | <0.0006 | <0.0006
+ 7 wu <3 F 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
i 7 = — ~ 0. 005 | <0.00005 <0. 00005
= ~ o * Z0.0009]<0. 000009 |<0. 000009 <0.000009 |<0.000009
¥ 5  J  om = ) 0.01 <0.0001 | <0.0001 = <0.0001 | <0.0001
S 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
oY) x— (T L—1]) 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
vy X 7 o FF 0.002 | <0.00002 | <0.00002 | <0.00002 | <0.00002
vy 7 F oA 7 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002
= = ¥ = v 0.05 <0.0004 | <0.0005 | <0.0005 | <0.0004
7 4 7 m = 2 [0.0005]<0.000005 |<0.000005 |<0.000005 |<0.000005
7 = = bk v F A& » (MEP) 0.01 <0.0001 | <0.0001 & <0.0001 | <0.0001
7 = /J 7 H ) 7 (BPMC) 0.03 <0.0003 | <0.0003 0.0003 | <0.0003
A VN N 0. 05 <0. 0005 <0. 0005
7 = v F I v (IPP) 0.006 | <0.00006 | <0.00006 = <0.00006 | <0.00006
7 = v k = — k (PAP) 0.007 | <0.00007 | <0.00007 | <0.00007 | <0.00007
7 = ¥ b 7 ¥ I F 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
7 A 7 A K 0.1 <0. 001 <0. 001 <0. 001 <0. 001
7 % s a - ) 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
7 v 3 AN 2 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
7 7 v 7 oz ¥ v 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002
7z A T Y F A 0.03 <0. 0003 <0. 0003
7 v F 7 7 v — )b 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005
7 o ¥ = o 0. 09 <0.0009 | <0.0009 | <0.0009 | <0.0009
7 v F  F kR 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
7 v v oa F v — 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005
7 m v ¥ 3 N 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005
7 m X F Y = 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
7 v € 7 F K 0.1 <0. 001 <0. 001 <0. 001 <0. 001
~ J 3 Y 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002
R - 0.1 <0. 001 <0. 001 <0. 001 <0. 001
R - S 0. 09 <0.0009 | <0.0009 | <0.0009 | <0.0009
N v Y 7 = F v 7 ]0.005] <0.00005 | <0.00005 | <0.00005 | <0.00005
~ v v > v 0.2 <0. 002 <0. 002 <0. 002 <0. 002
B A 0.3 <0. 001 <0. 003 <0. 003 <0. 001
A B 0. 04 <0.0004 | <0.0004 | <0.0004 | <0.0004
RTNFTYr(Rz2E DY) 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
A R 0.07 <0.0007 | <0.0007 | <0.0007 | <0.0007
A 2 F 7 ¥ — k 0.003 | <0.00003 <0. 00003
~ 5 F (=T V) 0.7 <0. 0005 <0. 007 <0.007 | <0.0005
A = 7 wm v 7 (MCPP) 0.05 | <0.00005 | <0.0005 = <0.0005 | <0.00005
# v N v 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
A X 7 X v ) 0.2 <0. 0006 <0. 002 <0.002 | <0.0006
A F X F A » (DNTP) 0.004 | <0.00004 | <0.00004 = <0.00004 | <0.00004
A NI J A Fum v v 0.04 | <0.0004 | <0.0004 | <0.0004 | <0.0004
A Yy T Y 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
A 7 =z F v v b 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
b - o = v 0.1 <0. 001 <0. 001 <0. 001 <0. 001
£ U b — N 0. 005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
i H i) 1 fiE 1 0. 04 0.02 0. 05 0.02
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4. 6 EZEHEN REINERER
=t 5 5 H F A e

mg/L 5H20H 7TH29H 9H9H 11H11H
13-y 7mu o~y (DD) 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005
2,2-DPA(XTIKY) 0.08 <0.0008 | <0.0008 | <0.0008 | <0.0008
2,4 -D @, 4-PA 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
E p N 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
M C p A | 0.005 | <0.00005 | <0.00005 = <0.00005 | <0.00005
7 v o 7 N 0.9 <0. 002 <0. 009 <0. 009 <0. 002
7 t 7 = = b 0.006 | 0.00006 | <0.00006 | <0.00006 | <0.00006
7 b 7 P v 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = I + 2 0.003 | <0.00003 = <0.00003 | <0.00003 | <0.00003
7 2 k 7 Z | 0.006 | <0.00006 <0. 00006
7 5 Z v - 0.03 <0.0001 | <0.0003 | <0.0003 | <0.0001
4 Y X H F A4 > [0.005] <0.00005 | <0.00005 = <0.00005 | <0.00005
4 vV 7 = v K R 0.001 | <0.00001 = <0.00001 | <0.00001 | <0.00001
A4 Y 7 m B 7 (MPC) 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
A4 Y 7S F F 7 3dAPD 0.3 <0. 003 <0. 003 <0. 003 <0. 003
4 7 m X v &k Z (IBP) 0. 09 <0.0002 | <0.0009 | <0.0009 | <0.0002
A4 2 7 oz & ¥ ¥ ]0.006] <0.00006 <0. 00006
A4 v ¥ 2 7 7 » [0.009] <0.00009 | <0.00009 = <0.00009 | <0.00009
= 2 7 v H A 7 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
T N7 xS ry TR 0.08 <0.0008 | <0.0008 | <0.0008 | <0.0008
TURALT 7RV ) 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
F ¥ B Y s om AR v 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002
% v W (H B ) 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
4+ U ¥ 2 b m B v 0.1 <0. 001 <0. 001 <0. 001 <0. 001
7 z i = Z 0. 0006 |<0. 000006 <0. 000006
7 = v Ak m — s [0.008] <0.00008 | <0.00008 & <0.00008 | <0.00008
7 L v v va 0.3 <0. 0008 <0. 003 <0.003 | <0.0008
By N U b (NAO) 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
B & 7 F  » ]0.005] <0.00005 | <0.00005 | <0.00005 | <0.00005
¥ /, 7 5 I ¥ (ACN) |0.005 | <0.00005 @ <0.00005 @ <0.00005 | <0.00005
* ¥ 7 2 Nz 0.3 <0. 003 <0. 003 <0. 003 <0. 003
Y N L = v 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
AR A 2 <0. 02 <0. 02 <0. 02 <0. 02
VAR S SR 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
7 v A 7 w7 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
sm ) =hkna 7 = (CNP) [0.0001] <0.00001 | <0.00001 = <0.00001 | <0.00001
7w L ¥ U Ak A 0.003 | <0.00003 = <0.00003 | <0.00003 | <0.00003
7 mowu % w = )L (TPN) 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005
v 7 2 ¥ > 10.001 [ 0.00001 @ <0.00001 | <0.00001 | <0.00001
v 7 ) & A (CYAP) |0.003 | <0.00003 | <0.00003 @ <0.00003 | <0.00003
Y v om »  (DCMU) 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
Y 7 m <X = 5 ([DBN) 0.03 <0.0001 | <0.0003 | <0.0003 | <0.0001
Y 2z m A K A (DDVP) | 0.008 | <0.00008 | <0.00008 = <0.00008 | <0.00008
D V4 % > I ] 0.005 | <0.00005 <0. 00005
AN KR A FLF A ARY) | 0.004 | <0.00004 | <0.00004 = <0.00004 | <0.00004
CFF A NA—FFR I |0.005 | <0.00005 @ <0.00005 = <0.00005 | <0.00005
D ¥ % = A ]0.009 | <0.00009 @ <0.00009 = <0.00009 | <0.00009
oo m oAk vy 77 F 0 |0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
¥ = ¥ v (CAT) |0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
YA X A kU v 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
Y A F = = ] 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005
D A k J v 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
2 4 7 ¥ 7 » ]0.003] <0.00003 | <0.00003 | <0.00003 | <0.00003
v K N = v 0.8 <0. 008 <0. 008 <0. 008 <0. 008
B AN AR B (F1— 3 0) F R

0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
AFINAYF F T F—FMITC)
¥ 7 v = v 0.1 <0. 001 <0. 001 <0. 001 <0. 001
5 % 7 N 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
F + v o 7 0.08 <0.0008 | <0.0008 | <0.0008 | <0.0008
F AT 7= RAF N 0.3 <0. 003 <0. 003 <0. 003 <0. 003
F oF X H T 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002




4. 6 ZEHN RENERER (22F)

F 7 U A kU F v 0.002 | <0.00002 | <0.00002 | 0.00003 | <0.00002
F v 7 H o 7 (MBPMC) 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
I = S < 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
VU Z v &k v (DEP) 0.005 | <0.00005 | <0.0002 | <0.0002 | <0.00005
FY oYy T Y = 0.1 <0. 0008 <0. 001 <0.001 | <0.0008
A ) BN 0. 06 <0.0006 | <0.0006 | <0.0006 | <0.0006
+ 7 wu <3 F 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
i 7 = — ~ 0. 005 | <0.00005 <0. 00005
= ~ o * Z0.0009]<0. 000009 |<0. 000009 <0.000009 |<0.000009
¥ 5  J  om = ) 0.01 <0.0001 | <0.0001 = <0.0001 | <0.0001
S 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
oY) x— (T L—1]) 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
vy X 7 o FF 0.002 | <0.00002 | <0.00002 | <0.00002 | <0.00002
vy 7 F oA 7 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002
= = ¥ = v 0.05 <0.0004 | <0.0005 | <0.0005 | <0.0004
7 4 7 m = 2 [0.0005] 0.000005 |<0.000005 |<0.000005 | 0.000006
7 = = bk v F A& » (MEP) 0.01 <0.0001 | <0.0001 & <0.0001 | <0.0001
7 = /J 7 H ) 7 (BPMC) 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
A VN N 0. 05 <0. 0005 <0. 0005
7 = v F I v (IPP) 0.006 | <0.00006 | <0.00006 = <0.00006 | <0.00006
7 = v k = — k (PAP) 0.007 | <0.00007 | <0.00007 | <0.00007 | <0.00007
7 = ¥ b 7 ¥ I F 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
7 A 7 A K 0.1 <0. 001 <0. 001 <0. 001 <0. 001
7 % s a - ) 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
7 v 3 AN 2 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
7 7 v 7 oz ¥ v 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002
7z A T Y F A 0.03 <0. 0003 <0. 0003
7 v F 7 7 v — )b 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005
7 o ¥ = o 0. 09 <0.0009 | <0.0009 | <0.0009 | <0.0009
7 v F  F kR 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
7 v v oa F v — 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005
7 m v ¥ 3 N 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005
7 m X F Y = 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
7 v € 7 F K 0.1 <0. 001 <0. 001 <0. 001 <0. 001
~ J 3 Y 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002
R - 0.1 <0. 001 <0. 001 <0. 001 <0. 001
R - S 0. 09 <0.0009 | <0.0009 | <0.0009 | <0.0009
N v Y 7 = F v 7 ]0.005] <0.00005 | <0.00005 | <0.00005 | <0.00005
~ v v > v 0.2 <0. 002 <0. 002 <0. 002 <0. 002
B A 0.3 <0. 001 <0. 003 <0. 003 <0. 001
A B 0. 04 <0.0004 | <0.0004 | <0.0004 | <0.0004
RTNFTYr(Rz2E DY) 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
A R 0.07 <0.0007 | <0.0007 | <0.0007 | <0.0007
A 2 F 7 ¥ — k 0.003 | <0.00003 <0. 00003
~ 5 F (=T V) 0.7 <0. 0005 <0. 007 <0.007 | <0.0005
A = 7 wm v 7 (MCPP) 0.05 | 0.00014 | <0.0005  <0.0005 | <0.00005
# v N v 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
A X 7 X v ) 0.2 <0. 0006 <0. 002 <0.002 | <0.0006
A F X F A » (DNTP) 0.004 | <0.00004 | <0.00004 = <0.00004 | <0.00004
A NI J A Fum v v 0.04 | <0.0004 | <0.0004 | <0.0004 | <0.0004
A Yy T Y 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
A 7 =z F v v b 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
b - o = v 0.1 <0. 001 <0. 001 <0. 001 <0. 001
£ U b — N 0. 005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
i H i) 1 fiE 1 0. 03 <0.01 0. 02 0.01
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1. 4. 7 XEI RIIERER
=t 5 5 H F A e

mg/L 5H20H 7TH29H 9H9H 11H11H
13-y 7mu o~y (DD) 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005
2,2-DPA(XTIKY) 0.08 <0.0008 | <0.0008 | <0.0008 | <0.0008
2,4 -D @, 4-PA 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
E p N 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
M C p A | 0.005 | <0.00005 | <0.00005 = <0.00005 | <0.00005
7 v o 7 N 0.9 <0. 002 <0. 009 <0. 009 <0. 002
7 t 7 = = b 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
7 b 7 v v 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = I + 2 0.003 | <0.00003 = <0.00003 | <0.00003 | <0.00003
7 2 k 7 Z | 0.006 | <0.00006 <0. 00006
7 5 Z v - 0.03 <0.0001 | <0.0003 | <0.0003 | <0.0001
4 Y X H F A4 > [0.005] <0.00005 | <0.00005 = <0.00005 | <0.00005
4 vV 7 = v K R 0.001 | <0.00001 = <0.00001 | <0.00001 | <0.00001
A4 Y 7 m B 7 (MPC) 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
A4 Y 7 u F F T v AP 0.3 <0. 003 <0. 003 <0. 003 <0. 003
4 7 m X v &k Z (IBP) 0. 09 <0.0002 | <0.0009 | <0.0009 | <0.0002
A4 2 7 oz & ¥ ¥ ]0.006] <0.00006 <0. 00006
A4 v ¥ 2 7 7 » [0.009] <0.00009 | <0.00009 = <0.00009 | <0.00009
= 2 7 v H A 7 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
T N7 xS ry TR 0.08 <0.0008 | <0.0008 | <0.0008 | <0.0008
TURALT 7RV ) 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
F ¥ B Y s om AR v 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002
% v W (H B ) 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
4+ U ¥ 2 b m B v 0.1 <0. 001 <0. 001 <0. 001 <0. 001
7 z i = Z 0. 0006 |<0. 000006 <0. 000006
7 = v Ak m — s [0.008] <0.00008 | <0.00008 & <0.00008 | <0.00008
7 L v v va 0.3 <0. 0008 <0. 003 <0.003 | <0.0008
v N U (NAC) 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
B AR 7 5 » [0.005] <0.00005 | <0.00005 = <0.00005 | <0.00005
¥ /, 7 5 I ¥ (ACN) |0.005 | <0.00005 @ <0.00005 @ <0.00005 | <0.00005
* ¥ 7 2 Nz 0.3 <0. 003 <0. 003 <0. 003 <0. 003
Y N L = v 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
AR A 2 <0. 02 <0. 02 <0. 02 <0. 02
VAR S SR 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
7 v A 7 w7 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
sm ) =hkna 7 = (CNP) [0.0001] <0.00001 | <0.00001 = <0.00001 | <0.00001
7w L ¥ U Ak A 0.003 | <0.00003 = <0.00003 | <0.00003 | <0.00003
7 mowu % w = )L (TPN) 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005
v 7 2 v > 10.001 | 0.00003 @ <0.00001 | <0.00001 | <0.00001
v 7 ) & A (CYAP) |0.003 | <0.00003 | <0.00003 @ <0.00003 | <0.00003
Y v om »  (DCMU) 0. 02 <0.0002 | <0.0002 0.0002 | <0.0002
Y 7 m <X = 5 ([DBN) 0.03 <0.0001 | <0.0003 | <0.0003 | <0.0001
Y 2z m A K A (DDVP) | 0.008 | <0.00008 | <0.00008 = <0.00008 | <0.00008
v V4 % > I ] 0.005 | <0.00005 <0. 00005
AN KR A FLF A ARY) | 0.004 | <0.00004 | <0.00004 = <0.00004 | <0.00004
CFF A NA—FFR I |0.005 | <0.00005 @ <0.00005 = <0.00005 | <0.00005
D ¥ %+ = A ]0.009 | <0.00009 @ <0.00009 = <0.00009 | <0.00009
oo m oAk vy 77 F 0 |0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
¥ = ¥ v (CAT) |0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
YA X A kU v 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
Y A F = = ] 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005
v A k J v 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
2 4 7 ¥ » [0.003] <0.00003 | <0.00003 = <0.00003 | <0.00003
v K N = v 0.8 <0. 008 <0. 008 <0. 008 <0. 008
BT AN AR (T — N B) R

0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
AFINAYF F T F—FMITC)
¥ 7 v = v 0.1 <0. 001 <0. 001 <0. 001 <0. 001
¥ 17 7 N 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002
F + v o 7 0.08 <0.0008 | <0.0008 | <0.0008 | <0.0008
F AT 7= RAF N 0.3 <0. 003 <0. 003 <0. 003 <0. 003
F oF X H T 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002




4. 7 KB RENERER (220F)

F 7 U A kU F v 0.002 | <0.00002 | <0.00002 | 0.00003 | <0.00002
F v 7 H o 7 (MBPMC) 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
I = S < 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
VU Z v &k v (DEP) 0.005 | <0.00005 = <0.0002 | <0.0002 | <0.00005
FY oYy T Y = 0.1 <0. 0008 <0. 001 <0.001 | <0.0008
I A 4 0. 06 <0.0006 | <0.0006 | <0.0006 | <0.0006
+ 7 wu <3 F 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
i 7 = — ~ 0.005 | <0.00005 <0. 00005
= ~ o * Z0.0009]<0. 000009 |<0. 000009 <0.000009 |<0.000009
¥ 5  J  om = ) 0.01 <0.0001 | <0.0001 = <0.0001 | <0.0001
S 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
oY) x— (T L—1]) 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002
S R S 0.002 | <0.00002 = <0.00002 | <0.00002 | <0.00002
vy 7 F oA 7 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002
= = ¥ = v 0.05 <0.0004 | <0.0005 | <0.0005 | <0.0004
7 4 7 m = 2 [0.0005]<0.000005 |<0.000005 |<0.000005 |<0.000005
7 = = b v F 4 > (MEP) 0.01 <0.0001 | <0.0001 & <0.0001 | <0.0001
7 = /J 7 H ) 7 (BPMC) 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
7 =z U A v v 0. 05 <0. 0005 <0. 0005
7 = v F I v (IPP) 0.006 | <0.00006 | <0.00006 = <0.00006 | <0.00006
7 = v k = — k (PAP) 0.007 | <0.00007 | <0.00007 | <0.00007 | <0.00007
7 = ¥ b 7 ¥ I F 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
7 A 7 A K 0.1 <0. 001 <0. 001 <0. 001 <0. 001
7 % 7 v — 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
7 v 3 N 2 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
7 7 v 7 = ¥ v 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002
7z A T Y F A 0.03 <0. 0003 <0. 0003
7 v F 5 s v — J 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005
7 v ¥ 3 Ko 0. 09 <0.0009 | <0.0009 | <0.0009 | <0.0009
7 v F  F kR 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
7 v v oa F v — 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005
A= N 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005
7 m X F Y = 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
7 w ® 7 F F 0.1 <0. 001 <0. 001 <0. 001 <0. 001
~ J 3 Y 0.02 <0.0002 | <0.0002 0.0009 | <0.0002
R - 0.1 <0. 001 <0. 001 <0. 001 <0. 001
R - S 0. 09 <0.0009 | <0.0009 | <0.0009 | <0.0009
N v Y 7 = F v 7 [0.005] <0.00005 | <0.00005 = <0.00005 | <0.00005
~ v v v v 0.2 <0. 002 <0. 002 <0. 002 <0. 002
B A 0.3 <0. 001 <0. 003 <0. 003 <0. 001
N v 7T A7 0. 04 <0.0004 | <0.0004 | <0.0004 | <0.0004
Ny TNF Y (R2YY) 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
A R 0.07 <0.0007 | <0.0007 | <0.0007 | <0.0007
A 2 F 7 ¥ — k 0.003 | <0.00003 <0. 00003
~ 5 F (=T V) 0.7 <0. 0005 <0. 007 <0.007 | <0.0005
A = 7 wm v 7 (MCPP) 0.05 | <0.00005 | <0.0005 = <0.0005 | <0.00005
# v N v 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
P A A 2 0.2 <0. 0006 <0. 002 <0.002 | <0.0006
A F X F I > (DMIP) 0.004 | <0.00004 | <0.00004 = <0.00004 | <0.00004
A K I J A b E v 0.04 | <0.0004 | <0.0004 | <0.0004 | <0.0004
A Yy T Y 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
A 7 =z F v v b 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
b - o = v 0.1 <0. 001 <0. 001 <0. 001 <0. 001
£ U S — N 0.005 | <0.00005 = <0.00005 | <0.00005 | <0.00005
i H i) 1 fiE 1 0. 03 <0.01 0.08 <0.01
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1. 4. 8 REN REINERER
=t 5 ® H F A e

mg/L 5H20H 7TH29H 9H9H 11H11H
13-y 7mu o~y (DD) 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005
2,2-DPA(XTIKY) 0.08 <0.0008 | <0.0008 | <0.0008 | <0.0008
2,4 -D @, 4-PA 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
E p N 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
M C p A | 0.005 | <0.00005 | <0.00005 = <0.00005 | <0.00005
7 v o 7 N 0.9 <0. 002 <0. 009 <0. 009 <0. 002
7 t 7 = = b 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
7 b 7 v v 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = I + 2 0.003 | <0.00003 = <0.00003 | <0.00003 | <0.00003
7 2 k 7 Z | 0.006 | <0.00006 <0. 00006
7 5 Z v - 0.03 <0.0001 | <0.0003 | <0.0003 | <0.0001
4 Y X H F A4 > [0.005] <0.00005 | <0.00005 = <0.00005 | <0.00005
4 vV 7 = v K R 0.001 | <0.00001 = <0.00001 | <0.00001 | <0.00001
A4 Y 7 m B 7 (MPC) 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
A4 Y 7S F F 7 3dAPD 0.3 <0. 003 <0. 003 <0. 003 <0. 003
4 7 m X v &k Z (IBP) 0. 09 <0.0002 | <0.0009 | <0.0009 | <0.0002
A4 2 7 oz & ¥ ¥ ]0.006] <0.00006 <0. 00006
A4 v ¥ 2 7 7 » [0.009] <0.00009 | <0.00009 = <0.00009 | <0.00009
= 2 7 v H A 7 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
T N7 xS ry TR 0.08 <0.0008 | <0.0008 | <0.0008 | <0.0008
TURALT 7RV ) 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
F ¥ B Y s om AR v 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002
% v W (H B ) 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
4+ U ¥ 2 b m B v 0.1 <0. 001 <0. 001 <0. 001 <0. 001
7 z i = Z 0. 0006 |<0. 000006 <0. 000006
7 = v Ak m — s [0.008] <0.00008 | <0.00008 & <0.00008 | <0.00008
7 L v v va 0.3 <0. 0008 <0. 003 <0.003 | <0.0008
v N U (NAC) 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
B AR 7 5 » [0.005] <0.00005 | <0.00005 = <0.00005 | <0.00005
¥ /, 7 5 I ¥ (ACN) |0.005 | <0.00005 @ <0.00005 @ <0.00005 | <0.00005
* ¥ 7 2 Nz 0.3 <0. 003 <0. 003 <0. 003 <0. 003
Y N L = v 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
AR A 2 <0. 02 <0. 02 <0. 02 <0. 02
VAR S SR 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
7 v A 7 w7 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
sm ) =hkna 7 = (CNP) [0.0001] <0.00001 | <0.00001 = <0.00001 | <0.00001
7w L ¥ U Ak A 0.003 | <0.00003 = <0.00003 | <0.00003 | <0.00003
7 mowu % w = )L (TPN) 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005
v 7 2 v > 10.001 | 0.00002 = <0.00001 | <0.00001 | <0.00001
v 7 ) & A (CYAP) |0.003 | <0.00003 | <0.00003 @ <0.00003 | <0.00003
Y v om »  (DCMU) 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
Y 7 m <X = 5 ([DBN) 0.03 <0.0001 | <0.0003 | <0.0003 | <0.0001
Y 2z m A K A (DDVP) | 0.008 | <0.00008 | <0.00008 = <0.00008 | <0.00008
D V4 % > I ] 0.005 | <0.00005 <0. 00005
AN KR A FLF A ARY) | 0.004 | <0.00004 | <0.00004 = <0.00004 | <0.00004
CFF A NA—FFR I |0.005 | <0.00005 @ <0.00005 = <0.00005 | <0.00005
D ¥ % = A ]0.009 | <0.00009 @ <0.00009 = <0.00009 | <0.00009
oo m oAk vy 77 F 0 |0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
¥ = ¥ v (CAT) |0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
YA X A kU v 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
Y A F = = ] 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005
D A k J v 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
2 4 7 ¥ 7 » ]0.003] <0.00003 | <0.00003 | <0.00003 | <0.00003
v K N = v 0.8 <0. 008 <0. 008 <0. 008 <0. 008
B AN AR B (F1— 3 0) F R

0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
AFINAYF F T F—FMITC)
¥ 7 v = v 0.1 <0. 001 <0. 001 <0. 001 <0. 001
¥ 17 7 N 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002
F o+ Y o 7 0.08 <0.0008 | <0.0008 | <0.0008 | <0.0008
F AT 7 r—bFAF N 0.3 <0. 003 <0. 003 <0. 003 <0. 003
F oF X N T 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002




N

8 ZREII

RINETR

HER] (DDF)

F 7 U A kU F v 0.002 | <0.00002 | <0.00002 | <0.00002 | <0.00002
F v 7 H o 7 (MBPMC) 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
I = S < 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
VU Z v &k v (DEP) 0.005 | <0.00005 | <0.0002 | <0.0002 | <0.00005
FY oYy T Y = 0.1 <0. 0008 <0. 001 <0.001 | <0.0008
A ) BN 0. 06 <0.0006 | <0.0006 | <0.0006 | <0.0006
+ 7 wu <3 F 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
i 7 = — ~ 0. 005 | <0.00005 <0. 00005
= ~ o * Z0.0009]<0. 000009 |<0. 000009 <0.000009 |<0.000009
¥ 5  J  om = ) 0.01 <0.0001 | <0.0001 = <0.0001 | <0.0001
S 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
oY) x— (T L—1]) 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
vy X 7 o FF 0.002 | <0.00002 | <0.00002 | <0.00002 | <0.00002
vy 7 F oA 7 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002
= = ¥ = v 0.05 <0.0004 | <0.0005 | <0.0005 | <0.0004
7 4 7 m = 2 [0.0005] 0.000010 |<0.000005 |<0.000005 | 0.000018
7 = = bk v F A& » (MEP) 0.01 <0.0001 | <0.0001 & <0.0001 | <0.0001
7 = /J 7 H ) 7 (BPMC) 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
A VN N 0. 05 <0. 0005 <0. 0005
7 = v F I v (IPP) 0.006 | <0.00006 | <0.00006 = <0.00006 | <0.00006
7 = v k = — k (PAP) 0.007 | <0.00007 | <0.00007 | <0.00007 | <0.00007
7 = ¥ b 7 ¥ I F 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
7 A 7 A K 0.1 <0. 001 <0. 001 <0. 001 <0. 001
7 % s a - ) 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
7 v 3 AN 2 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
7 7 v 7 oz ¥ v 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002
7z A T Y F A 0.03 <0. 0003 <0. 0003
7 v F 7 7 v — )b 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005
7 o ¥ = o 0. 09 <0.0009 | <0.0009 | <0.0009 | <0.0009
7 v F  F kR 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
7 v v oa F v — 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005
7 m v ¥ 3 N 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005
7 m X F Y = 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
7 v € 7 F K 0.1 <0. 001 <0. 001 <0. 001 <0. 001
~ J 3 Y 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002
R - 0.1 <0. 001 <0. 001 <0. 001 <0. 001
R - S 0. 09 <0.0009 | <0.0009 | <0.0009 | <0.0009
N v Y 7 = F v 7 ]0.005] <0.00005 | <0.00005 | <0.00005 | <0.00005
~ v v > v 0.2 <0. 002 <0. 002 <0. 002 <0. 002
B A 0.3 <0. 001 <0. 003 <0. 003 <0. 001
A B 0. 04 <0.0004 | <0.0004 | <0.0004 | <0.0004
RTNFTYr(Rz2E DY) 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
A R 0.07 <0.0007 | <0.0007 | <0.0007 | <0.0007
A 2 F 7 ¥ — k 0.003 | <0.00003 <0. 00003
~ 5 F (=T V) 0.7 <0. 0005 <0. 007 <0.007 | <0.0005
A = 7 wm v 7 (MCPP) 0.05 | <0.00005 | <0.0005 = <0.0005 | <0.00005
# v N v 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
A X 7 X v ) 0.2 <0. 0006 <0. 002 <0.002 | <0.0006
A F X F A » (DNTP) 0.004 | 0.00006 | <0.00004 = <0.00004 | <0.00004
A NI J A Mo b v 0.04 | <0.0004 | <0.0004 | <0.0004 | <0.0004
A Yy T Y 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
A 7 =z F v v b 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
b - o = v 0.1 <0. 001 <0. 001 <0. 001 <0. 001
£ U b — N 0. 005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
i H i) 1 fiE 1 0. 06 <0.01 <0.01 0. 04
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4. 9 ®EIl MARBERE
=t B 3 H F A fE 2 7k A A

mg/L | 5H20H 6H10H 7TH29H 8H12H 9H9H
13-y 7 mu~a~y(DD) 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
2,2-DPA(XTEKY) 0.08 | <0.0008 = <0.0008 | <0.0008 | <0.0008  <0.0008
2,4 -D@Q,4-PA 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002  <0.0002
E p N 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 @ <0.00004
M C p A | 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 & <0.00005
7 v o 7 N 0.9 <0. 009 <0. 009 <0. 002 <0. 009 <0. 009
7 v 7 = = b 0. 006 | <0.00006 | <0.00002 | <0.00006 | <0.00006 = <0.0002
7 b v v v 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = = * 2 0.003 | <0.00003 | <0. 00003 | <0. 00003 | <0.00003 | <0.00003
7 2 k 7 Z | 0.006 <0. 00006
7 5 J 9w - 0.03 | <0.0003 | <0.0003 | <0.0001 | <0.0003 | <0.0003
A4 Y X H F A4 > [0.005]<0.00005 <0.00005 | <0.00005 | <0.00005 @ <0.00005
4 vV 7 = v Kk R 0.001 | <0.00001 | <0.00001 | <0.00001 | <0.00001 | <0.00001
A4 Y 7 m H 7 (MPC) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
A4 Y 7 u F F 7 v 3JAPD 0.3 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003
4 7 m X v & Z (IBP) 0.09 | <0.0009 = <0.0009 | <0.0002 | <0.0009  <0.0009
A4 2 J 2z 2 ¥ v [o0.006 <0. 00006
A4 v % 2 7 7 ¥ [0.009]<0.00009 <0.0004 | <0.00009 | <0.00009 = <0.0004
™ 2 7 v H A 7 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
T k7 v S Ey TR 0.08 | <0.0008 = <0.0008 | <0.0008 | <0.0008  <0.0008
TURANL T 7 (R TE V) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
EE T R Sl I 0.02 | <0.0002 = <0.0004 | <0.0002 | <0.0002 & <0.0004
X v v M (H ) 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 = <0.0003
4+ U % 2 b m B v 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
7 z i N 2 10.0006 <0. 000006 <0. 000006 <0. 000006
J 7 = v Ak m — s [0.008]<0.00008  <0.00008 | <0.00008 | <0.00008 @ <0.00008
7 L v v va 0.3 <0.003 | <0.0008 | <0.0008 <0.003 | <0.0008
By N U b (NAO) 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 & <0.0002
B &® 7 F  » ]0.005 [<0.00005 | <0.00005 <0.00005 | <0.00005 | <0.00005
¥ /, 7 5 I ¥ (ACN) | 0.005 |<0.00005 | <0.00005 | <0.00005 | <0.00005 @ <0.00005
* ¥ 7 2 Nz 0.3 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003
Y N L = v 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
AR A 2 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02
VAR S SR 0.02 | <0.0002 <0.0002 | <0.0002
7 v A 7 w7 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 = <0.0002
sm ) =hkna 7 = (CNP) [0.0001]<0.00001 |<0.00002 | <0.00001 |<0.00001 | <0.00002
7 m L ¥ U Ak A 0.003 | <0.00003 | <0. 00003 | <0.00003 | <0.00003 | <0.00003
s/ m wm % v = )b (TPN) 0.05 | <0.0005  <0.0005 | <0.0005 | <0.0005  <0.0005
D 7 v v > ]0.001 | <0.00001 | <0.00001  <0.00001 | <0.00001 | <0.00001
> 7 ) & A  (CYAP) 0. 003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
Y voom »  (DCMU) 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
Y 7 m <X = , (DBN) 0.03 | <0.0003 = <0.0003 | <0.0001 | <0.0003  <0.0003
Y 7 v o A 2z (DDVP) 0.008 | <0.00008 | <0.0005 | <0.00008 | <0.00008 & <0.0005
¥ 7 % v k 0. 005 <0. 00005 | <0. 00005 <0. 00005
P ANVKRNAZTF VT F AR ) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 @ <0.00004
CFF AN NA— TR I 0.005 | <0. 00005 <0. 00005 | <0. 00005
¥ ba % = v 0.009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009
yonwm ok vy ST F N 0.006 | <0. 00006 | <0.00006 | <0.00006 | <0.00006 @ <0.00006
¥ = ¥ v  (CAT) | 0.003 |<0.00003 | <0.00005 | <0.00003 |<0.00003 @ <0.00005
YA X A kU v 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002  <0.0002
R 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
D A k J v 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
2 4 7 ¥ 7 ]0.003]<0.00003 | <0.00003 <0.00003 |<0.00003 | <0.00003
v K N = v 0.8 <0. 008 <0. 008 <0. 008 <0. 008 <0. 008
B AN AR B (T — " 0) F R

0.01 | <0.0001 <0.0001 | <0.0001
AF VAV F F T F—FMITC)
¥ 7 D = I 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
5 7% 7 U 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 & <0.0002
F v o 7 0.08 | <0.0008 | <0.0008 | <0.0008 | <0.0008 = <0.0008
F AT 7= RAF N 0.3 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003
F oA X AN T 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 = <0.0002




4. 9 EIN WAKEBEER (020F)

F 7 U A kU F v 0.002 | 0.00043 | 0.00033 | 0.00006 | 0.00005 | <0.00008
F v 7 H o 7 (MBPMC) 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 = <0.0002
[ = S < 0. 006 | <0. 00006 | <0. 00006 | <0.00006 | <0.00006 | <0.00006
U Z v &k » (DEP) 0.005 | <0.0002 | <0.0005 | <0.00005 | <0.0002 = <0.0005
MUY T Y = L 0.1 <0. 001 <0.001 | <0.0008 <0. 001 <0. 001
Y7o T 0.06 | <0.0006 = <0.0006 | <0.0006 | <0.0006  <0.0006
F 7 w3 N 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
23 7 = — k 0. 005 <0. 00005

= ~ o * Z10.0009 K0. 000009 | <0.00005 K0.000009 <0.000009 <0.000009
¥ 5  J  om = ) 0.01 0. 0002 0.0001 | <0.0001 | <0.0001 | <0.0001
S 0. 004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
oY) x— (T L—1]) 0.02 | <0.0002 | <0.0004 | <0.0002 | <0.0002 | <0.0004
vy X 7 o FF 0. 002 | <0.00002 | <0.0002 | <0.00002 | <0.00002 = <0.0002
vy 7 F o 7 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002  <0.0002
= o ¥ o v 0.05 | <0.0005 = <0.0005 | <0.0004 | <0.0005  <0.0005
7 4 7 m = 2 [0.0005K0.000005 <0.000005 K0.000005 K0.000005 <0.000005
7 = = kv F 4 > (MEP) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = J 7 H ) 7 (BPMC) 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
7 = U A v 0.05 <0. 0005 | <0.0005 <0. 0005
7 = v F F v (IPP) 0. 006 | <0. 00006 | <0. 00006 | <0.00006 | <0.00006 | <0.00006
7 = ¥ k = — K (PAP) 0.007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 | <0.00007
7 = v k7 ¥ I F 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
7 V2 7 A N 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
7 % 7 m - 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
7 b 2 + 2 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002  <0.0002
7 7 v 7 oz ¥ v 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002  <0.0002
7z A T Y F A 0.03 <0. 0003 | <0.0003 <0. 0003
7 v F 7 7 v — )b 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 o ¥ = Ko 0.09 | <0.0009 = <0.0009 | <0.0009 | <0.0009 = <0.0009
7 v F  F kR 0. 004 | <0.00004 <0. 00004 | <0. 00004

7 v v oa F v — 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 m v ¥ 3 N 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 = <0.0005
7 m X F Y = 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
7 v € 7 F K 0.1 0. 001 <0. 001 <0. 001 <0. 001 <0. 001
~ J 3 2 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002  <0.0002
R - 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
R - 0.09 | <0.0009 = <0.0009 | <0.0009 | <0.0009 = <0.0009
N Y 7 = F v 7 10,005 [<0.00005 | <0.00005  <0.00005 | <0.00005 | <0.00005
~ v v v v 0.2 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
ST 4 AR v 0.3 <0. 003 <0. 003 <0. 001 <0. 003 <0. 003
A 0.04 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004
Ry TATY v ( Rz Py) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
~ v 7 v k& — k 0.07 | <0.0007 = <0.0007 | <0.0007 | <0.0007  <0.0007
A 2 F 7 ¥ — 0. 003 <0. 00003 | <0.00003 0. 00005
~ 5 F L (=T V) 0.7 <0. 007 <0.007 | <0.0005 <0. 007 <0. 007
A = 7w oy 7 (MCPP) 0.05 | <0.0005  <0.0005 | <0.00005 | <0.0005  <0.0005
A v N v 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003 & <0.0003
A KX 7 X ¥ L 0.2 <0. 002 <0.002 | <0.0006 <0. 002 <0. 002
A F F F I > (DMIP) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
A NI A Fu vV 0.04 | <0.0004 = <0.0004 | <0.0004 | <0.0004 = <0.0004
A Yy T Y 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A 7 =z F v v b 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002  <0.0002
b v =t = L 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
£ U b — N 0. 005 | <0. 00005 | <0. 00005 | <0.00005 | <0.00005 | <0.00005
i H i) 1 & 1 0. 25 0.175 0.03 0.03 0.02
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4. 10 &Nl WAKXBEE
=t B 3 H F A fE 2 7k A A

mg/L | 5H20H 6H10H 7TH29H 8H12H 9H9H
13-y 7 mu~a~y(DD) 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
2,2-DPA(XTEKY) 0.08 | <0.0008 = <0.0008 | <0.0008 | <0.0008  <0.0008
2,4 -D@Q,4-PA 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002  <0.0002
E p N 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 @ <0.00004
M C p A | 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 & <0.00005
7 v o 7 N 0.9 <0. 009 <0. 009 <0. 002 <0. 009 <0. 009
7 v 7 = = b 0.006 | <0.00006 | <0. 00002 | <0. 00006 | <0.00006 = <0.0002
7 b v v v 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = = * 2 0.003 | <0.00003 | <0. 00003 | <0. 00003 | <0.00003 | <0.00003
7 2 k 7 Z | 0.006 <0. 00006
7 5 J 9w - 0.03 | <0.0003 | <0.0003 | <0.0001 | <0.0003 | <0.0003
A4 Y X H F A4 > [0.005]<0.00005 <0.00005 | <0.00005 | <0.00005 @ <0.00005
4 vV 7 = v Kk R 0.001 | <0.00001 | <0.00001 | <0.00001 | <0.00001 | <0.00001
A4 Y 7 m H 7 (MPC) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
A4 Y 7 u F F 7 v 3JAPD 0.3 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003
4 7 m X v & Z (IBP) 0.09 | <0.0009 = <0.0009 | <0.0002 | <0.0009  <0.0009
A4 2 J 2z 2 ¥ v [o0.006 <0. 00006
A4 v % 2 7 7 ¥ [0.009]<0.00009 <0.0004 | <0.00009 | <0.00009 = <0.0004
™ 2 7 v H A 7 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
T k7 v S Ey TR 0.08 | <0.0008 = <0.0008 | <0.0008 | <0.0008  <0.0008
TURANL T 7 (R TE V) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
EE T R Sl I 0.02 | <0.0002 = <0.0004 | <0.0002 | <0.0002 & <0.0004
X v v M (H ) 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 = <0.0003
4+ U % 2 b m B v 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
7 z i N 2 10.0006 <0. 000006 <0. 000006 <0. 000006
J 7 = v Ak m — s [0.008]<0.00008  <0.00008 | <0.00008 | <0.00008 @ <0.00008
7 L v v va 0.3 <0.003 | <0.0008 | <0.0008 <0.003 | <0.0008
v N U (NAC) 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 & <0.0002
B AR 75 [0.005]<0.00005  <0.00005 | <0.00005 | <0.00005 @ <0.00005
¥ /, 7 5 I ¥ (ACN) | 0.005 |<0.00005 | <0.00005 | <0.00005 | <0.00005 @ <0.00005
* ¥ 7 2 Nz 0.3 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003
Y N L = v 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
AR A 2 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02
VAR S SR 0.02 | <0.0002 <0.0002 | <0.0002
7 v A 7 w7 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002  <0.0002
sm ) =hkna 7 = (CNP) [0.0001]<0.00001 |<0.00002 | <0.00001 |<0.00001 | <0.00002
7 m L ¥ U Ak A 0.003 | <0.00003 | <0. 00003 | <0.00003 | <0.00003 | <0.00003
s/ m wm % v = )b (TPN) 0.05 | <0.0005  <0.0005 | <0.0005 | <0.0005  <0.0005
D 7 v v > ]0.001 | <0.00001 | <0.00001  <0.00001 | <0.00001 | <0.00001
> 7 ) & A  (CYAP) 0. 003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
Y voom »  (DCMU) 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
Y 7 m <X = , (DBN) 0.03 | <0.0003 = <0.0003 | <0.0001 | <0.0003  <0.0003
Y 7 v o A 2z (DDVP) 0.008 | <0.00008 | <0.0005 | <0.00008 | <0.00008 & <0.0005
¥ 7 % v k 0. 005 <0. 00005 | <0. 00005 <0. 00005
P ANVKRNAZTF VT F AR ) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 @ <0.00004
CFF AN NA— TR I 0.005 | <0. 00005 <0. 00005 | <0. 00005
¥ ba % = v 0.009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009
yonwm ok vy ST F N 0.006 | <0. 00006 | <0.00006 | <0.00006 | <0.00006 @ <0.00006
¥ = ¥ v  (CAT) | 0.003 |<0.00003 | <0.00005 | <0.00003 |<0.00003 @ <0.00005
YA X A kU v 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002  <0.0002
R 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
D A k J v 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
2 4 7 ¥ 2 » [0.003]<0.00003  <0.00003 | <0.00003 | <0.00003 | <0.00003
v K N = v 0.8 <0. 008 <0. 008 <0. 008 <0. 008 <0. 008
B AN AR B (T — " 0) F R

0.01 | <0.0001 <0.0001 | <0.0001
AF VAV F F T F—FMITC)
¥ 7 v = V2 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
¥ 1% 7 N 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 & <0.0002
F v o 7 0.08 | <0.0008 = <0.0008 | <0.0008 | <0.0008  <0.0008
F AT 7= RAF N 0.3 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003
F oA X AN T 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 & <0.0002




4. 10 &N HAXEER (0D0F)

F 7 U A kU F v 0.002 | 0.00039 | 0.00035 | 0.00006 | 0.00005 | <0.00008
F v 7 H o 7 (MBPMC) 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002  <0.0002
[ = S < 0. 006 | <0. 00006 | <0. 00006 | <0.00006 | <0.00006 | <0.00006
Y 2 v ok > (DEP) 0.005 | <0.0002 | <0.0005 | <0.00005 | <0.0002 = <0.0005
MUY T Y = L 0.1 <0. 001 <0.001 | <0.0008 <0. 001 <0. 001
I A 2 0.06 | <0.0006 = <0.0006 | <0.0006 | <0.0006  <0.0006
F 7 w3 r 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
23 7 = — k 0. 005 <0. 00005

= ~ o * Z10.0009 K0. 000009 | <0.00005 K0.000009 <0.000009 <0.000009
¥ 5  J  om = ) 0.01 0. 0001 0.0001 | <0.0001 | <0.0001 | <0.0001
S 0. 004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
oY) x— (T L—1]) 0.02 | <0.0002 = <0.0004 | <0.0002 | <0.0002 = <0.0004
S R S 0.002 | <0.00002 | <0.0002 | <0.00002 | <0.00002 = <0.0002
vy 7 F o 7 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002  <0.0002
= o ¥ o v 0.05 | <0.0005 = <0.0005 | <0.0004 | <0.0005  <0.0005
7 4 7 m = 2 [0.0005K0.000005 <0.000005 K0.000005 K0.000005 <0.000005
7 = = kv F 4 > (MEP) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = J 7 H ) 7 (BPMC) 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
7 = U A Y v 0.05 <0. 0005 | <0.0005 <0. 0005
7 = v F F v (IPP) 0. 006 | <0. 00006 | <0. 00006 | <0.00006 | <0.00006 | <0.00006
7 = ¥ k = — K (PAP) 0.007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 | <0.00007
7 = v k7 ¥ I F 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
7 V2 7 A N 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
7 % 7 m - 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
7 b 2 + 2 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002  <0.0002
7 7 v 7 oz ¥ v 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002  <0.0002
7z A T Y F A 0.03 <0. 0003 | <0.0003 <0. 0003
7 v F 5 7 v — J 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 v ¥ 3 N 0.09 | <0.0009 = <0.0009 | <0.0009 | <0.0009 = <0.0009
7 v F  F kR 0. 004 | <0.00004 <0. 00004 | <0. 00004

7 v v oa F v — 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
A= N 0.05 | <0.0005  <0.0005 | <0.0005 | <0.0005  <0.0005
7 m X F Y = 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
7 w ® 7 F F 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
~ J 3 2 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002  <0.0002
R - 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
R - 0.09 | <0.0009 = <0.0009 | <0.0009 | <0.0009 = <0.0009
N v Y 7 = F v 7 [0.005]<0.00005  <0.00005 | <0.00005 | <0.00005 @ <0.00005
~ v v v v 0.2 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
ST 4 AR v 0.3 <0. 003 <0. 003 <0. 001 <0. 003 <0. 003
X 7T Hh T 0.04 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004
Ry TATY v ( Rz Py) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
~ v 7 v k& — k 0.07 | <0.0007 = <0.0007 | <0.0007 | <0.0007  <0.0007
A 2 F 7 ¥ — 0.003 <0. 00003 | <0.00003 0. 00006
~ 5 F L (=T V) 0.7 <0. 007 <0.007 | <0.0005 <0. 007 <0. 007
A = 7w oy 7 (MCPP) 0.05 | <0.0005  <0.0005 | <0.00005 | <0.0005  <0.0005
A v N v 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003 & <0.0003
A KX 7 X ¥ L 0.2 <0. 002 <0.002 | <0.0006 <0. 002 <0. 002
A F F F I > (DMIP) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
A K I J A bu v v 0.04 | <0.0004 = <0.0004 | <0.0004 | <0.0004 = <0.0004
A Yy T Y 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A 7 =z F v v b 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002  <0.0002
b v o = L 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
£ U S — N 0. 005 | <0.00005 | <0. 00005 | <0. 00005 | <0.00005 @ <0.00005
i H i) 1 & 1 0.21 0. 185 0.03 0.03 0.02
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4. 11 FN ENERER
=t 5 5 H F A e

mg/L 5H20H 7TH29H 9H9H 11H11H
13-y 7mu o~y (DD) 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005
2,2-DPA(XTIKY) 0.08 <0.0008 | <0.0008 | <0.0008 | <0.0008
2,4 -D @, 4-PA 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
E p N 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
M C p A | 0.005 | <0.00005 | <0.00005 = <0.00005 | <0.00005
7 v o 7 N 0.9 <0. 002 <0. 009 <0. 009 <0. 002
7 t 7 = = b 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
7 b 7 P v 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = I + 2 0.003 | <0.00003 = <0.00003 | <0.00003 | <0.00003
7 2 k 7 Z | 0.006 | <0.00006 <0. 00006
7 5 Z v - 0.03 <0.0001 | <0.0003 | <0.0003 | <0.0001
4 Y X H F A4 > [0.005] <0.00005 | <0.00005 = <0.00005 | <0.00005
4 vV 7 = v K R 0.001 | <0.00001 = <0.00001 | <0.00001 | <0.00001
A4 Y 7 m B 7 (MPC) 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
A4 Y 7S F F 7 3dAPD 0.3 <0. 003 <0. 003 <0. 003 <0. 003
4 7 m X v &k Z (IBP) 0. 09 <0.0002 | <0.0009 | <0.0009 | <0.0002
A4 2 7 oz & ¥ ¥ ]0.006] <0.00006 <0. 00006
A4 v ¥ 2 7 7 » [0.009] <0.00009 | <0.00009 = <0.00009 | <0.00009
= 2 7 v H A 7 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
T N7 xS ry TR 0.08 <0.0008 | <0.0008 | <0.0008 | <0.0008
TURALT 7RV ) 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
F ¥ B Y s om AR v 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002
% v W (H B ) 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
4+ U ¥ 2 b m B v 0.1 <0. 001 <0. 001 <0. 001 <0. 001
7 z i = Z 0. 0006 |<0. 000006 <0. 000006
7 = v Ak m — s [0.008] <0.00008 | <0.00008 & <0.00008 | <0.00008
7 L v v va 0.3 <0. 0008 <0. 003 <0.003 | <0.0008
By N U b (NAO) 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
B & 7 F  » ]0.005] <0.00005 | <0.00005 | <0.00005 | <0.00005
¥ /, 7 5 I ¥ (ACN) |0.005 | <0.00005 @ <0.00005 @ <0.00005 | <0.00005
* ¥ 7 2 Nz 0.3 <0. 003 <0. 003 <0. 003 <0. 003
Y N L = v 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
AR A 2 <0. 02 <0. 02 <0. 02 <0. 02
VAR S SR 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
7 v A 7 w7 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
sm ) =hkna 7 = (CNP) [0.0001] <0.00001 | <0.00001 = <0.00001 | <0.00001
7w L ¥ U Ak A 0.003 | <0.00003 = <0.00003 | <0.00003 | <0.00003
7 mowu % w = )L (TPN) 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005
v 7 2 ¥ > 10.001 [ 0.00004 @ <0.00001 | <0.00001 | <0.00001
v 7 ) & A (CYAP) |0.003 | <0.00003 | <0.00003 @ <0.00003 | <0.00003
Y v om »  (DCMU) 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
Y 7 m <X = 5 ([DBN) 0.03 <0.0001 | <0.0003 | <0.0003 | <0.0001
Y 2z m A K A (DDVP) | 0.008 | <0.00008 | <0.00008 = <0.00008 | <0.00008
D V4 % > I ] 0.005 | <0.00005 <0. 00005
AN KR A FLF A ARY) | 0.004 | <0.00004 | <0.00004 = <0.00004 | <0.00004
CFF A NA—FFR I |0.005 | <0.00005 @ <0.00005 = <0.00005 | <0.00005
D ¥ % = A ]0.009 | <0.00009 @ <0.00009 = <0.00009 | <0.00009
oo m oAk vy 77 F 0 |0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
¥ = ¥ v (CAT) |0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
YA X A kU v 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
Y A F = = ] 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005
D A k J v 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
2 4 7 ¥ 7 » ]0.003] <0.00003 | <0.00003 | <0.00003 | <0.00003
v K N = v 0.8 <0. 008 <0. 008 <0. 008 <0. 008
B AN AR B (F1— 3 0) F R

0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
AFINAYF F T F—FMITC)
¥ 7 v = v 0.1 <0. 001 <0. 001 <0. 001 <0. 001
5 % 7 N 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
F + v o 7 0.08 <0.0008 | <0.0008 | <0.0008 | <0.0008
F AT 7= RAF N 0.3 <0. 003 <0. 003 <0. 003 <0. 003
F oF X H T 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002




4. 11 FN ENERER (0DF)

F 7 U A kU F v 0.002 | <0.00002 | <0.00002 | <0.00002 | <0.00002
F v 7 H o 7 (MBPMC) 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
I = S < 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
VU Z v &k v (DEP) 0.005 | <0.00005 | <0.0002 | <0.0002 | <0.00005
YooY T Y = 0.1 <0. 0008 <0. 001 <0.001 | <0.0008
A ) BN 0. 06 <0.0006 | <0.0006 | <0.0006 | <0.0006
+ 7 wu <3 F 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
i 7 = — ~ 0. 005 | <0.00005 <0. 00005
= ~ o * Z0.0009]<0. 000009 |<0. 000009 <0.000009 |<0.000009
¥ 5  J  om = ) 0.01 0.0003 | <0.0001 | <0.0001 | <0.0001
S 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
oY) x— (T L—1]) 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
vy X 7 o FF 0.002 | <0.00002 | <0.00002 | <0.00002 | <0.00002
vy 7 F oA 7 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002
= = ¥ = v 0.05 <0. 0004 0.0005 | <0.0005 | <0.0004
7 4 7 wm = 2 [0.0005] 0.000007 |<0.000005 |<0.000005 |<0.000005
7 = = bk v F A& » (MEP) 0.01 <0.0001 | <0.0001 & <0.0001 | <0.0001
7 = /J 7 H ) 7 (BPMC) 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
A VN N 0. 05 <0. 0005 <0. 0005
7 = v F I v (IPP) 0.006 | <0.00006 | <0.00006 = <0.00006 | <0.00006
7 = v k = — k (PAP) 0.007 | <0.00007 | <0.00007 | <0.00007 | <0.00007
7 = ¥ b 7 ¥ I F 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
7 A 7 A K 0.1 <0. 001 <0. 001 <0. 001 <0. 001
7 % s a - ) 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
7 v 3 AN 2 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
7 7 v 7 oz ¥ v 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002
7z A T Y F A 0.03 <0. 0003 <0. 0003
7 v F 7 7 v — )b 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005
7 o ¥ = o 0. 09 <0.0009 | <0.0009 | <0.0009 | <0.0009
7 v F  F kR 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
7 v v oa F v — 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005
7 m v ¥ 3 N 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005
7 m X F Y = 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
7 v € 7 F K 0.1 <0. 001 <0. 001 <0. 001 <0. 001
~ J 3 Y 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002
R - 0.1 <0. 001 <0. 001 <0. 001 <0. 001
R - S 0. 09 <0.0009 | <0.0009 | <0.0009 | <0.0009
N v Y 7 = F v 7 ]0.005] <0.00005 | <0.00005 | <0.00005 | <0.00005
~ v v > v 0.2 <0. 002 <0. 002 <0. 002 <0. 002
B A 0.3 <0. 001 <0. 003 <0. 003 <0. 001
A B 0. 04 <0.0004 | <0.0004 | <0.0004 | <0.0004
RTNFTYr(Rz2E DY) 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
A R 0.07 <0.0007 | <0.0007 | <0.0007 | <0.0007
A 2 F 7 ¥ — k 0.003 | <0.00003 <0. 00003
~ 5 F (=T V) 0.7 <0. 0005 <0. 007 <0.007 | <0.0005
A = 7 wm v 7 (MCPP) 0.05 | <0.00005 | <0.0005 = <0.0005 | <0.00005
# v N v 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
A X 7 X v ) 0.2 <0. 0006 <0. 002 <0.002 | <0.0006
A F X F A » (DNTP) 0.004 | <0.00004 | <0.00004 = <0.00004 | <0.00004
A NI J A Fum v v 0.04 | <0.0004 | <0.0004 | <0.0004 | <0.0004
A Yy T Y 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003
A 7 =z F v v b 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002
b - o = v 0.1 <0. 001 <0. 001 <0. 001 <0. 001
£ U b — N 0. 005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
i H i) 1 fiE 1 0. 08 0.01 <0.01 <0.01
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4. 12 &Nl BRXBEE
=t B 3 H F A fE 2 7k A A

mg/L | 5H20H 6H10H 7TH29H 8H12H 9H9H
13-y 7 mu~a~y(DD) 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
2,2-DPA(XTEKY) 0.08 | <0.0008 = <0.0008 | <0.0008 | <0.0008  <0.0008
2,4 -D@Q,4-PA 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002  <0.0002
E p N 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 @ <0.00004
M C p A | 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 & <0.00005
7 v o 7 N 0.9 <0. 009 <0. 009 <0. 002 <0. 009 <0. 009
7 v 7 = = b 0.006 | <0.00006 | <0. 00002 | <0. 00006 | <0.00006 = <0.0002
7 b v v v 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = = * 2 0.003 | <0.00003 | <0. 00003 | <0. 00003 | <0.00003 | <0.00003
7 2 k 7 Z | 0.006 <0. 00006
7 5 J 9w - 0.03 | <0.0003 | <0.0003 | <0.0001 | <0.0003 | <0.0003
A4 Y X H F A4 > [0.005]<0.00005 <0.00005 | <0.00005 | <0.00005 @ <0.00005
4 vV 7 = v Kk R 0.001 | <0.00001 | <0.00001 | <0.00001 | <0.00001 | <0.00001
A4 Y 7 m H 7 (MPC) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
A4 Y 7 u F F 7 v 3JAPD 0.3 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003
4 7 m X v & Z (IBP) 0.09 | <0.0009 = <0.0009 | <0.0002 | <0.0009  <0.0009
A4 2 J 2z 2 ¥ v [o0.006 <0. 00006
A4 v % 2 7 7 ¥ [0.009]<0.00009 <0.0004 | <0.00009 | <0.00009 = <0.0004
™ 2 7 v H A 7 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
T k7 v S Ey TR 0.08 | <0.0008 = <0.0008 | <0.0008 | <0.0008  <0.0008
TURANL T 7 (R TE V) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
EE T R Sl I 0.02 | <0.0002 = <0.0004 | <0.0002 | <0.0002 & <0.0004
X v v M (H ) 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 = <0.0003
4+ U % 2 b m B v 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
7 z i N 2 10.0006 <0. 000006 <0. 000006 <0. 000006
J 7 = v Ak m — s [0.008]<0.00008  <0.00008 | <0.00008 | <0.00008 @ <0.00008
7 L v v va 0.3 <0.003 | <0.0008 | <0.0008 <0.003 | <0.0008
v N U (NAC) 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 & <0.0002
B AR 75 [0.005]<0.00005  <0.00005 | <0.00005 | <0.00005 @ <0.00005
¥ /, 7 5 I ¥ (ACN) | 0.005 |<0.00005 | <0.00005 | <0.00005 | <0.00005 @ <0.00005
* ¥ 7 2 Nz 0.3 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003
Y N L = v 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
AR A 2 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02
VAR S SR 0.02 | <0.0002 <0.0002 | <0.0002
7 v A 7 w7 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002  <0.0002
sm ) =hkna 7 = (CNP) [0.0001]<0.00001 |<0.00002 | <0.00001 |<0.00001 | <0.00002
7 m L ¥ U Ak A 0.003 | <0.00003 | <0. 00003 | <0.00003 | <0.00003 | <0.00003
s/ m wm % v = )b (TPN) 0.05 | <0.0005  <0.0005 | <0.0005 | <0.0005  <0.0005
D 7 v v > ]0.001 | <0.00001 | <0.00001  <0.00001 | <0.00001 | <0.00001
> 7 ) & A  (CYAP) 0. 003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
Y voom »  (DCMU) 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
Y 7 m <X = , (DBN) 0.03 | <0.0003 = <0.0003 | <0.0001 | <0.0003  <0.0003
Y 7 v o A 2z (DDVP) 0.008 | <0.00008 | <0.0005 | <0.00008 | <0.00008 & <0.0005
v 7 % v k 0. 005 <0. 00005 | <0. 00005 <0. 00005
P ANVKRNAZTF VT F AR ) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 @ <0.00004
CFF AN NA— TR I 0.005 | <0. 00005 <0. 00005 | <0. 00005
¥ ba % = v 0.009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009
yonwm ok vy ST F N 0.006 | <0. 00006 | <0.00006 | <0.00006 | <0.00006 @ <0.00006
¥ = ¥ v  (CAT) | 0.003 |<0.00003 | <0.00005 | <0.00003 |<0.00003 @ <0.00005
YA X A kU v 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002  <0.0002
R 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
v A k J v 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
2 4 7 ¥ 2 » [0.003]<0.00003  <0.00003 | <0.00003 | <0.00003 | <0.00003
v K N = v 0.8 <0. 008 <0. 008 <0. 008 <0. 008 <0. 008
B AN AR B (T — " 0) F R

0.01 | <0.0001 <0.0001 | <0.0001
AF VAV F F T F—FMITC)
¥ 7 v = V2 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
¥ 1% 7 N 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 & <0.0002
F v o 7 0.08 | <0.0008 = <0.0008 | <0.0008 | <0.0008  <0.0008
F AT 7= RAF N 0.3 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003
F oA X AN T 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 & <0.0002




4. 12 &N BRXEER (020F)

F 7 U A kb U F v 0.002 | 0.00049 | 0.00037 | 0.00007 | 0.00006 | <0.00008
F AL 7 H A 7 (MBPMC) 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002  <0.0002
[ = S < 0. 006 | <0. 00006 | <0. 00006 | <0.00006 | <0.00006 | <0.00006
Y 2 v ok > (DEP) 0.005 | <0.0002 | <0.0005 | <0.00005 | <0.0002 = <0.0005
MUY T Y = L 0.1 <0. 001 <0.001 | <0.0008 <0. 001 <0. 001
I A 2 0.06 | <0.0006 = <0.0006 | <0.0006 | <0.0006  <0.0006
+ 7 w3 r 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
23 7 = — k 0. 005 <0. 00005

= ~ o * Z10.0009 K0. 000009 | <0.00005 K0.000009 <0.000009 <0.000009
¥ 5  J  om = ) 0.01 0. 0002 0.0001 | <0.0001 | <0.0001 | <0.0001
S 0. 004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
oY) x— (T L—1]) 0.02 | <0.0002 = <0.0004 | <0.0002 | <0.0002 = <0.0004
S R S 0.002 | <0.00002 | <0.0002 | <0.00002 | <0.00002 = <0.0002
vy 7 F o 7 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002  <0.0002
= o ¥ o v 0.05 | <0.0005 = <0.0005 | <0.0004 | <0.0005  <0.0005
7 4 7 m = 2 [0.0005K0.000005 <0.000005 K0.000005 K0.000005 <0.000005
7 = = kv F 4 > (MEP) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = J 7 H ) 7 (BPMC) 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
7 = U A Y v 0.05 <0. 0005 | <0.0005 <0. 0005
7 = v F F v (IPP) 0. 006 | <0. 00006 | <0. 00006 | <0.00006 | <0.00006 | <0.00006
7 = ¥ k = — K (PAP) 0.007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 | <0.00007
7 = v k7 ¥ I F 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
7 V2 7 A N 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
7 % 7 m - 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
7 b 2 + 2 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002  <0.0002
7 7 v 7 = ¥ v 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002  <0.0002
7z A T Y F A 0.03 <0. 0003 | <0.0003 <0. 0003
7 v F 5 7 v — J 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 v ¥ 3 N 0.09 | <0.0009 = <0.0009 | <0.0009 | <0.0009 = <0.0009
7 v F  F kR 0. 004 | <0.00004 <0. 00004 | <0. 00004

7 v v oa F v — 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
A= r 0.05 | <0.0005  <0.0005 | <0.0005 | <0.0005  <0.0005
7 m X F Y = 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
7 w ® 7 F F 0.1 0. 001 <0. 001 <0. 001 <0. 001 <0. 001
~ J 3 2 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002  <0.0002
R - 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
R - 0.09 | <0.0009 = <0.0009 | <0.0009 | <0.0009 = <0.0009
N v Y 7 = F v 7 [0.005]<0.00005  <0.00005 | <0.00005 | <0.00005 @ <0.00005
~ v v v v 0.2 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
ST 4 AR v 0.3 <0. 003 <0. 003 <0. 001 <0. 003 <0. 003
X 7T Hh T 0.04 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004
RyTALTY o (RAaIPY) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
~ v 7 v k& — k 0.07 | <0.0007 = <0.0007 | <0.0007 | <0.0007  <0.0007
A 2 F 7 ¥ — k 0.003 <0. 00003 | <0.00003 0. 00006
~ 5 F L (=T V) 0.7 <0. 007 <0.007 | <0.0005 <0. 007 <0. 007
A = 7w oy 7 (MCPP) 0.05 | <0.0005  <0.0005 | <0.00005 | <0.0005  <0.0005
A v N v 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003 & <0.0003
A2 T F ¥ 0.2 <0. 002 <0.002 | <0.0006 <0. 002 <0. 002
A F F F I > (DMIP) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
A K I J A bu v v 0.04 | <0.0004 = <0.0004 | <0.0004 | <0.0004 = <0.0004
A Yy T Y 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A 7 = F & v b 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002  <0.0002
b v o = v 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
£ U S — r 0. 005 | <0.00005 | <0. 00005 | <0. 00005 | <0.00005 @ <0.00005
i H i) 1 & 1 0. 28 0.195 0. 04 0.03 0.02
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4. 13 &Nl BRXEBAEE
=t B 3 H F A fE £ K H H

mg/L | 5H20H | 6H10H | 7TH29H @ 8HI12H 9H9H
13-y 7 mu o~y (DD) 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
2,2-DPA(XTIKY) 0.08 | <0.0008 = <0.0008 | <0.0008 | <0.0008  <0.0008
2,4 -D @, 4-PA 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 = <0.0002
E p N 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
M C p A | 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 = <0.00005
7 v o 7 N 0.9 <0. 009 <0. 009 <0. 002 <0. 009 <0. 009
7 v 7 = = b 0. 006 | <0. 00006 | <0.00002 | <0.00006 | <0.00006 | <0.0002
7 b v v v 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = = * 2 0.003 | <0.00003 | <0. 00003 | <0.00003 | <0.00003 | <0.00003
7 2 k 7 Z | 0.006 <0. 00006
7 5 J 9w - 0.03 | <0.0003 | <0.0003 | <0.0001 | <0.0003 | <0.0003
A4 Y X H F A4 » [0.005]<0.00005  <0.00005 | <0.00005 | <0.00005 = <0.00005
4 vV 7 = v K R 0.001 | <0.00001 | <0.00001 | <0.00001 | <0.00001 | <0.00001
A4 Y 7 m H ) 7 (MPC) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
A4 Y 7 F F 7 3IPD 0.3 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003
{4 7 m X v &k Z (IBP) 0.09 | <0.0009 = <0.0009 | <0.0002 | <0.0009 = <0.0009
A4 2 J v Z ¥ v ]0.006 <0. 00006
A4 v % 2 7 7 » [0.009]<0.00009 = <0.0004 | <0.00009 |<0.00009 = <0.0004
z 2 7 v H A 7 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003 = <0.0003
T N7 xS rmy TR 0.08 | <0.0008 = <0.0008 | <0.0008 | <0.0008  <0.0008
TURANL T 7 (R TE V) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
F ¥ b Y s om AR v 0.02 | <0.0002 = <0.0004 | <0.0002 | <0.0002 = <0.0004
X v v M (H ) 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 = <0.0003
4+ U % 2 b m B v 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
7 z i = 2 10.0006 <0. 000006 <0. 000006 <0. 000006
J 7 = v Ak m — s [0.008]<0.00008 | <0.00008 | <0.00008 | <0.00008 & <0.00008
7 L v > va 0.3 <0.003 | <0.0008 | <0.0008 <0.003 | <0.0008
v N U (NAC) 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 = <0.0002
B AR 7 5 » [0.005]<0.00005 | <0.00005 | <0.00005 | <0.00005 & <0.00005
¥ /, 7 5 I ¥ (ACN) | 0.005 [<0.00005 | <0.00005 | <0.00005 | <0.00005 = <0.00005
* ¥ 7 2 v 0.3 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003
Y 3 2 o v 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003 = <0.0003
7 U Kk H = b 2 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02
VAR S SR 0.02 | <0.0002 <0.0002 | <0.0002
7 v A 7 w7 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 = <0.0002
s w =k 7 = (CNP) [0.0001]<0.00001 | <0.00002 | <0.00001 | <0.00001 @ <0.00002
V- 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
s/ m m % v = )b (TPN) 0.05 | <0.0005 = <0.0005 | <0.0005 | <0.0005  <0.0005
D 7 5 v > 10.001 | <0.00001 | <0.00001 | <0.00001 | <0.00001 | <0.00001
v 7 ) & A (CYAP) |0.003 [<0.00003 | <0.00003 | <0.00003 | <0.00003 = <0.00003
Y v oom »  (DCMU) 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
Y 7 m <X = , (DBN) 0.03 | <0.0003 = <0.0003 | <0.0001 | <0.0003  <0.0003
Y s/ v o A & (DDVP) 0.008 | <0.00008 | <0.0005 | <0.00008 | <0.00008 | <0.0005
v Vi 1% > k 0. 005 <0. 00005 | <0. 00005 <0. 00005
2NN AZTF VT F AR Y) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
CFF AN NA— R I 0.005 | <0. 00005 <0. 00005 | <0. 00005
v ba * = N 0.009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009
yonm &k vy ST F L 0.006 | <0.00006 | <0. 00006 | <0.00006 | <0.00006 | <0.00006
¥ = ¥ ¥ (CAT) |0.003 [<0.00003 | <0.00005 | <0.00003 | <0.00003 = <0.00005
YA X A kU v 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 = <0.0002
R 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
D A k j v 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003 = <0.0003
2 4 7 ¥ » [0.003]<0.00003 | <0.00003 | <0.00003 | <0.00003 & <0.00003
v A IN o v 0.8 <0. 008 <0. 008 <0. 008 <0. 008 <0. 008
B AN AR B (T — " 0) F R

0.01 | <0.0001 <0.0001 | <0.0001
AF VAV F F T F—FMITC)
¥ 7 v = V2 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0.001
¥ 1% 7 N 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 = <0.0002
F F T o 7 0.08 | <0.0008 = <0.0008 | <0.0008 | <0.0008  <0.0008
F AT 7= RAF N 0.3 <0. 003 <0. 003 <0. 003 <0. 003 <0.003
F oA X AN T 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 = <0.0002




4. 13 &N BfREXEER (020F)

F 7 U A kU F v 0.002 | 0.00045 | 0.00039 | 0.00006 | 0.00004 | <0.00008
F v 7 H o 7 (MBPMC) 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 = <0.0002
I =T = 0. 006 | <0. 00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
Y 2 v A ok > (DEP) 0.005 | <0.0002 | <0.0005 | <0.00005 | <0.0002 | <0.0005
MYy T Y = L 0.1 <0. 001 <0.001 | <0.0008 <0. 001 <0. 001
I A 4 0.06 | <0.0006 = <0.0006 | <0.0006 | <0.0006  <0.0006
F 7 w3 r 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
a 7 = — b 0. 005 <0. 00005

= ~ o * 2 0.0009 K0. 000009 | <0. 00005 <0.000009 K0.000009 <0.000009
¥y om = 0.01 0. 0001 0.0001 | <0.0001 | <0.0001 | <0.0001
S A 0. 004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
oY) x— (T L—1]) 0.02 | <0.0002 = <0.0004 | <0.0002 | <0.0002  <0.0004
S R S 0. 002 | <0.00002 | <0.0002 | <0.00002 | <0.00002 | <0.0002
vy 7 F o 7 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 = <0.0002
= o ¥ o v 0.05 | <0.0005 = <0.0005 | <0.0004 | <0.0005  <0.0005
7 4 7 m = 2 [0.0005K0.000005 <0.000005 K0.000005 K0.000005 <0.000005
7 = = kv F 4 > (MEP) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = J 7 H ) 7 (BPMC) 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
A N 2 0.05 <0. 0005 | <0.0005 <0. 0005
7 = v F F v (IPP) 0. 006 | <0.00006 | <0. 00006 | <0.00006 | <0.00006 | <0.00006
7 = v k = — K (PAP) 0.007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 | <0.00007
7 = ¥ b 7 ¥ I F 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
7 V2 7 A N 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
7 % 7 m - 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003  <0.0003
7 v 2 + 2 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 = <0.0002
7 7 v 7 oz ¥ v 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 = <0.0002
7z A T Y F A 0.03 <0. 0003 | <0.0003 <0. 0003
7 v F 5 s v — J 0.05 | <0.0005 = <0.0005 | <0.0005 | <0.0005  <0.0005
7 v ¥ 3 Ko 0.09 | <0.0009 = <0.0009 | <0.0009 | <0.0009 = <0.0009
7 v F  F kR 0. 004 | <0.00004 <0. 00004 | <0. 00004

7 v v oa F v — 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 m ¥ ¥ 3 r 0.05 | <0.0005 = <0.0005 | <0.0005 | <0.0005  <0.0005
7 m X F Y = 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003 = <0.0003
7 w ® 7 F F 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
~ J 3 2 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 = <0.0002
R - 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
R - S 0.09 | <0.0009 = <0.0009 | <0.0009 | <0.0009 = <0.0009
N v Y 7 = F v 7 0,005 ]<0.00005 | <0.00005 | <0.00005 | <0.00005 & <0.00005
~ v b v Nz 0.2 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
B A 0.3 <0. 003 <0. 003 <0. 001 <0. 003 <0. 003
X 7T h T 0.04 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004
Ny TATY v ( Rz YY) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
~ vy 7 v k& — b 0.07 | <0.0007 = <0.0007 | <0.0007 | <0.0007 = <0.0007
A 2 F 7 ¥ — k 0.003 <0. 00003 | <0.00003 0. 00006
~ S5 F L (=T V) 0.7 <0. 007 <0.007 | <0.0005 <0. 007 <0. 007
A = 7 wm oy 7 (MCPP) 0.05 | <0.0005 = <0.0005 | <0.00005 | <0.0005  <0.0005
A v 3 2 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003 = <0.0003
P A A S 2 0.2 <0. 002 <0.002 | <0.0006 <0. 002 <0. 002
A F K F F > (DMIP) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
A K I J A b v v 0.04 | <0.0004 = <0.0004 | <0.0004 | <0.0004 = <0.0004
A S 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A 7 =z F v v b 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 = <0.0002
b v o = L 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
£ U S — b 0. 005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
i H i) 1 & 1 0. 24 0.21 0.03 0. 02 0.02

BRI FEL, Xt R IR ANME R R 14TH B A JE LT,
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1.5 FERTHEK

B ok B A KB R A 2 — RAKEREE R A2 — BPKBR R 2 & — HrEbE X AT
LR T A LI BRI WNIER] e NI WNERT]

A OB o A B || &om S Yy (EE & B K | EE| R B K R
kS i c 4 30.5 9.8 208 4 33.2 8.8 19.3| 4 31.3 7.0 20.1
7K i C 4 25.3 17.5 222 4 25.5 17.5 221 4 24.6 17.5 21.4
x 15 MPN/100mL| 4| 23000 1500 12000 | 4 9300 42 4500 [ 4 4300 230 2800
ARIV AR BZOAE D me/L 4| <0.0003 | <0.0003 | <0.0003 | 4 [ <0.0003 | <0.0003 | <0.0003 | 4 | <0.0003 | <0.0003 | <0.0003
K Kk O E O A W mg/lL 4 1€0.00005 [<0.00005 [<0.00005 | 4 [<0.00005 [<0.00005 |<0.00005 | 4 |<0.00005 [<0.00005 [<0.00005
L vk O™E O E W mg/L 4] <0.001 | <0.001 | <0.001| 4| <0.001| <0.001| <0.001 | 4| <0.001| <0.001| <0.001
w & O £ o b & W meg/L 4 0.003 | <0.001 | <0.001 | 4 0.001 | <0.001 | <0.001 4 0.003 [ <0.001 | <0.001
bt E &k B Z ot dE& B meg/L 4| 0.0012 | 0.0006 | 0.0009 | 4| 0.0016 | 0.0011| 0.0013 | 4| 0.0046 | 0.0030 [ 0.0037
KoMl 7 2 A b A ¥ mg/L 4] <0.002 | <0.002 | <0.002| 4| <0.002| <0.002| <0.002| 4| <0.002| <0.002| <0.002
ffio g B B = F| mg/L 4 0.025 0.005 0.014 | 4 0.060 0.008 0.027 4 0.023 | <0.004 0.009
o7 et ROHALS 7| mg/L 4] <0.001 | <0.001| <0.001| 4| <0.001| <0.001| <0.001| 4 0.001 | <0.001 | <0.001
7 v #F K RNZET O A W mg/L 4 0.09 0.08 0.09 | 4 0.09 0.08 0.08| 4 0.12 0.09 0.10
T F Kk O®E O A W mg/L 4 0.05 0.03 0.04 | 4 0.05 0.02 0.04 | 4 0.05 0.04 0.05
s} # it I’q #| mg/L 2| <0.0001 | <0.0001 | <0.0001 | 2 [ <0.0001 | <0.0001 | <0.0001 | 2| <0.0001 | <0.0001 | <0.0001
4- ¥ 4 ¥ | mg/L 2| <0.002 | <0.002 | <0.002| 2| <0.002| <0.002| <0.002| 2| <0.002| <0.002| <0.002
B '{;;;2:1/;3?:;3; ;Xi(ﬁ mg/L 2| <0.0004 | <0.0004 | <0.0004 | 2| <0.0004 | <0.0004 | <0.0004 | 2| <0.0004 | <0.0004 | <0.0004
Y 7 m v A % | mg/L 2| <0.001 | <0.001 | <0.001| 2 <0.001| <0.001| <0.001| 2| <0.001| <0.001| <0.001
FhZ 7 vu=xJF L mgl 2| <0.0001 | <0.0001 | <0.0001 | 2 [ <0.0001 | <0.0001 | <0.0001 | 2| 0.0002 | 0.0002 | 0.0002
Y 7 v e = F L > mgl 2| <0.0003 | <0.0003 | <0.0003 | 2 [ <0.0003 | <0.0003 | <0.0003 | 2| <0.0003 | <0.0003 | <0.0003
~ v + > mg/L 2| <0.001 | <0.001 | <0.001| 2 <0.001| <0.001| <0.001 | 2| <0.001| <0.001| <0.001
g # fiz| mg/L 4| <0.001 [ <0.001| <0.001| 4 0.002 | <0.001 [ <0.001| 4| <0.001| <0.001| <0.001
o Kk O % Ot A& W mg/L 4 <0.1 <0.1 0.1 4 <0.1 <0.1 Q0.1 4 0.2 <€0.1 <€0.1
g Kk O % O bt & ¥ mg/L 4 0.08 0.04 0.06 | 4 0.27 0.07 0.16 | 4 0.08 €0.03 0.04
Kk ™ F o bk A | me/L 4 <€0.1 <€0.1 0.1 4 <0.1 <0.1 0.1 4 <0.1 €0.1 <0.1
<~ H Rk OBZE O E W meg/L 4 0.042 0.020 0.031| 4 0.043 0.019 0.030 | 4 0.033 0.026 0.030
gl 1 ¥ 4 A | mg/L 4 83 57 72| 4 72 37 56 | 4 52 34 44
= A4 A4 v Fom i§ P Al me/L 2 €0.02 €0.02 €0.02 | 2 €0.02 €0.02 €0.02| 2 <€0.02 <€0.02 <€0.02
A4 A v Fom & M Al mg/L 2 0.010 0.010 0.010 | 2 0.023 0.009 0.016 | 2 0.019 0.008 0.014
7 = 7 — A #H mgL 2| <0.0005 | <0.0005 | <0.0005 | 2 [ <0.0005 | <0.0005 | <0.0005 | 2| <0.0005 | <0.0005 | <0.0005
AW (2R FH(TOC) D )| mg/L 4 3.7 3.2 3.5 4 5.4 3.5 46| 4 4.0 2.9 3.5
pH fiEl 4 7.0 6.8 6.9 4 7.3 7.1 72| 4 7.2 7.1 7.1
B £ 4 TOKE | 4 AR | 4 59 Tk 5
) B i3 4 20 20 2| 4 40 14 23| 4 12 8 10
% i B 4 3.0 2.0 2.8 4 4.0 1.0 20| 4 2.0 1.0 1.3
" TryFEUVROZDONE W mg/L 4] 0.00024 | 0.00017 | 0.00021 | 4 [ 0.00131 | 0.00074 | 0.00097 | 4 | 0.00034 | 0.00022 | 0.00027
By 7 v kX o d B mg/L 4] <0.0001 | <0.0001 | <0.0001 | 4 [ <0.0001 | <0.0001 | <0.0001 | 4 | <0.0001 | <0.0001 | <0.0001
=y v kO ZE O E W me/L 4 0.004 0.002 0.003 | 4 0.004 0.001 0.003 | 4 0.001 0.001 0.001
oo v 7 v v = % o mg/L 2| <0.0001 | <0.0001 | <0.0001 | 2 [ <0.0001 | <0.0001 | <0.0001 | 2| <0.0001 | <0.0001 | <0.0001
E“ﬁ k v - >| mg/L 2| <0.006 | <0.006 | <0.006 | 2| <0.006 | <0.006| <0.006 | 2| <0.006| <0.006 | <0.006
21,1,1- PV 7 vom = & | mg/L 2| <0.003 | <0.003 | <0.003| 2| <0.003| <0.003| <0.003| 2| <0.003| <0.003 | <0.003
E AF)V-t-7F = —F L(MTBE)| mg/L 2] <0.0002 | <0.0002 | <0.0002 | 2| <0.0002 | <0.0002 | <0.0002 | 2| <0.0002 | <0.0002 | <0.0002
é‘ A EGR N VBN A )| mg/L 4 14.8 11.4 13.7] 4 19.8 11.2 15.6 | 4 13.2 8.6 10.8
LI- Y 7= F Ly mgl 2| <0.001 | <0.001 | <0.001| 2 <0.001| <0.001| <0.001| 2| <0.001| <0.001| <0.001
BN 7] ] HE(MPN/100mL| 4 [ 430000 | 23000 | 190000 | 4| 23000 4300 14000 | 4| 150000 7500 | 61000
H kS = i #| pS/cm 4 501 384 454 | 4 558 305 450 | 4 441 358 388
z % i L) |l mg/L 4 8 4 6| 4 9 3 5| 4 5 2 3
w7 v # U FE| mg/L 4 41.2 32.4 369 4 67.9 51.5 59.5 | 4 58.0 49.3 53.5
I 17 i #| meg/L 4 8.4 7.6 8.2 4 9.6 8.7 9.1 4 14.5 8.5 12.5
Pz g (1 2 1 8 % % oK it (BOD)|  me/L 4 4.9 2.3 3.8 4 3.8 1.7 24| 4 4.8 2.2 3.0
% 4 B O % E (260nm) 4 0.084 0.062 0.071 | 4 0.105 0.070 0.087 | 4 0.088 0.035 0.056
i [ fi% A Z > mg/L 4 43 30 39| 4 72 26 51 4 36 26 33
7 v ® = 7 & % #| mg/lL 4 0.10 0.05 0.07 | 4 0.28 0.07 0.13 | 4 0.07 0.02 0.04
| i3 fi& g #| meg/L 4 6.6 4.5 57| 4 4.8 2.3 4.1 4 3.3 2.5 2.9
& %= #| meg/L 4 7.1 4.8 6.0 4 5.3 2.7 4.6 4 3.6 2.8 3.2
sua Lk O E O A W meg/L 4 <€0.002 [ <0.002| <0.002 | 4| <0.002| <0.002 | <0.002| 4| <0.002 | <0.002| <0.002
H BRYU N 2 & v AR B me/L 2 0.073 0.061 0.067 | 2 0.085 0.048 0.067 | 2 0.061 0.034 0.048
WA T AL G WA RE] mg/L 2 0.33 0.20 0.26 | 2 0.31 0.28 0.29 | 2 0.24 0.19 0.21
H b by B 4 2860 2180 2510 | 4 2640 1010 1700 | 4 2240 291 889




1.5 EXEFHK(DDEF)

B oK B FPIKBRBE R 2 — w2 — b2 —
HE B LR FEBRAE R TR TN ERT

A OB o A B || &om S Yy (EE & B K | EE| R B K R

kS i c 4 30.7 12.0 214 4 29.7 7.5 19.1] 4 25.6 9.4 16.9
7K i C 4 23.5 17.1 211 4 24.6 18.7 224 4 26.3 20.0 23.6
K 1% MPN/100mL| 4 4300 230 1700 | 4 <3.0 <3.0 3.0 4 43 <3.0 11
ARIV AR BT OAE D meg/L 4] <0.0003 | <0.0003 | <0.0003 | 4 [ <0.0003 | <0.0003 | <0.0003 | 4 | <0.0003 | <0.0003 | <0.0003
K Kk OE O A B mg/lL 4 1€0.00005 [<0.00005 [<0.00005 | 4 [<0.00005 [<0.00005 |<0.00005 | 4 |<0.00005 [<0.00005 [<0.00005
L v kWO E O E W mg/lL 4] <0.001 | <0.001 | <0.001| 4| <0.001| <0.001| <0.001 | 4| <0.001| <0.001| <0.001
) K O F o bt A& | meg/L 4| <0.001 | <0.001 | <0.001| 4| <0.001| <0.001| <0.001 | 4| <0.001| <0.001| <0.001
EE K QXZ oA B mg/L 4 0.0017 | 0.0014 | 0.0016 | 4| 0.0011| 0.0010 | 0.0011 | 4| 0.0008 | 0.0006 | 0.0007
KoMl 7 2 A b A ¥ mg/L 4] <0.002 | <0.002 | <0.002| 4| <0.002| <0.002| <0.002| 4| <0.002| <0.002| <0.002
ffio g B B = F| mg/L 4 0.039 0.013 0.020 | 4 0.102 0.006 0.043 4 0.007 [ <0.004 | <0.004
o7 emar e ROHALS 7| mg/L 4| <0.001 | <0.001 | <0.001| 4| <0.001| <0.001| <0.001| 4| <0.001| <0.001| <0.001
7y #F Ak W®E O A W mg/L 4 0.14 0.10 0.12 | 4 0.13 0.12 0.13 4 0.10 0.07 0.09
T E K OEOA W mg/L 4 0.05 0.04 0.05 4 0.09 0.08 0.09| 4 0.09 0.08 0.08
s} # it I’% #| mg/L 2| <0.0001 | <0.0001 | <0.0001 | 2 [ <0.0001 | <0.0001 | <0.0001 | 2| <0.0001 | <0.0001 | <0.0001
4- ¥ 4 F ¥ | mg/L 2| <0.002 | <0.002 | <0.002| 2| <0.002| <0.002| <0.002| 2 0.003 | <0.002 | <0.002
B '{;;lfjl/zfi‘;ﬁz; ;559 mg/L 2| <0.0004 | <0.0004 | <0.0004 | 2| <0.0004 | <0.0004 | <0.0004 | 2| <0.0004 | <0.0004 | <0.0004
Y 7 m v A % | mg/L 2| <0.001 | <0.001 | <0.001| 2 <0.001| <0.001| <0.001| 2| <0.001| <0.001| <0.001
FhZ 7 vu=xJF L mgl 2| 0.0019 | 0.0006 [ 0.0013 | 2 [ <0.0001 | <0.0001 | <0.0001 | 2| <0.0001 | <0.0001 | <0.0001
Y 7 v e = F L > mgl 2| <0.0003 | <0.0003 | <0.0003 | 2| <0.0003 | <0.0003 | <0.0003 | 2| <0.0003 | <0.0003 | <0.0003
~ v + > mg/L 2| <0.001 | <0.001 | <0.001| 2 <0.001| <0.001| <0.001 | 2| <0.001| <0.001| <0.001
g # izl mg/L 4 0.002 | <0.001 0.001 | 4| <0.001| <0.001| <0.001 | 4| <0.001| <0.001]| <0.001
o K& O % o b A& W mg/L 4 <0.1 <0.1 0.1 4 <0.1 <0.1 0.1 4 <0.1 <0.1 <0.1
g Kk O % O {t & ®| mg/L 4 0.13 0.05 0.08 | 4 0.04 0.04 0.04 | 4 0.07 0.06 0.07
MOk ™ E o b & W me/L 4 <€0.1 <€0.1 0.1 4 <0.1 <0.1 0.1 4 <0.1 €0.1 <0.1
<~ H Rk OBZE O E W meg/L 4 0.060 0.030 0.045 | 4 0.044 0.037 0.039 | 4 0.004 | <0.001 0.002
gl 1 ¥ 4 A | mg/L 4 41 27 34| 4 49 39 45| 4 59 53 56
= A4 A4 v Fom i§ P Al me/L 2 €0.02 €0.02 €0.02 | 2 €0.02 €0.02 €0.02| 2 €0.02 €0.02 €0.02
A4 A v Fom & M Al mg/L 2 0.011 0.010 0.011| 2 0.017 0.012 0.015| 2 0.015 0.009 0.012
7 = J — A | mg/L 2| <0.0005 | <0.0005 | <0.0005 | 2 [ <0.0005 | <0.0005 | <0.0005 | 2| <0.0005 | <0.0005 | <0.0005
AW (2R #H(TOC) D )| mg/L 4 3.7 3.0 3.3 4 4.9 4.5 47| 4 5.3 4.4 4.9
pH fiEl 4 6.8 6.7 6.7 4 7.3 7.2 73| 4 7.2 7.0 7.1
B £ 4 59 K& [ 4 5 FKE [ 4 55 T k5
& 3 4 4 20 10 14| 4 24 14 18] 4 50 12 24
%) iy B 4 2.0 1.0 141 4 1.5 0.5 08| 4 0.5 €0.5 €0.5
TrvIFELYROZONMED meg/L 4] 0.00100 | 0.00061 | 0.00083 | 4 | 0.00026 | 0.00017 | 0.00022 | 4 | 0.00031 | 0.00020 | 0.00026
22'7 vk W®E O A W me/L 4| <0.0001 | <0.0001 | <0.0001 | 4 [ <0.0001 | <0.0001 | <0.0001 | 4 | <0.0001 | <0.0001 | <0.0001
=y v kO ZE O E W me/L 4 0.003 0.002 0.002 | 4 0.004 0.004 0.004 | 4 0.002 0.002 0.002
oo v 7 v v = % o mg/L 2| <0.0001 | <0.0001 | <0.0001 | 2 [ <0.0001 | <0.0001 | <0.0001 | 2| <0.0001 | <0.0001 | <0.0001
Eg‘ k v - >| mg/L 2| <0.006 | <0.006 | <0.006 | 2| <0.006 | <0.006| <0.006 | 2| <0.006| <0.006 | <0.006
201,1,1- bV 27 oo = & | mg/L 2| <0.003 | <0.003 | <0.003| 2| <0.003| <0.003| <0.003| 2| <0.003| <0.003 | <0.003
E|AF V-7 F L= —F L(MTBE)| me/L 2| <0.0002 | <0.0002 | <0.0002 | 2 [ <0.0002 | <0.0002 | <0.0002 | 2| <0.0002 | <0.0002 | <0.0002
Iéi A EGR I VBN AHE )| mg/L 4 11.6 9.2 104 4 15.2 12.4 13.9| 4 17.6 6.6 13.0
LI- Y 7= F L mgl 2| <0.001 | <0.001 | <0.001| 2 <0.001| <0.001| <0.001| 2| <0.001| <0.001| <0.001
BN 7] ] HE(MPN/100mL| 4 [ 23000 1500 14000 | 4 23 <3.0 76| 4 4300 3.0 1100
H kS = £ #| pS/cm 4 355 279 314 | 4 409 352 387 | 4 538 452 503

z # i L7} Bl mg/L 4 7 <1 3| 4 1 <1 A 4 <1 <1 <1
w7 v # U FE| mg/L 4 33.9 29.1 31.9 4 68.3 61.3 64.8 | 4 73.3 56.7 64.8
7w 17 i #| meg/L 4 8.5 7.6 8.0 4 9.6 8.6 9.0 4 8.6 7.1 8.1
Pz gy (2 1 8 % % oK it BOD)|  me/L 4 4.4 1.3 29| 4 3.2 0.4 1.3 4 0.7 0.2 0.5
% 4 B O % E (260nm) 4 0.072 0.053 0.059 | 4 0.092 0.077 0.083 | 4 0.132 0.095 0.113
i [ fif A Z | me/L 4 40 29 35 4 31 24 28| 4 79 41 59
7 v ® = 7 & % #| mg/lL 4 0.08 0.07 0.07 | 4 0.27 0.09 0.19 | 4 0.03 €0.02 €0.02
| i3 fi& E #| meg/L 4 7.1 5.3 6.2 4 5.7 4.6 53| 4 6.9 5.1 6.1
& £ #| me/L 4 7.4 5.7 6.5 4 6.1 5.1 58| 4 7.3 5.6 6.5
sua Lk O®E O A W mg/L 4 0.002 | <0.002 | <0.002 | 4| <0.002 | <0.002| <0.002| 4| <0.002| <0.002| <0.002

H WU oNwm A B v A K RE| meg/L 2 0.057 0.049 0.053 | 2 0.078 0.059 0.069 | 2 0.077 0.060 0.069
EHEWA T LG W ERKRE] me/L 2 0.27 0.19 0.23] 2 0.34 0.18 0.26 | 2 0.37 0.25 0.31
H bin i B 4 1790 1370 1570 | 4 2460 1960 2230 | 4 3620 2840 3170




1.5 EXEFHK(DDEF)

A=F AT T

BINE AR T8

KPR Ge T Lk T 45

S H, al
AT FINE A PRI A FIAT R A
A OB o A B || &om S Yy (EE & B K | EE| R B K R
kS i c 4 26.5 6.4 165 4 28.8 8.7 178 4 27.5 7.1 17.5
7K i C 4 29.4 18.8 235 4 26.1 17.8 219 4 25.2 15.8 21.0
x 15 MPN/100mL| 4 1500 43 640 | 4 230 <3.0 87| 4 9.2 <3.0 <3.0
ARIV AR BZOAAE D me/L 4| <0.0003 | <0.0003 | <0.0003 | 4 [ <0.0003 | <0.0003 | <0.0003 | 4 | <0.0003 | <0.0003 | <0.0003
K Kk O E O A W mg/lL 4 1€0.00005 [<0.00005 [<0.00005 | 4 [<0.00005 [<0.00005 |<0.00005 | 4 |<0.00005 [<0.00005 [<0.00005
L vk O™E O E W mg/L 4] <0.001 | <0.001 | <0.001| 4| <0.001| <0.001| <0.001 | 4| <0.001| <0.001| <0.001
w & O £ o b & W meg/L 4 0.001 [ <0.001 | <0.001 | 4 0.002 0.001 0.001 4 0.003 [ <0.001 0.002
bt E &k B Z ot E& B meg/lL 4| 0.0014 | <0.0005 [ 0.0007 | 4 [ <0.0005 | <0.0005 | <0.0005 | 4| 0.0044 | 0.0014 [ 0.0031
KoMl 7 2 A b A ¥ mg/L 4] <0.002 | <0.002 | <0.002| 4| <0.002| <0.002| <0.002| 4| <0.002| <0.002| <0.002
ffio o M B = F| mg/L 4 0.060 0.009 0.027 | 4 0.248 0.036 0.126 4 0.016 | <0.004 0.008
o7 et ROMAs 7| mg/L 4] <0.001 | <0.001| <0.001| 4| <0.001| <0.001| <0.001| 4 0.002 | <0.001 | <0.001
7 v #F Kk W®E O A W mg/L 4 0.14 0.11 0.13| 4 0.09 0.06 0.08 4 0.14 0.05 0.09
T FEF Kk O®E O A W mg/L 4 0.02 <€0.01 0.01 | 4 0.15 0.12 0.14 | 4 0.11 0.02 0.07
e} e 4 R #| mg/L 2| <0.0001 | <0.0001 | <0.0001 | 2 [ <0.0001 | <0.0001 | <0.0001 | 2| <0.0001 | <0.0001 | <0.0001
4- ¥ 4 ¥ | mg/L 2| <0.002 | <0.002 | <0.002| 2| <0.002| <0.002| <0.002| 2| <0.002| <0.002| <0.002
B '{;;lxzjl/zfiiiz; ;559 mg/L 2| <0.0004 | <0.0004 | <0.0004 | 2| <0.0004 | <0.0004 | <0.0004 | 2| <0.0004 | <0.0004 | <0.0004
Y 7 m v A % | mg/L 2| <0.001 | <0.001 | <0.001| 2 <0.001| <0.001| <0.001| 2| <0.001| <0.001| <0.001
FhZ 7 vu=xJF L mgl 2| <0.0001 | <€0.0001 [ <0.0001 | 2 [ <0.0001 [ <0.0001 | <0.0001 | 2| 0.0001 | <0.0001 | <0.0001
Y 7 BB = F L o> mgl 2| <0.0003 | <0.0003 | <0.0003 | 2 [ <0.0003 | <0.0003 | <0.0003 | 2| <0.0003 | <0.0003 | <0.0003
~ v + > mg/L 2| <0.001 | <0.001 | <0.001| 2 <0.001| <0.001| <0.001 | 2| <0.001| <0.001| <0.001
g # izl mg/L 4] <0.001 | <0.001| <0.001| 4| <0.001| <0.001| <0.001| 4 0.017 | <0.001 0.006
o K& O % o b A& W mg/L 4 <0.1 <0.1 0.1 4 0.3 0.2 0.3 4 <0.1 <0.1 <0.1
g Kk O % O {t & ®| mg/L 4 0.21 0.07 0.13 | 4 0.18 0.10 0.16 | 4 2.67 0.84 1.79
MOk ™ E o b & W me/L 4 <€0.1 <€0.1 0.1 4 0.8 0.6 0.7 4 <0.1 <0.1 <0.1
v H Rk OBZE O E W meg/L 4 0.041 0.015 0.026 | 4 0.022 0.013 0.015| 4 0.298 0.020 0.173
gl 1 ¥ 4 A | mg/L 4 28 21 24| 4 32 28 30 4 53 17 37
= A4 A4 v Rom i§ P Al me/L 2 €0.02 €0.02 €0.02 | 2 €0.02 €0.02 €0.02| 2 <€0.02 €0.02 <€0.02
A4 A v Fom & M Al mg/L 2 0.012 0.008 0.010 | 2 0.140 0.058 0.099 | 2 0.011 | <0.005 0.006
7 = 7 — A | mg/lL 2| <0.0005 | <0.0005 | <0.0005 | 2 [ <0.0005 | <0.0005 | <0.0005 | 2| <0.0005 | <0.0005 | <0.0005
AW (2R #E(TOC) D )| mg/L 4 1.9 1.7 1.8 4 33.6 19.4 255 4 6.0 1.2 3.8
pH fiEl 4 7.6 7.4 75| 4 8.1 7.8 80| 4 7.9 7.3 7.6
B kS 4 SRR [ 4 R | 4 B R
i) 3 4 4 12 6 10| 4 240 160 200 | 4 48 16 32
%) iy B 4 6.0 2.0 3.4 4 50 30 40| 4 2.5 1.0 1.9
X TrvIFELYROZONMED meg/L 4] 0.00014 | 0.00010 | 0.00013 | 4 [ 0.00155 | 0.00050 | 0.00092 | 4| 0.0106 | 0.00075 | 0.00533
w7 v kX o d B mg/l 4] <0.0001 | <0.0001 | <0.0001 | 4 [ <0.0001 | <0.0001 | <0.0001 | 4 | <0.0001 | <0.0001 | <0.0001
By v kO ZE O AE W me/L 4| <0.001 [ <0.001| <0.001]| 4 0.001 | <0.001 [ <0.001| 4 0.010 | <0.001 0.005
o v 7 v v = % o mg/L 2| <0.0001 | <0.0001 | <0.0001 | 2 [ <0.0001 | <0.0001 | <0.0001 | 2| <0.0001 | <0.0001 | <0.0001
E“ﬁ k v - >| mg/L 2| <0.006 | <0.006 | <0.006 | 2| <0.006 | <0.006| <0.006 | 2| <0.006| <0.006 | <0.006
#01,1,1- bV 7 vow = & | mg/L 2| <0.003 | <0.003 | <0.003| 2| <0.003| <0.003| <0.003| 2| <0.003| <0.003 | <0.003
E AFN—t-7F = —F /L (MTBE)| me/L 2| <0.0002 | <0.0002 | <0.0002 | 2 | <0.0002 | <0.0002 | <0.0002 | 2| <0.0002 | <0.0002 | <0.0002
é‘ A EGR I VBN AHE )| mg/L 4 5.6 4.5 4.9 4 132 92.0 109 4 44.5 3.6 21.9
LI- Y 7= F L v mgl 2| <0.001 | <0.001 | <0.001| 2 <0.001| <0.001| <0.001| 2| <0.001| <0.001| <0.001
BN 7] ] HE(MPN/100mL| 4 15000 9300 14000 | 4 9300 430 3200 [ 4 4300 €3.0 1100
Z|%E £ = i #| pS/cm 4 209 166 188 | 4 1970 1680 1770 | 4 3300 296 1870
% i L7} |l mg/L 4 9 2 5| 4 161 76 106 | 4 14 8 10
o | & 17 iz #| meg/L 4 8.1 7.3 7.8 4 6.6 6.3 6.4 4 11.6 9.9 10.9
FE WAk i I 3R 2K & (BOD)|  mg/L 4 2.6 1.0 1.9 4 18.9 7.4 129 4 3.7 <0.1 1.5
ﬂﬁ‘,fé s W e EE (260nm) 4 0.036 0.017 0.028 | 4 0.588 0.492 0.518 | 4 0.137 0.023 0.092
it i3 A % | mg/L 4 13 9 12 4 562 303 422 4 1440 30 766
7 v E = 7 K ® # mg/lL 4 2.54 0.11 0.96 | 4 0.38 0.09 0.23| 4 0.20 0.04 0.13
My iz fi& % F#| meg/L 4 0.7 0.3 0.5 4 32.0 21.1 253 4 2.6 0.4 1.3
£ %= #| meg/L 4 2.8 0.7 1.6 4 32.6 23.3 217 4 2.9 1.3 1.8
HlZ v & k "% O L & % mg/L 4] <0.002 | <0.002 | <0.002| 4 0.040 0.022 0.028 | 4 0.003 | <0.002 | <0.002
H bin i E 4 325 238 293 | 4 5680 5330 5500 | 4 1230 47 629




